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- P E O C E E P L N E S  
(9 :32  a.m.) 

CHAIRMAN OMAS: Good morning. Today, we 

continue hearings to receive the direct case of 

participants other than the Postal Service in Docket 

No. R 2 0 0 6 - 1  coricerning the Postal Service's request 

for rate and fee changes. 

Does myone have a procedural matter that 

they would like to discuss at this point? 

(No response. ) 

CHAIRMAN OlvIAS: There being none, three 

witnesses are scheduled to appear today. They are 

Witnesses Geddes, Panzar, and Sidak. There will be no 

cross-examination for either Geddes or Sidak. For the 

convenience of the witnesses and counsel, we will 

enter their testimony into evidence first. Mr. 

McKeever , 

MR. McKEEVER: Thank you, Mr. Chairman. 

John McKeever for United Parcel Service. I have with 

me two copies of a document designated "Direct 

Testimony of R. Richard Geddes on behalf of the United 

Parcel Service" and identified as UPS-T-3, which has 

been previously, of course, filed in this proceeding. 

There have been no revisions to that testimony, and I 

move that they be admitted into evidence. 

Heritage Reporting Corporation 
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CHAIRI4AN OMAS: Is there any objection? 

(No response. ) 

CHAIRMAN OMAS: Hearing none, Mr. McKeever, 

would you please provide the reporter with two copies 

of the corrected direct testimony of Richard Geddes. 

That testimony is received into evidence. However, as 

is our practice, it will not be transcribed. 

(The document referred to was 

previously marked for 

identification as Exhibit 

Nos. UPS-T-3 and was received 

in evidence.) 

CHAIRMAN OMAS: Mr. McKeever, have the 

answers to the designated written cross-examination 

been reviewed and corrected? 

MR. McKEEVER: Yes, they have, Mr. Chairman. 

Dr. Geddes did file a revised response to UPS-T-4. 

That is in the packet of designated cross, and so that 

material is ready to be admitted into evidence. 

Dr. Geddes, by the way, will be filing a 

certificate of authenticity within a day or so with 

respect to his direct testimony. I apologize for not 

mentioning that before. But the written cross- 

examination is in proper shape. 

CHAIRMAN OMAS: Thank you. With that, would 

Heritage Reporting Corporation 
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you please provide two copies of the corrected 

designated written cross-examination of Witness Geddes 

to the reporter. That material is received into 

evidence and is to be transcribed into the record. 

(The document referred to was 

previously marked for 

identification as Exhibit 

Nos. UPS-T-3 and was received 

in evidence.) 
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RESPONSES OF UNITED PARCEL SERVICE WITNESS GEDDES 
TO INTERROGATORiES OF UNITED STATES POSTAL SERVICE 

USPS/UPS-T3-1. Please refer to page 9 of your testimony, lines 12 - 17, as well as 
footnote 7. 

a. Please provide a citation for the quote from Docket No. R94-1 in footnote 7. 

b. Please provide specific examples in the past where the Postal Rate Commission has, 
invoking 39 U.S.C. §3622(b)(5), reduced a markup in order to help the Postal Service 
“maintain” market share. 

c. Please provide specific examples in the past where the Postal Rate Commission has, 
invoking 39 U.S.C. §3622(b)(5), redluced a markup in order to help the Postal Service 
“capture” market share. 

RESPONSE: 

a. Docket No. R94-1, Opinion and Recommended Decision, fi 51 16. 

b.-c. Referring to 39 U.S.C 5 3622(b)(4), in Docket No. R94-lIfi5116, the 

Commission stated, ”At present, the Postal Service handles in excess of 70 percent of 

the volume in the second-day delivery market and is the source of approximately 45 

percent of the revenue generated in that market. Tr. 7N3100. Yet, witness Foster 

notes that there are signs the Postal Service has had difficulty maintaining its share of 

volume and revenue. USPS-T-11-94; Tr. 7N3150. Its share by volume of the second- 

day package market has declined from 76 percent in 1990 to 72 percent in 1993. Tr. 

7N3100. This decline is a sign of potential market deterioration and supports a below 

systemwide average rate increase.” Additionally, in fi 5317 of its Docket No. R2000-1 

decision, the Commission stated, “It is also the Commission’s opinion that restraining 

coverage ... is appropriate under 5 3622(b)(5) to avoid the harm that higher rate levels 

may cause to the Postal Service’s position as a competitor in the market in which 

Priority Mail competes.” These statements indicate that the Commission has invoked 

0 

0 2 -  
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RESPONSES OF UNITED PARCEL SERVICE WITNESS GEDDES 
TO INTERROGATORIES OF UNITED STATES POSTAL SERVICE 

39 U.S.C §3622(b)(5) to lower markups to maintain the Postal Service’s volume and 

market share. 



0 RESPONSES OF UNITED PARCEL SERVICE WITNESS GEDDES 
TO INTERROGATORIES OF UNITED STATES POSTAL SERVICE 

USPS/UPS-T3-2. Please refer to footnote 9 on page 11 of your testimony, where you 
assert several reasons why it can be difficult for private sector operators to compete 
against the Postal Service. Please confirm that there may be countervailing reasons 
why it can be difficult for the Postal Service to compete against private sector operators. 
If not confirmed, please explain. 

RESPONSE: 

Confirmed. Like any firm, the Postal Service may find it difficult to face competition for a 

variety of reasons, including ineffkient operations or lack of use of cutting-edge 

technology, or many other business decisions. Regarding only legislated reasons for the 

Postal Service's difficulty in facing competition (such as the universal service 

requirement), then confirmed with the proviso that those costs to the Postal Service are 

a very small part of its annual budget. See 'Testimony before the President's 

Commission on the Postal Service," Robert H. Cohen, Director, Office of Rates, 

Analysis and Planning, Postal Rate Commission, February 20, 2003, pp. 1-2. 
0 

4 -  
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RESPONSES OF UNITED PARCEL SERVICE WITNESS GEDDES 
TO INTERROGATORIES OF UNITED STATES POSTAL SERVICE 

USPS/UPS-T3-3.  Please refer to Figure 1 in your testimony. 

a. Please confirm that one reason for the upward trend in First-class Mail's markup 
index since Docket No. R84-1 has been an increase in worksharing, which, ceteris 
paribus, causes the cost coverage to increase. If not confirmed, please explain. 

b. If confirmed, do you think it would be appropriate to first control for the increase in 
worksharing since Docket No. R84-1 before comparing the trend in First-class Mail's 
markup index with that of nonworkshared Priority Mail? If not confirmed, please explain. 

RESPONSE: 

a Confirmed that, as discussed by Postal Service witness OHara in his response 

to DFS 8 MSI-T31-1 (Tr. 17/5073-75), increased worksharing in a subclass will tend to 

lead to cost coverage increases if contribution per piece for the subclass is held 

constant. 

b. Such an analysis is worthwhile. Although I agree with the Commission that its 

markup index "remains the most useful tool available for measuring relative burdens 

over time" (Docket No R2001-1. fl2058), Dr. O'Hara views contribution per piece as a 

way to normalize cost coverage comparisons as worksharing increases. Response of 

Dr. O'Hara to DFS 8, MSI-T31-1 (Tr. 17/5073-75). A review of contribution per piece for 

First Class Letters and Priority Mail from Docket Nos. R84-1 to R2005-1, shown below, 

indicates that the contribution per piece for First Class Letters increased from 8.79$ to 

almost 21$ per piece -- approximately 138% -- from R84-1 to R2005-1, while the 

contribution per piece for Priority Mail has actually decreased. Thus, even on a 

contribution per piece basis, Pricrity Mail's contribution has declined, while the 

contribution for First Class Letters has increased substantially. The settlement in 

0 

Docket No R2005-1 alone resulted in a 20% decline in Priority Mail's contribution per 

0 -5- 
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RESPONSES OF UNITED PARCEL SERVICE WITNESS GEDDES 
TO INTERROGATORIES OF UNITED STATES POSTAL SERVICE 

piece - a 10% decline compared to Docket No R2000-1, the last litigated case -while 

that for First Class Letters increased by 33% since Docket No R20001. 

[AI P I  [CI 
Contribution to Ratio to Percent 

Institutional Cost Total Mall 8 Increase From Sources: 
Per Piece Services PrlorCase - Col. c 

111 R2005-1 
PI 
[31 

[4l R2001-1 
[51 
[el 

51 

First Class Letter 
Priority Mail 
Total Mail 8 Svcs 

First Class Letter 
Priority Mail 
Total Mail & Svcs 

First Class Letter 
Priority Mail 
Total Mail & S v w  

First Class Lener 
Priority Mail 
Total Mail 8 Svcs 

First Class Lener 
Priority Mail 
Total Mail & Svcs 

First Class Letter 
Priority Mail 
Total Mail 8 Svcs 

First Class Lener 
Priority Mail 
Total Mail & Svcs 

First Class Letter 
Priority Mail 
Total Mail 8 Svw 

First Class Letter 
Priority Mail 
Total Mail 8 Svcs 

First Class Letter 
Priority Mail 
Total Mail & S v w  

20.91 
157.25 
14.82 

18.44 
196.28 
13.80 

15.74 
174.62 
12.23 

14.67 
151.14 
11.10 

14.75 
178.32 

11.04 

14.74 
178.68 

11.03 

12.37 
165.22 

9.59 

12.12 
165.24 

9.31 

10.07 
137.61 

7.67 

8.79 
162.39 

NA 

1.41 
10.61 
1 .oo 

1.34 
14.23 
1 .oo 

1.29 
14.28 
1 .oo 

1.32 
13.62 

1 .oo 

1.34 
16.15 

1 .oo 

1 .M 
16.20 

1 .oo 

1.29 
17.23 

1 .oo 

1.30 
17.75 
1 .oo 

1.31 
17.94 
1 .oo 

13.4% 
-19.9% 

7.4% 

17.2% 
12.4% 
12.8% 

7.3% 
15.5% 
10.1% 

-0.5% 
-15.2% 

0.5% 

0.1% 
-0.2% 
0.10h 

19.1% 
8.1% 

15.0% 

2.0% 
0.0% 
3.0% 

20.4% 
20.1% 
21.4% 

14.6% 
-15.3% 

AVA3 
AUA3 
AYA3 

A4/A6 
AUA6 
AWA6 

A7/A9 
A#A9 
A9/A9 

A10/A12 
AII /A12 
AIWA12 

A lYA15 
A144A15 
A lVA15 

AIWA18 
A17/A18 
AlWAlB 

A19/A21 
A20/A21 
AZVA21 

A22LA24 
A2YA24 
A24/A24 

A25/A27 
A2WA27 
A27/A27 

AI/A4-I 
AUA.5-1 
AYA6-I 

A4/A7-1 
A5'Aa-l 
AWA9-1 

A 7/A 10-1 
AWAll-1 
A9/A 12-1 

AlWA13-1 
All /A14-1 
A12/A15-1 

AlYA16-1 
A14/A17-I 
A15/Al&I 

AIWA19-1 
A 1 1  7/A20- 
A18/A21-1 

A 1  19/A22- 
A20/A23-1 
A21/A24-1 

A22LA25-1 
A23LA26-1 
A24/A27- 1 

A25/A28-1 
A2WA29-1 

Source Col. A: COmmiSSiOn's OplniOn and Recommended Decision. Appendix G, Schedule 1 



USPS/UPS-T34. Please refer to Table 1 in your testimony. 

a. Please confirm that Priority Mail volume declined by 30.5 percent from FY 2000 to FY 
2004. 

b. Please confirm that in addition to increasing by approximately 5 percent in FY 2005, 
Priority Mail volume is on track to increase by about the same amount in FY 2006. 

c. Do you believe that two consecutite years of approximately 5 percent volume growth 
-during a time when real GDP has boen growing by 3 to 4 percent - constitutes 
“recovery” from the 30.5 percent volume decline, from 2000 to 2004? In answering, 
please refer to your assertion at page 17, lines 8 - 10 that “[tlhese recent volume 
improvements indicate that whatever Priority Mail’s perceived service performance may 
be, it has a sufficiently high value tbdt its volume can recover from a series of 
unfavorable events and rate increases.” When you say “can recover,” do you mean that 
Priority Mail volume has the potential to recover (which has not yet been manifested)? 

d. While Priority Mail volume was declining by 30.5 percent, by how much did UPS 
volume in the total (ground and air, combined) 2- and 3-day package and document 
delivery market change from 2000 to 2004? Please provide your response both in 0 absolute and percentage terms. 

RESPONSE: 

a. 

September 11 and the anthrax attacks. 

b. 

quarters of FY 2006, the result is 5 percent 

c. 

growth constitutes a recovery from a 30.5 percent decline. Whether or not 5 percent 

constitutes recovery from a volume decline does not depend on the magnitude of the 

decline over the previous five years (an arbitrarily chosen period), but instead on the 

overall historical average growth rate. The average of the annual growth rates in 

Confirmed. I note that the period chosen starts with the year immediately prior to 

Confirmed. If one takes the average of the growth rates for the first three 

This question has two parts. The first part asks if I believe that 5 percent volume 

- 2 -  
0 
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Priority Mail volume from 1971 (the year postal reorganization was implemented) 

through 2000 was about 6.7 percent. USPS-LR-L-74, Priority Mail Volume History, p. 3 

of 9. A 5 percent annual growth rate is thus three quarters of the way to the historical 

average annual growth rate. If one includes the years 2001 through 2005 (since those 

are valid observations on volume history), the historical average annual growth rate falls 

to about 4.8 percent. Therefore, a 5 percent increase is greater than the historical 

annual growth rate, which I believa constitutes recovery. Regarding the second part of 

the question, I mean that Priority Mail volumes have recovered from the unfavorable 

events, which also indicates that they can do so in the future. 

d. 

0 have it. 

I have not been asked to examine UPS'S volume data, and therefore I do not 

3 -  
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TO INTERROGATORIES OF UNITED STATES POSTAL SERVICE 

USPS/UPS-T3-5. Please refer to your testimony at page 17, lines 8 - 10, specifically the 
reference to volume recovering from “a series of unfavorable events and rate 
increases.” Do you believe that Priority Mail’s volume decline since 2000 is only due to 
unfavorable events and rate increases, and not possibly also to some more permanent 
and systemic factors that have potentially reduced the product‘s long-term 
competitiveness? Please explain fully. 

RESPONSE: 

Please see my response to USPS/UPS-T3-4. Because Priority Mail volume growth 

rates are approaching the historiczl growth rate after seven quarters, I do not believe 

that permanent or systemic fac!ors have reduced the long-term competitiveness of 

Priority Mail. 

- 9 -  
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TO INTERROGATORIES OF UNITED STATES POSTAL SERVICE 

USPSIUPS-T3-6. Please refer to page 21 of your testimony, line 4. Why do you 
recommend the very same markup for Priority Mail, 63 percent, as proposed by the 
Postal Service in USPS-T-31, considering that you use a different cost basis for that 
markup (based on the Postal Rate Commission's cost attribution methodology) than the 
Postal Service? Please explain fully. 

RESPONSE: 

In my view, the best recommended cost coverage is not dependent upon the cost basis 

utilized, as this question implies. Instead, cost coverages should be determined based 

on the eight non-cost-based ratemaking factors as discussed on pages 4 through 7 of 

my testimony. The reasons for my recommended cost coverage of 163 percent for 

Priority Mail are discussed on pages 12 through 21 of my testimony. Note that my 

recommendation of a cost coverage equal to that proposed by the Postal Service is only 

a first step toward a coverage above the systemwide average. 0 

- 1 0 -  
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CHAIRMAN OMAS: Is there any additional 

written cross-examination for Witness Geddes? 

(No response. ) 

CHAIRMAN OMAS: That brings us to Mr. Baker. 

Would you please assist us as well to receive a 

corrected version of Mr. Sidak's testimony into 

evidence? 

MR. B2UCER: Thank you, Mr. Chairman. 

William Baker cn behalf of the Newspaper Association 

of America. I have with me two copies of a document 

labeled the "Direct Testimony of J. Gregory Sidak on 

behalf of the Newspaper Association of America," 

designated NAA-T-1, as filed on September 6, 2006. 

There have been no changes to that testimony since 

then, and Mr. Sidak has filed a declaration with the 

Commission to the accuracy of the testimony, as well 

as, by the way, as to the designated written cross- 

examination. 

So, with that, Mr. Chairman, I move the 

admission of this testimony into evidence. 

CHAIRMAN OMAS: Is there any objection? 

(No response. ) 

CHAIRMAN OMAS: Hearing none, Mr. Baker, 

would you please provide the reporter with two copies 

of the corrected direct testimony of Gregory Sidak? 

Heritage Reporting Corporation 
(202) 628-4888 
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That testimony is received into evidence. However, as 

is our practice, it will not be transcribed. 

(The document referred to was 

previously marked for 

identification as Exhibit 

Nos. NAA-T-1 and was received 

in evidence.) 

CHAIRMU? OMAS: Mr. Baker, have the answers 

to the designated written cross-examination been 

reviewed and corrected? 

MR. BAKER: Yes, Mr. Chairman. They have 

been reviewed, and no corrections were needed. 

CHAIRMAN OMAS: On that, would you please 

provide two copies of the corrected designated written 

cross-examination of Witness Sidak to the reporter? 

That material is received into evidence and is to be 

transcribed into the record. 

(The document referred to was 

previously marked for 

identification as Exhibit 

Nos. NAA-T-1 and was received 

in evidence.) 

Is there any additional written cross- 

examination for Witness Sidak? 

(No response.) 

Heritage Reporting Corporation 
(202) 628-4888 
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NEWSPAPER ASSOCIATION OF AMERICA 
WITNESS J. GREGORY SIDAK 

ANSWERS TO INTERROGATORIES OF 
ADVO, INC. (ADVOINAA-T1-1-7) 

ADVOINAA-TI-1. On pages 9-10 (lines 14 ff) you state: 

My understanding of postal ratemaking practice as it has evolved over the 
years is that the Cornrnissicn has recognized that economic efficiency is served. 
by accurate pricing signals for each identified worksharing activity (for example. 
presortation and dropshippicg). This recognition enables the work to be done by 
the lowest-cost provider, .&ether that is the Postal service, the mailer, or a third- 
party service vendor to the mailer. To promote such efficiency, the Commission 
has applied ECP in setting discounts for worksharing such as presortation and 
destination entry at, ideally, 100 percent of the estimated avoided cost of the 
activity whose performance the Postal Service avoids. This correct application of 
ECP advances economic Efkiency by providing accurate pricing signals to 
mailers and the Postal Service. (footnote omitted) 

Dropship discounts have been offered in Standard Mail since R90-1 and the cost 
avoidances supporting those discounts have not been challenged in over ten years. 
Given this information and your cited comments, do you believe dropshipping discounts 
should reflect 100 percent of the costs avoided by the Postal Service? Please explain 
your response. 

Were one to base dropshipping discounts on efficient component pricing. then 

yes, those discounts should be set tc passthrough 100 percent of accurately measured 

costs avoided 
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ANSWERS TO INTERROGATORIES OF 
ADVO , IN C. (ADVOINAA-T 1 - 1 -7) 

ADVOINAA-TI-2. On page 10 (lines 3-6), you state: "Under ECP, accurately 
measured costs avoided would be passed through at a rate of 100 percent to each 
particular category of mail responsible for those costs avoided. In this manner, each 
category of mail would be charged only its incremental costs, and the USPS would 
achieve break-even pricing." 

(a) Please provide your definition of incremental costs of a particular category 
of mail. 

Please provide your definition of "category of mail." In that definition, 
please explain how the term "category" relates to postal subclasses. 

Please provide your understanding of how "break-even" pricing applies to 
development of rates within a particular subclass. 

(b) 

(c) 

Answer: 

(a) A review of this concept. the definition for average incremental cost. and the 

evaluation of incremental cost relative to marginal cost can be found in my article with 

Professor William J. Baumol.' Specifically, average incremental cost for the entire 

service x IS defined as follows:'. 

AlCx = [TC(x.y.r. . . .) - TC(0.y.z. . . .)]/X 

In words, this equation states that the average incremental cost to the 

multiproduct firm for service x is the total cost to the multiproduct firm including the 

production of x less the total cost tc the multiproduct firm without the production of x .  

William J. Baumol & J. Gregory Sidak. The Pricing of Inputs Sold to Competitors, 

Id. at 177. 

1 

11 YALE J. ON REG. 171, 176-77 (1994). 

2 

2 
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This term is then divided by x tc transform total incremental cost into average 

incremental cost. 

(b) In the particular passage cited, I was using "category of mail" to refer to a 

type of mail within a subclass, such as ECR saturation flats mail. I should note, 

however, that the particular definiticn of "category of mail" does not change the basic 

economic point made in that pasrage-namely. that accurately measured worksharing 

discounts passed through at 100 pscent are consistent with ECP. 

(c) Break-even pricing is a zoncept that applies to the production of the firm (in 

this case the Postal Service) acrcm all products that it produces. For that reason, 

break-even pricing does not directly affect the development of any specific postal rate. 

Rather. break-even pricing serves as a global constraint that jointly affects the regulated 

firm. Put differently, firms earn profit:, whereas products do not. 

0 

3 
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ANSWERS TO INTERROGATORIES OF 
ADVO, INC. (ADVOINAA-T1-1-7) 

ADVOINAA-TI-3. On page 10 (lirte 12-13), you use the terms "opportunity cost," 
"access charge," and "delivery charge." Please explain how these terms apply to the 
development of rates for a particular niail category within a postal subclass. 

Answer: 

Please see pages 8 and 9 of my testimony for a discussion of opportunity cost 

and its application to postal ratemaking: 

"The Private Express Statutes give the Postal Service a legal 
monopoly over the delivery of the great majority of items in 
the postal system. I t ?  ECP terms. the Postal Service is the 
sole supplier of the input of "delivery" of a piece of mail. 
However, the Poslal Sewice faces competition in the 
processing (presortation, barcoding) and transportation 
(destination entry) parts of the process. So when the Postal 
Service "allows" access to its delivery network for such 
workshared mail, the price of that access (the postage paid) 
should recover the costs of the delivery network as well as 
the opportunity cost ot the Postal Service's not providing the 
workshared activity. In postal ratemaking, this opportunity 
cost is what the Postal Service would have earned towards 
the recovery of overhead had i t  provided the workshared 
service (and thus the full retail service) instead of the mailer." 

The access charge is the price paid by competitors to access an asset held by 

the vertically integrated monopolist. Therefore, the access charge is the result of the 

application of a pricing rule to that monopolist 

As it applies to worksharing. the delivery charge would equal the postal rate for a 

mail subclass that allowed the Postal Service to recover 100 percent of its attributable 

costs The delivery charge plus a portion of the Postal Service's overhead recovered 

under a particular rate for a particular subclass of mail would equal the access charge. 

Put differently, an access charge can be decomposed into two separate pieces, the 

0 
4 
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component that allow the postal sewice to recover 100 percent of costs attributed and 

the component that is applied toward the collection of overhead charges 

5 



NEWSPAPER ASSOCIATION OF AMERICA 
WITNESS J. GREGORY SlDAK 

ANSWERS 10 INTERROGATORIES OF 
ADVO, INC. (ADVO/NAA-Tl-l-7) 

ADVOINAA-T1-4. On pages 11-12 (lines 9ff). you explain why you believe Efficient 
Component Pricing is generally not applicable to shape-based rates. You state (lines 
22ff): "Although the choice of the shape of mail piece might be considered 
"optional" in some sense, it is not a choice between the mailer or the Postal 
Service performing a particular function in the type of scenario to which ECP is 
intended to apply." 

Please explain what you mean when you say "the choice of the shape of 
mail piece might be ccnsidered 'optional' in some sense. 

For a postal subclass serving a specific mail demandlmarket, please 
explain how you would develop subclass rates to signal to that market the 
postal costs of mahig a letter shape vs. a flat shape vs. a parcel shape. 

Please explain how your approach in (b)  above would ensure that mailers 
would be able to mimmize the total (postal and mailer) mailing cost 
consistent with their own demand requirements. 

Please explain how your approach in (b) above would ensure that 
regardless of the market's selected mix of shapes, the contribution to 
USPS institutional cost from that market would not substantively change. 

Answer 

(a) Mailers may have a choice of the shape of the mail they ultimately decide to 

send For example, for each partlcular type of advertisement sent there may not be one 

and only one shape of mail under which it would be profitable to mail that 

advertisement 

(b) Unless shape were considered a form of worksharing, which I am not aware 

to be the case, ECP does not apply to shape-based rates. The ratemaker would 

therefore have to apply other economic and regulatory criteria it is required to apply. As 

an economist. I would presume k a t  cost differences due to differences in shape would 

6 
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affect differences in rates, as marginal cost is a key factor in determining the price of a 

good produced by the firm. 

(c) By basing price differences on both cost differences and, potentially, on 

differences in value between the shapes, the price differences would reasonably allow 

mailers to select the cost minimizing alternative among the set of shape-based 

substitutes that offer similar value. Put differently, holding the value of the mail shape 

constant, price difference would bo detarmined largely by the cost difference. 

Alternatively, holding the shape-based cost differential the same, price differences 

would be based largely on the difference in value of the mail. 

(d) This would be acconplished by setting rates so that the rates of the subclass 

at least met the desired revenue for that subclass. 
0 
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ANSWERS TO INTERROGATORIES OF 
ADVO, INC. (ADVOINM-TI-1-7) 

ADVOINAA-Tl-5. Please refer to the Direct Testimony of John C. Panzar (PB-T-1). 
On page 45, lines 9 ff: 

More so than in most markets, mailers have the opportunity to 
"design their own service." That is, they can choose many of the intrinsic 
properties of their mailing: its size (one ounce or several); its shape (letter 
or flat), the time of day at which it enters the mail stream, the location at 
which it enters the Postal Service network -- and many other of their mail's 
characteristics. Two aspects of this flexibility are important for rate-making 
purposes. First. and most importantly, differences in these characteristics 
may have important impacts on the costs that the mail imposes on the 
Postal Service. Second, while mailers may have preferences over these 
characteristics (e.g.. a flat may better serve their purposes than a letter), 
the relative value of shifting from one alternative to another may be 
dramatically different than the difference in Postal Service costs. Just as 
with traditional worksharing, an effective way to induce changes in mailer 
behavior is through rate differences that reflect cost differences. 

The basic economic argument in support of cost-based rate 
differentials is the same as that for avoided cost worksharing discounts. 
Mailers can act to minimize end-to-end costs only if the difference in rates 
for mail with differing characteristics reflects differences in the costs 
incurred by the Postal Service. . . 

Do you agree with DI. Panzar? If not. please explain fully why not 

The current basis for rate differences among ECR Basic, High-Density 
and Saturation mail (b] shape) are their dropship-neutralized mail 
processing and dehery cost differences. Please explain fully whether you 
believe these differences are strictly worksharing-related and therefore 
ECP applies to them. 

If you do not believe the mail categories in (b) above to be strictly 
worksharing-related, please explain how you believe the rate differentials 
among basic, high-density, and saturation mail should be developed in 
order to ensure economic efficiency by providing accurate pricing signals 
to mailers and the Postal Service. 
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Answer: 

(a) I agree with the first paragraph in the quoted statement so long as one is 

considering products with roughly the same economic value to consumers. That is, the 

main factor that differentiates the products is the cost of producing the product by the 

firm. In general, however, I stress that ECP was developed to price accurately the 

access to an input of the verticallj integrated monopolist. a concept that seems to me 

unrelated to differences in mail shape. 

(b) Yes. My understanding is that destination entry and presortation are 

worksharing activities that may be performed not only by the vertically-integrated 

monopolist (the Postal Service) but also by private firms (mailers). 0 
(c) Not applicable 

9 
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ADVOINAA-TI-6. On pages 12 and beyond, you discuss several ways to consider 
and quantify the proposed DAL surcharge. On page 17 (lines 11-13, you state that 
DALs offer benefits to the mailer not available to high-density mailers that are ineligible 
to use DALs. In response to VPIVSPS-2, the USPS states that for the four-month period 
of March-June 2006, the following were accompanied by DALs: 7.7% of ECR high- 
density non-letter DDU pieces, 2.2% of ECR high-density non-letter DSCF pieces, and 
2.6% of ECR high density non-letter pieces. This means roughly 4.85% of all ECR high- 
density non-letters are accompanied by DALs. 

(a) Given that ECR high-density flats also use DALs, do you believe there 
should be also be a 0A.L surcharge for high-density flat DALs? Please 
explain. 

If reliable DAL cost information were available, would you quantify the DAL 
surcharge on the basis of cost alone? If so and there is a difference in cost 
between a saturation flat DAL and a high-density flat DAL, should that cost 
difference be recognized in the two DAL surcharges? Please explain. 

(b) 

Answer 

(a) My understanding is that postal regulations do not permit high-density flats 

to use DALs However, to the extent :hat postal regulations might allow them and the 

considerations that led the Postal Service to propose a surcharge for saturation DALs 

would apply as well, then yes 

(b) Please see pages 15-18 of my testimony Regarding cost differences 

translating into rate differences, please see my responses to ADVO/NAA-Tl-5(a) and 

ADVO/NAA-T14(b) Specifically. to the extent that high-density DALs were allowable, 

and to the extent that the Postal Service can accurately estimate the separate costs for 

those DALs and for DALs on ECR saturation flats, then as an economist I would 

recommend that accurately measured cost differences between those DALs should 

affect the price differences between them. 

0 10 
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ADVOINAA-TI-7. On pages 15-16 (lines 15ff). you discuss the possibility of using 
value-based pricing. On page 17 (lines 14-15) you state that: " . . . another way to view 
the proposed DAL surcharge is to characterize it as a recapture of revenue 
displacement." NAA witness Ingraham. page 2, lines 14-17), notes that E.CR high- 
density and ECR saturation flat rate categories are competitive with each other. 
In other words, to achieve Totai Market Coverage (TMC). one may distribute 
one's entire TMC product via the USPS saturation category or one may distribute 
some of one's TMC product via the USPS high-density category and the 
remainder via newspaper pribate delivery. USPS rates for these two categories 
can have a large impact on the choice. 

(c) Wlth that in mind, do yo3 believe the USPS should price any of the 
(substitutable) services offered in the TMC market on the basis of 
"revenue displacemmt?" 

With that in mind. do you believe that the USPS should price a portion Of 
one (substitutable) TMC service on the basis of "revenue displacement" 
but not price the other (substitutable) TMC service in the same way? 

Please confirm that if rates for the various (substitutable) TMC services 
within the ECR subclass were based on Ramsey pricing or developed to 
maximize institutional cost contribution, then both value of service and 
revenue displacement would be implicitly reflected in the results. 

(d) 

(e) 

Answer: 

(a) I believe the Postal Service should and does price the services offered in the 

total market coverage area in a manner consistent with the concept of the avoidance of 

"revenue displacemenr as it was used in my testimony. For example, were the Postal 

Service to, hypothetically, eliminEte ECR high density as a mail offering. then current 

ECR high density mailers would have only the ability to use ECR basic or ECR 

saturation mail. Because certain mailers choose ECR high density at its current rate and 

because not all mailers would sut-stitute to another form of mail were ECR high density 

11 
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riot available, the Postal Service would, presumably, be forgoing the recovery of a 

certain amount of institutional costs by the non-existence of ECR high density 

(b) This section of my testimony discussed the pricing of an optional feature that 

has value to the mailer, but which the Postal Service no longer finds consistent with 

long-term efficiency. To the extent that optional feature has any revenue displacement 

associated with it, another way to characterize value pricing for that feature would be 

the recapture of revenues displxed-that is, a recouping of revenues that would be 

gained were this currently unpriced and optional feature eliminated. 

(c) To answer this question I assume that "value of service and revenue 

displacement" is meant to refer to value of service maximization and the minimization of 

revenue displacement. That said, this assertion is likely incorrect for two reasons. First, 

"revenue displacement" between two types of mail would be determined by the cross- 

price elasticity of substitution. The value of the service for a particular type of mail 

would be determined by several demand factors that are unrelated to the cross-price 

elasticity of demand (one of those factors would be the own-price elasticity of demand). 

Second, Ramsey pricing and v a l x  of service maximization are generally at odds. The 

maximization of the value of sewice is achieved by perfectly competitive pricing, which 

maximizes consumer surplus. 

12 
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WITNESS J. GREGORY SlDAK 

TO INTERROGATORY OF 
THE GREETING CARD ASSOCIATION (GCNNAA-T1-1) 

GCNNAA-TI-1 

Please consider the following two propositions, which might be asserted of some 
particular mailer activity: 

(1) The activity is the lowest-cost option for the mailer. 

(2) The activity is not one which could be performed by the Postal Service. 

Please refer to page 8. line 1, through page 11, line 8, orf your prefiled testimony. 
Under the view of efficient component pricing set out in those pages, would you include 
as 'worksharing' activities, potentially subject to a worksharing discount which would 
comport with efficient component pricing - 

(a) An activity of which (1) is !rue? 

(b) An activity of which (2) is true? 

(c) An activity of which both (I) and (2) are true? 

Please explain fully the reasons for your answers. 

Answer: 

To answer these questions I begin by noting that ECP was developed as a 

method to determine an efficient price for an input owned by the vertically-integrated 

monopolist. ECP is, therefore, not applicable for determining price differences that fall 

outside of this realm. That said, if a cost-saving action can be undertaken by both the 

Postal Service and by the mailer, then that action can be characterized as the mailer 

competing with the Postal Service for the provision of that cost-saving service. I 

therefore answer the sub-parts of this question as follows: 

(a) Presuming that.this option can be characterized as competition with the 

Postal Service for the provision of the activity in question, then yes 

-- 
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TO iNTERROGATORY OF 
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(b) No. If the vertically-integrated monopolist cannot provide the service in 

question, it cannot charge a different rate to itself than what it could, 

hypothetically, charge to the competing mailer. Hence, ECP would not apply 

to this activity. 

(c) No. See !he explanation to part (b). 

2 
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CHAIRMAN OMAS: There being none, that 

brings us to Mr. Scanlon with Pitney Bowes. Would you 

please call your wi-tness? 

chair. 

I see he is already in the 

Mr. Panzar, would you please stand up? 

Whereupm , 

JOHN C .  PANZAR, Ph.D. 

having been duly sworn, was called as a 

witness and was examined and testified as follows: 

C H A I W m  OMAS: Would you please be seated? 

Mr. Scanlon, you may proceed. 

DIRECT EXAMINATION 

BY MR. SCTLNLON: 

Q Dr. Panzar, you have before you two copies 

of a document entitled "Direct Testimony of Dr. John 

C. Panzar on behalf of Pitney Bowes, Inc.," designated 

as Revised PBT-1, Sated October 31, 2006. 

A Yes. 

Q Was this testimony prepared by you or under 

your direction? 

A Yes. 

Q And if you were to give your testimony 

orally today, would it be the same? 

A Yes, it would. 

Q Are there any library references associated 

Heritage Reporting Corporation 
(202) 628-4888 
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with your testimony? 

A No. 

MR. SCANLON: Mr. Chairman, at this time, I 

will provide two copies of the testimony to the 

reporter and ask that they be admitted into evidence 

as the testimony of Dr. John C. Panzar. 

CHAIRIflAN OMAS: Is there any objection? 

(No response. ) 

CHAIRMAN OMAS: Hearing none, Counsel, would 

you please prcvide the reporter with two copies of the 

corrected direct testimony of John C. Panzar? That 

testimony is receFved into evidence. However, as is 

our practice, it will not be transcribed. 

(The document referred to was 

previously marked for 

identification as Exhibit 

Nos. PB-T-1 and was received 

in evidence. ) 

/ /  

/ /  

/ /  
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CHAIF" OMAS: Dr. Panzar, have you had an 

opportunity to examine the packet of designated 

written cross-examination that was made available to 

you in the hearing room this morning? 

THE WITNESS: Yes, I have. 

CHAIRMAN OMAS: If those questions were 

posed to you todzy orally, would your answers be the 

same as those yo-a previously provided to us? 

THE WITKESS: Yes, they would. 

CHAIRMAN OMAS: Are there any additions or 

corrections that you would like to make to those 

answers? 

THE WITNESS: NO. 

CHAIRMAX OMAS: Counsel, would you please 

provide two copies of the corrected designated written 

cross-examination of Witness Panzar to the reporter? 

That material is received into evidence and is to be 

transcribed into the record. 

(The document referred to was 

previously marked for 

identification as Exhibit 

Nos. PB-T-1 and was received 

in evidence. ) 

/ /  

/ /  

Heritage Reporting Corporation 
(202) 628-4888 
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0 ABA-NAPMPB-T1-1 In your testimony (PB-T-I), you include a discussion of the application 

of Efficient Component Pricing Rule (ECPR) to postal ratemaking. At page 18, you affirm the 

familiar efficiency properties of the ECPR: 

Fortunately, the efficient “make or buy” negotiations described above can be 
decentralized using ECPR-based worksharing discounts set equal to the per unit 
avoided costs of the Postal Service. 

Under the ECPR, is the correct measure of avoided costs the full cost difference (due to both 

worksharing and non-worksharing factors) rather than the cost avoidance due exclusively due to 

worksharing factors? Please explain. 

RESPONSE 

As I explain in my testimony on pages 45-47, the principles supporting ECPR apply not only to 

cost avoidances but to cost difference? as well. As I show, if there are cost differences that are 

not reflected in rate differences, a “rate rebalancing” that aligns Postal service rates with Postal 0 
Service volume variable costs can induce eflicient changes in mailer bebaviour. These changes 

both benefic the mailer and increase the institutional cost coverage of the Postal Service. 

2 



0 ABA-NAPMIPB-T 1-2 At pages 35-39 of your testimony (PB-T-I), you describe some 

issues related to the calculation of cost avoidance due to the heterogeneity of workshared mail. 

At the end of this section, you state that: 

From this perspective, the current Postal Service proposal to de-link single piece 
and workshared First-class letters should be viewed as a means of decreasing the 
heterogeneity discussed above. 

Please explain further how the de-linking proposal would decrease the heterogeneity of First- 

Class Mail, and what effect that would have on efficient pricing. 

RES PONS E 

Workshared mail appears to be more homogeneous than Single-Piece FirstClass Mail. 

Workshared mail must be barcoded. is largely machinable and is entered trayed and faced with 

printed addresses. Single-Piece First-class Mail is far more vaned with respect to these 

characteristics. Thus, workshared mail is more homogeneous than-the~mixture ofSiRgle-Piece 

and all workshared mail. 1 understand that over the years there have been numerous discussions 

concerning the proper benchmark for workshared mail. With delinking, this argument no longer 

is necessary and the discussions pertaining to cost diuerences, cost avoidances, and benchmarks 

would have less consequence for Single-Piece Mail. This would certainly facilitate more 

efficient pricing in workshared mail. 

0 

3 
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0 GCNPB-TI-1 Please consider the following two propositions, which might be asserted 

of some particular mailer activity 

1. 

2. 

The activity is the lowest-cost option for the mailer. 

The activity is not one which could be performed by the Postal Service. 

Please refer to page 7, lines 506 of your pre-filed testimony. Would the definition proposed 

there include as “worksharing” - 

a. 

b. 

c. 

An activity of which ( I )  was true? 

An activity of which (2) was true? 

An activity of which both ( I )  and (2) are true? 

Please explain fully the reasons f r r  your answers. 

RESPONSE 

a. As stated on page 7 of my testimony, 1 set out a broad definition of worksharing 

as follows, “worksharing refers to any private sector activiry which reduces the 

cos/s of the Postal Service.” Under this definition, the focus is on whether the 

activity reduces the costs of the Postal Service regardless of whether the activity 

is the lowest-cost option for the mailer or whether the activity is one which could 

be performed by the Postal Service. 

b. Please see (a) above. 

c. Please see (a) above. 

2 
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GCNPB-TI-2 Please refer to page 1 1 ,  lines 13-15 and 17-19, of your pre-filed testimony. 

Please supply all documents in your possession presenting, disputing, or otherwise reflecting the 

Postal Service arguments reported in the two cited passages of your testimony. 

RESPONSE 

I do not have any specific documents presenting, disputing, or otherwise reflecting the Postal 

Service arguments characterized in my testimony, nor did 1 rely on any such documents in 

developing my testimony. These passages reflect my understanding of the Postal Service's 

position on these issues. 

3 
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GCNPB-TI-3 Please refer to pages 12- 13 of your pre-filed testimony. 

Please provide any data or estimates in your possession concerning the number of households in 

the United States which possess a postage meter. 

RESPONSE 

I do not have any data or estimates concerning the number of households in the United States 

which possess a postage meter, nor did 1 rely on any such data or estimates in developing my 

testimony. 

4 
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GCNPB-TI-4 Please refer to page 12, lines 12-16, of your pre-filed testimony. 

Is it your opinion that the long lines at retail windows referred to in this passage of your 

testimony reflect only the purchase of stamps? Please provide the reasons for your answer. 

RESPONSE 

No. Obviously, the Postal Service provides additional services at retail windows. 

5 
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USPSIPB-TI-I On page 15 of your rebuttal testimony (USPS-RT-13) on behalfof the 

Postal Service in Docket No. R97-1, you testified (Tr. 34/18457) as follows: 

There may be good reasons to depart from this Efficient Discount Policy when 
setting rates. For example, as Witness Bernstein points out, Ramsey optimal 
prices may involve different discounts (footnote). 

Footnote: In other words, efficient “discounts” do not necessarily yield efficient 
“rates.” Logically, this is not surprising, as the scope of the inquiry involved in 
exploring efficient discounts does not address the broader issue of the efficiency 
of the base rate to which the discount is applied. 

Do you still agree with this porticn of your previous testimony? If not, why not? 

RESPONSE 

Yes 

2 
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USPSIPB-TI-2 During oral cross examination on your rebuttal testimony in Docket No. 0 
R97-I (Tr. 34/18465-66), you defined “zfficient discount policy” as “the situation where the 

discount between a full-service sub-class of mail and one for which work sharing provided is 

equal to the per unit postal cost saved,” and when asked if you support and recommend 

utilization of that policy, you replied: 

A 
efficiency -- that is, ensuring that mailers engage in work sharing only when they 
are at leas1 as efficient as the Postal Service at the margin in providing that work. 

So, in that sense, I recommend it, but there may be demand side reasons or 
reasons in accordance with the Postal Statute for deviating from that efficient 
discount policy. 

To further elaborate, I y e s s ,  if I could - you might want to rename it the cost- 
efficient discount policy, becsiise that’s what the term ”efficiency” should refer to. 

As I explained in the testimony, it’s the starting p i n t  for ensuring cost 

Do you still agree with this portion ofyour previous testimony? Ifnot, why not? 

0 K E s I’ON s E 

Yes. 

3 
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USPSIPB-TI-3 During oral cross examination on your rebuttal testimony in Docket NO. 

R97-1 (Tr. 34/18481), you were asked ifthere is a tension between the “efficient discount policy 

rate” and the “efficient rate.” You responded that: 

A. There’s a pricing tension between demand-side considerations, value of 
service, elasticity of demand, and cost efficiency considerations. There’s 
certainly a tension there, anytiae the rate is not consistent with the efficient 
discount policy. 

The following exchange then occumed (Tr. 34/18482-84): 

Q And in  terms of pricing and determining prices, would you agree that it is 
necessary to examine both tlie efficient rate as well as the efficient discount policy 
rate before making a final judgment? 
A 1 would say that it would be desirable to examine both in the following sense. 

to do that, let me use the t m n  Ramsey rate that comes from maximizing some 
well-understood total surpios function. 

demand side that I have been discussing, so if I were charged with the task of 
maximizing total surplus, I would want to know the Ramsey rate and that rate 
would reflect -- in some cases it will deparf from the efficient discount rate, but 
that rate will reflect the right trade-off between the cost considerations and 
dcmand considerations. 

be useful information, but their statutory responsibility isn’t as simple as 
maximizing total surplus. 

They may be willing to trade off demand side considerations against cost side 
efficiencies as well, and I would think they would want to know both numbers. 

If they were just interested in Ramsey-like total surplus calculations they 
wouldn’t have to pay any great attention to the efficient discount policy because 
the Ramsey calculation has made that trade-off automatically. 

So 1 guess that’s saying yes, I would like -- if 1 were in the position of setting 
the rates I would like to see both numbers. 
Q And you wouldn‘t simply by rote choose the efficient discount policy rate 
over the efficient or Ramsey rate? 
A No. 

The ”efficient” rate -- I would like to put the term in verbal quotes -- in order 

That rate takes into accciunt this trade-off between the supply side and the 

But that is only -- now for the Commission‘s purposes 1 would think that would 

Do you still agree with these portions of your previous testimony? If not, why not? 

RESPONSE 

Yes 

4 
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' USPS/PB-T1-4 Would you agree that application of ECPR will lead to no improvement in 

cost efficiency if, relative to the status quo, it leads to no change in mailer behavior? If not, 

please identify the change in cost efficiency in the following scenario. Assume that a particular 

activity can be performed by the Postal Service at a unit cost of IO cents, and further assume that 

there are two sets of mailers for whom it is feasible to conduct this activity themselves. The first 

set constitutes 60 percent of mailers, and for those mailers it costs 6 cents to conduct the activity. 

The second set constitutes 40 percent of mailers, and for them it costs 12 cents to conduct the 

activity. The current status quo discount is 7 cents, and therefore 60 percent of the mailers 

engage in the worksharing activity. Application of ECPR would increase the discount to 10 

cents. Please confirm that increasing the discount from 7 cents to IO cents under this scenario 

would not lead to any change in mailer behavior, or in the cost efficiency of the postal system. 

Please explain your answer fully. 

RESPONSE 

Yes, but 1 believe it unlikely that application of ECPR will not change behavior given how 

discounts have changed behavior in the postal arena to date. The Cohen el al. paper 1 cite in my 

testimony shows that in 2004, almost 150 billion pieces of mail of the total 206 billion pieces of 

mail availed themselves of worksharing discounts. 

5 
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USPS/PB-Tl-5 Please consider the following scenario. Assume it a partici r activity 

can be performed by the Postal Service at a unit cost of I O  cents, and further assume that there 

are three sets of mailers for whom it is feasible to conduct this activity themselves. The first set 

constitutes 60 percent of mailers, and for those mailers it costs 6 cents to conduct the activity. 

The second set constitutes 5 percent of the mailers, and for them it costs 9 cents to perform the 

activity. The third set constitutes 35 percent of mailers, and for them it costs 12 cents to conduct 

the activity. The current status quo discount is 7 cents, and therefore 60 percent of the mailers 

engage in the worksharing activity. Application of ECPR would increase the discount to I O  

cents. Please confirm that increasing the discount from 7 cents to 10 cents under this scenario 

would lead to the mailers in the seccnd set (5 percent of the total) to start worksharing, and that 

this change in mailer behavior would improve the cost efficiency of the postal system. Please 

also confirm. however, that the mailers in the first set (60 percent of the total) will receive a rate 

reduction of 3 cents without any effxt  on their behavior, that this lost revenue (assuming sub- 0 
unitary elasticity) will need to be made up by higher rates for some other mailers, and that the 

higher rates charged elsewhere could lead to an overall loss in eficiency notwithstanding the 

increase in cost efficiency relating to the 5 percent of the mailers in the second set. Please 

explain your answer fully. 

RESPONSE 

Confinned that mailers in the second set would change behavior and begin worksharing. Also 

confinned that mailers in the first sei will receive a rate reduction with no change in behavior. 

Also confirmed that lost revenue will need to be made up from elsewhere. Since my testimony is 

focused on the application of the ECPR discount regime at the subclass level, the lost revenue 

6 
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0 would presumably come from mailers within the subclass. If higher rates are also required 

elsewhere this could (but doesn’t necessarily have to) lead to a decrease in overall welfare. Also, 

my testimony sets forth the arguments in favor of instituting a system of cost-based discounts at 

the subclass level. It  does not specifically address the issue of how one makes changes from an 

existing system of discounts that are less than avoided cost. Note that in the above example, and 

under ECPR more generally, the issues of “lost revenues” does not arise when one considers 

introducing an avoided cost discount of 10 cents for the first time. 

I 
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USPSIPB-TI-6 On page 26 ol your testimony, you note that Cohen, et al. (2006) “argue 

that the end result of this process is an increase in volume far greater than what would be 

predicted on the basis ofprice elasticities alone.” Do you agree with their argument? Why, or 

why not? 

RESPONSE 

1 do not h o w  the precise basis for their argument, so 1 can neither agree nor disagree. My 

intetpretation of their statement is that the introduction of worksharing discounts set off a 

dynamic process of learning on the pan of mailers and consolidators that has accelerated the 

growth of worksharing. 

R 



a. Would you agree that, with respect to ECPR, the issue is how much worksharing 

activity changes when discounts change, and that if a higher discount results in 

little additional worksharing activity, then its primary effect is to give away 

money to mailers who are already worksharing, while raising the rates for other 

mailers (nonworksharing mailers, or mailers of another subclass)? If not, why 

not? 

Would you agree that rhe magnitude of the response by mailers to a change in a 

worksharing discoun! is a function of  the price elasticity in some form or another, 

and it is therefore not advisable generally to attempt to ignore demand factors 

when setting worksharing discounts as part of an omnibus postal rate proceeding? 

If not, why not? 

b. 

RESPONSE 

a. 1 believe that the issue with ECPR is that it encourages productive efficiency. As 

to whether or not i t  gives money away, please see my response to USPSIPB-TI4 

above. 

The magnitude of the response is a function of the distribution of the mailers costs 

to perfom the activity. The price elasticities of workshared products, are 

themselves, in  large part determined by this distribution. In general, productive 

efficiency is important. If 1 knew 1 would get no response to a discount, 1 might 

carefully consider whether to implement it but usually discounts have elicited 

responses and 1 would not take as the starting position that the discount will not 

b. 

9 
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induce a response. Again, the arguments in my testimony refer to the desirability 

of a system of cost based discount, not on the practical details of moving toward 

them from some other system ofdiscounts. (See my answer to USPSIPB-TI-5). 

IO 



USPSIPB-TI-8 Is the 2006 Bern conference paper cited in footnote 24 on page 36 of your 

testimony the same as the paper ““Clean” Mail and “Dirty” Mail: Efficient Work-Sharing 

Discounts with Mail Heterogeneity,” previously circulated in draft form? If so, please provide a 

copy of a version ofthat paper that can be cited and quoted. 

RESPONSE 

The paper cited in my testimony is a revised version of the Bern conference paper. 1 have 

attached a copy to my response. 

1 1  
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USPWPB-T1-9 Your section heading on page 45 indicates your intent to present the case 

for basing infra-subclass rate differences on Postal Service cost differences. Why does not the 

same case apply to basing infer-subclass rate differences on Postal Service cost differences? 

Please explain fully. 

RESPONSE 

The arguments in favor of cost based rate differences apply any time mailers can make use of 

price diffcrences to efficiently alter their behavior. However, as earlier citations to my past 

testimony have revealed, there is generally a tension between cost efficiency considerations and 

Ramsey-style, demand side factors. If price elasticities within a subclass are assumed to be 

approximately equal, than the issue of different elasticity based markups does not apply as 

strongly within the subclass as it might across subclasses. Thus, the issue of demand is less 

important within a subclass than across subclasses and the case for ECPR does not need to 

consider the tensions described earlier. 

0 
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0 USPS/PB-TI-IO On page 49, yo” state that Ramsey Pricing weighs surplus dollars equally, 

and that this neutrality would not allow postal ratemakers to exercise independent judgment with 

respect to the non cost factors specified in the Act. 

a. Is your concern only applicable to mechanistic application of Ramsey Pricing 

(i-e., rates are automarically and invariably set at the levels calculated by the 

Ramsey model), or would it also apply to a procedure where the price levels 

suggested by the Ramsey model are considered as useful information for 

ratemakers, but do not. preclude subsequent adjustment based on consideration of 

other factors ofthe Act? Please explain fully. 

Would you agree that if one has reservations about weighing surplus dollars 

equally, one might have the same type of reservations about imposing an equal 

unit contribution requirement (what you refer to on page 48 as the “same nominal 

markup”) on different mailers? If not, please explain fully. 

Would you agree that if one has reservations about weighing surplus dollars 

equally, one might have the same [ype of reservations about imposing a strict 

obligation on each type of mailer to cover the costs they impose on the Postal 

Service, regardless of their unique financial circumstances.? If not, please explain 

b. 

c. 

fully. 

d. Would you agree that if one starts down the road of thinking about dollars from 

different mailers differently, such an approach can call into question some ofthe 

most basic types of economic analysis that are routinely applied in ratemaking 

proceedings? Ifnot, please explain fully. 

13 
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E P-  

a. 

b. 

My concern is the former. 

No. The equal markup condition is a required to provide incentives for cost 

efficiency, not as an end in itself. 

No. The restrictions on cross-subsidy also have a role in ensuring productive 

efficiency by not creating incentives for inefficient entry. 

c. 

d. No. As suggested in part (a), such an approach may be required so as to “not 

preclude subsequent adjustment based on consideration of other factors of the 

Act.” 

14 
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0 USPSIPB-TI-11 On page 49, you note that Ramsey pricing requires demand elasticity 

estimates, and ECPR pricing does not. Is your point that, for instances in which separate demand 

elasticities arc not routinely estimated (e.g., the 3-digit mail and 5digit mail in your example on 

page 48), a substantial hurdle is presented to any attempt to use Ramsey Pricing at that level, or 

is your point that, even in situations in which the demand elasticity estimates are available, it is 

better to ignore them and focus exclusively on cost differences at the margin? Please explain 

fully. 

H ES I’ONSE 

As a practical issue, I believe there is a substantial hurdle to estimating the demand elasticities 

for each class, subclass, rate category, and rate element of mail. Given the uncertainties that 

would be inherent is these estimates, 1 would prefer to establish prices that one can be reasonably 

confidcnr will maximize productive efficiency rather than merely attempt to maximize total 

surplus based upon much less reliable estimates. Also, remember that my testimony focuses on 

the desirability of applying ECPR at the subclass level, where elasticity differences (and any 

Iheorctical gain from applying them to rates) are presumably quite small. 

0 
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0 USPS/PB-TI-12 On the top ofpage 50, you discuss the constantly changing and evolving 

postal industry, changing workshariig technology, and changing demand elasticities 

a. Would you agree !hat changing technologies may cause shifts in demand curves, 

without necessarily causing material changes in the price elasticities? If not, 

please explain fully. 

If evolving technologj is causing changes in demand elasticities, are those not 

likely to be circumstances in which it is most critical to know the magnitude of 

b. 

the erfect that settin2 discounts at a particular level is going to have on mailers’ 

choices to worksharz or not (which is precisely the type of information 

encompassed in the, price elasticities), rather than relying on a procedure which 

ignores that information? Please explain your answer fully. 

0 RESPONSE 

a. 

b. 

I agree that this is possible, but it  is far from certain. 

1 disagree with the conclusion that applying ECPR to discounts within a subclass 

need in  any sense ignore information about changing demand elasticities. Recall 

that ECPR relates to differences between rates. Elasticity considerations would 

still be required to determine the overall rate level of a subclass. And, again, the 

arguments in my testimony refer IO the desirability of a system of cost based 

discount, not on the practical details or moving toward them from some other 

system of discounts. (See my answer to USPSIPB-TI-5) 
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0 USPS/PB-T1-13 Please refer to page 49 of your testimony. There you indicate that Ramsey 

Pricing does not automatically ensu:e that prices are free of cross-subsidization. On behalf of 

Valpak, witness Mitchell in his testimony in this case makes the same point, but also states that 

the “argument that cross subsidies are bad and should be avoided is a fairness argument, not an 

economic one,” and that “[nlothing in notions relating to the efficiency of resource allocation 

argue that cross subsidies are bad or explain how to avoid them.” VP-T-3 at 10-1 1. Do you 

agree with these statements? Are they consistent with your previous testimony on this subject, 

USPS-T-I 1 at 8-12 (Docket No. R97-l)? Please explain filly. 

RESPONSE 

1 do not agree with the last quoted statement of Witness Mitchell. As noted above, there is an 

important economic efficiency reason to avoid cross-subsidization. Cross-subsidization creates 

incentives for inefficient entry. 1 do not believe the statement is consistent with my cited prior 

testimony. 
0 
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e USPSIPB-TI-14 Please refer to page 36 of your testimony, where you state: 

The basic theoretical result [of your recent Clean MaiVDirty Mail paper] was that 
an efficient allocation of mail processing activity between the Postal Service and 
mailers requires a worksharing discount equal to the average Postal Service 
processing cost of the type of mail just at the margin of being profitable for 
mailers to workshare. 

a. Would you agree that the profitability of worksharing for a specific type of 

mail is a function of the specific level of the workshare discount, and, 

therefore, in order to be able to identify the type of mail just at the margin 

of being profitable for mailers to workshare, it is necessary to have a 

panicular discount in mind already? If not, why not? 

Please explain how the theoretical result described above can be 

practically applied to aid in the determination of the most appropriate 

worksharing discount. 

b. 

f<ESI’ONSE 

a. Yes. 

b. The theoretical analysis described above establishes the conditions that must be 

satisfied for a discount to minimize postal sector costs. Given sufficient 

information about the worksharing cost curves of mailers and the Postal Service, 

i t  would be possible to calculate the cost efficient discount. Even with less 

information, i t  might be possible to design an iterative procedure that would 

converge to the desired result. Perhaps the most “practical” application of the 

analysis lies in understanding why using a “benchmark” mail type such as BMM 

would not lead to the cost efficient discount. 
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0 USPSIPB-TI-15 Please refer to your testimony at page 8, lines I8 - 20. Where, and by 

whom, is a “policy objective” of a “universal workshare discount” stated? How would you 

define the term “universal workshare discount”? 

RESPONSE 

The phrase “universal workshare discount” as 1 use it in the context of my testimony, is intended 

to mean expanded workshare opportunities, based on rates that comport with ECPPfor a larger 

group of mail users who may not currently take advantage of workshare discounts. 1 state in my 

testimony that the promotion of postal sector productive efficiency, the reduction of the Postal 

Service’s end-to-end costs, and lower postal rates for mail users is a policy objective worth 

pursuing. 

2 
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USPSPB-T1-16 Please refer to your testimony at page 10, lines 1 - 3. Your statement 0 
about the average haul of First-class Mail relative to the average haul of all other classes of mail 

i s  stated as an expectation. Do you have any empirical information to confirm that expectation? 

If empirical information were to contradict that expectation, would not that necessarily imply 

that the magnitude of potential benefits of distance related rates for First-class Mail is likely to 

be smaller than your testimony suggests? Please explain fully. 

RESPONSE 

No. According to the response of the Postal Service to PB/USPS-T32-49, the Postal Service 

does not have any empirical information to contradict my expectation. My testimony does not 

attempt to quantify the “mabmitude of potential benefits” of distance-related rates for First-class 

Mail. Rather, my testimony simply states thatin FY 20005, transportation c osts for First-class 

Presort Letters totaled $432 million or about .9 cents per piece, and points out that some fraction 

of  thc $2.372 billion mail processing costs and their associated piggybacks in FY 2005 could be 

avoided by entering mail deeper into the system. I performed no specific calculations based on 

average haul. Moreover, regardless of the average haul of First-Class Mail, a distance-related 

discount would save some of these costs. 

0 
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0 USPSIPB-TI-17 Please refer to your testimony at page 15, lines 17 - 19. How would you 

propose to implement a discount for properly addressed mail pieces (e.g., considering that when 

pieces are mailed, whether or not they are properly addressed is not known)? 

RESPONSE 

M y  testimony discusses the concept of expanding worksharing to include address quality rather 

than the implementation of that coucept. It bears noting that in Standard Mail, the Postal Service 

charges a forwarding fee for Standard Mail letters and flats that require forwarding as requested 

by the mailer, notwithstanding the facr that the quality ofthe address is unknown when the 

pieces are mailed. Thus, in that case, an indirect “worksharing discount” is accomplished 

through unbundling the forwarding component of end to end service. Presumably, something 

similar could be applied to FlrSt-CkdSS Mail. 

4 
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0 USPSIPB-TI-18 Please refer to your testimony at page 18, lines 10 - 11. Please explain 

how “the costs of the Postal Service would fall by more than the revenues lost through the 

discount” if (a) “the Postal Service saves $0.10 for each piece” (pg. 16, lines 23 - 24), and (b) the 

discount is $0.10 (pg. 18, line 8). 

RESPONSE 

This i s  a typographical error. The phrase should read “the costs of the Postal Service would fall 

by the amount of the revenues lost through the discount.” My testimony will be changed to 

reflect this. 

5 



0 VPIPB-T1-I. Please refer to your testimony, PB-T-1, p. 28, I. 21 to p. 29,l. 2, where 

you say: “It is my understanding that the current practice of the Postal Rate Commission is to 

base the calculation of avoided costs on attributable costs. Below, I explain why this is the 

theoretically correct approach.” The purpose of this interrogatory is to clarify various costing 

concepts, particularly as they re!ate to your testimony. 

Consider a postal administration producing product A (e.g., letters), among others, which 

is being considered for one worksharing discount, for a category defined in terms of downstream 

entry. Assume that the volume of product A is a continuous flow, period after period, with 

imhanged characteristics, and that it is partitioned into n cells. Each cell contains the same 

number ofpieces, a number that is not small. All pieces in a given cell have the same marginal 

cost. The marginal cost of the piecus in a cell is the additional cost divided by the number of 

additional pieces, under a small reduction in the rate applicable to the pieces in the cell, celeris 

pariblts, consistent with the notion of a rate-induced volume change. Assume that each cell has 0 
the same price elasticity of demand. The cells are aligned and numbered according to the postal 

administration’s marginal cost of handling the pieces in the cell, so that the marginal cost of the 

pieces in cell 0 is 5$, in cell I is just under 5 6 ,  in cell f is 46, in cell k is 3$, and in cell n is 2$. 

The cost information for these cells is shown in the graph in the Attachment to this interrogatory. 

These costs are upstream costs only; they do not include any costs for the downstream-entered 

product being considered. For convenience, it is assumed that f = 1/3n and k = 2/3n,.and that the 

cost curve is linear. 

As described, when handling all pieces in all n cells, the postal administration’s average 

volume variable cost is 3.5$, which is the marginal cost for additional volume of the same mix as 

in cells 0 to n; ;.e., a weighted average of the marginal costs of the pieces in all n cells. Thus, if a 
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0 small rate decrease were applicable 10 all pieces 1n all cells, the additional cost divided by the 

additional volume is 3.59 .  The volume variable cost is the average marginal cost (over all cells) 

multiplied by the total volume in ail n cells. The average volume variable cost is the volume 

variable cost divided by the total volume, which also equals the average marginal cost. The 

order in which these values are developed is immaterial. The volume variable cost is attributed. 

Within the framework of this example and the assumptions made, is this description 

of marginal cost, average marginal cost, average volume variable cost, volume 

variable cost, and attributable cost consistent with your understanding of the postal 

administration’s costs and with how you use these terms in your testimony? If it is 

not, please explain, in terms of this example and the graph in the Attachment, what 

the postal administration’s costs represent and how you use the terms in your 

testimony. 

Based on the information provided, as displayed in the graph in the Attachment, can 

you provide any guidance on what the appropriate discount should be for mail that 

will bypass the upstream operations and become a downstream-entered product? If 

you can, please provide that guidance. If you cannot, please explain why not, 

identifying any information about the postal administration that is missing. 

a. 

b. 0 

Figure I :  Upstream Costs of Postal Service Product A 

3 
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Attachment to VP/PB-TI-1 

Figure 1: Upstream Costs of Postal Service Product A 
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*Average variable cost = unit atrributable cost = marginal cost 
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RESPONSE 

a. Most of my testimony, including the portion cited above, focused on the case in 

which the Postal Service’s unit avoided costs of the workshared activity were the 

same for all workshared mail. Only in Section VI.B.2 did I address issues relating 

to the heterogeneous avoided costs. 

Again, I did not focus on this situation in my testimony. Nevertheless, it is clear 

that the question cannot be answered without further information regarding the 

upstream cost curves of compefitors. 

b. 

4 



0 VPIPB-TI-2. Please assume the initial situation described in VPPB-TI-1, shown in the 

graph in the Attachment thereto, and add the assumptions that (i) the ordering and the numbering 

of the volume cells isalso aligned with the propensity of volume in the cells to be of interest to 

potential competitors and, further, that (ii) the costs of all potential competitors are the same as 

the postal administration’s costs. That is, if an interested competitor processes and downstream- 

enters the pieces in cell k, his cost for doing so is 3 cents. 

Based on the above information, can you provide any guidance on what the appropriate 

discount should be for the downstream-entered product? If you can, please provide that 

guidance. ITyou cannot, please explain why not, identifying any inforination about the postal 

administration or the potential competitors that is missing. 

1 am not sure what is meant by the “propensity of volume in the cells to be of interest to 

potential competitors.” Nevertheless, if potential competitors are no more efficient or less 

cllicient than the postal administration for m y  type of  mail it makes no difference what discount 

is sct. The particular level of discount will have no impact on total postal sector costs. 

5 
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assumptions, except that a 3$ discount has been allowed for downstream entry, after which all of 

the volume in cells k+l through 7 kft  the postal administration to become handled by 

competitors and downstream-entered. In this situation, suppose consideration is being given to 

whether 36 is the correct discount. 

a. Would you agree that the unit attributable cost avoided when the pieces in cells 

k+l  through n leave the postal administration is 2.5$? If not, please explain. 

When viewed as a “make or buy” decision, which you discuss on p. 16 of your 

testimony, would y w  agree in this situation that competitors are being paid 36 to 

supply services that the postal administration could supply for an average of 2S$? 

If you agree, please discuss the advocacy of this outcome. If you do not, please 

explain. 

Would you agree that the average volume variable cost (=unit attributable cost = 

average marginal cost) of the pieces in cells 0 through k, which are still being 

processed by the postal administration, is now 4$? If you do not agree, please 

explain. 

Would it be your view that in this situation the postal administration’s costing 

systems would give an estimated average volume variable cost of 4#? lfyou 

believe the postal administration’s costing systems would provide an estimate of 

some other cost, please explain, in terms of the graph, what that cost would be. 

In connection with the situation described here, please explain what you 

recommend as “the theoretically correct approach” to setting the discount. That is, 

what is the correct discount level and why is it correct? 

h. 

c. 

d. 

e. 

6 
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0 VPIPB-TI-3. Please assume the situation described in VP/PB-TI-2, with its added 



f. Please assume that the discount is increased from 3$ to a new level o f 4 f ,  and that 

all pieces in cells f + 1 through k leave the postal administration. Do you agree 

that the new level of average marginal cost of the postal administration would be 

4.5$? Please explain any disagreement. 

In your analysis, which underlies your recommendations, have you made any 

assumptions about the actual shape of the postal administration’s cost curve 

(shown in the attachment to VP/PB-TI-I to be a continuous straight line [a 

straight line being a cuive with an infinite radius])? If so, please explain what 

those assumptions arc. 

In your analysis, which underlies your recommendations, have you made any 

assumptions about the actual shape of the potential competitors’ cost curves? If 

so, please explain what those assumptions are. In discussing any cost curve for 

potential competitors, maintain the assumption that the cells are lined up in the 

order of their potential interest to competitors and allow the curve. to be above or 

g. 

h. 

below that of the postal administration. 

RESPONSE 

a. Agreed. 

b. The position advocated in the cited portion of my testimony referred to the case in 

which the upstream costs of the postal administration are constant. 

c. Agreed. 

d. In the context ofthis hypothetical, I would agree. 

7 
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e. As indicated above, it makes no difference what discount is selected under the 

posited circumstances. 

In the context of this hypothetical, I would agree. 

Again, most of my testimony, including the portion cited above, focused on the 

case in which the Postal Service’s unit avoided costs of the workshared activity 

were the same for all workshared mail. Only in Section V1.B.2 did I address 

issues relating to the heterogeneous avoided costs. Thus most of my testimony 

assumed that the straight line in question is horizontal. 

No, I made no explicit assumptions about competitors cost curves. My testimony 

often assumed that the aggregate market supp/y curves of all competitors is 

upward sloping: Le., competitors as a group would supply more upstream services 

the greater the discount offered them. 

f. 

g. 

h. 

8 



0 VPIPB-TI-4. Please assume that the cells shown in the Attachment to VP/PB-TI-I and 

explained in VPIPB-TI-1 are aligned both with the marginal cost levels ofthe postal 

administration and, at the same time, with the propensity ofthe pieces in the cells to be of 

interest to potential competitors, but assume in addition that the costs of all potential competitors 

(i) differ froin those of the postal administration, and (ii) when displayed on the graph'in the 

Attachment form a straight line that is I $  below the cost curve of the postal administration. 

a. If  the discount i s  set at 3$ under these conditions, would you agree that: 

(1) All volume in cells f + 1 through n would leave the postal 

administration; 

(ii) the unit incremental cost avoided for pieces that leave would be 3$; and 

( i i i )  the average marginal cost of pieces that remain in the postal administration 

would be 4.S$? If you disagree wiih any of  the above, please explain. 

In this situation, plearc explain what you would recommend as the theoretically 

correct discount level. 

b. 

RESPONSE 

a. 

b. 

(i) Agreed. (ii) Agreed. (iii) Agreed. 

In this situation, it would be eflicient for competitors to capture oll of the 

upstream activity. Any discount greater than or equal to 5 cents would 

accomplish this. 

9 
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0 VPIPB-TI-5. Within the framework of the situation explained in VP/PB-T1-I and as 

shown in the Attachment thereto, please maintain the alignment of the cells according to the 

costs of the postal administration and the linear cost curve of the postal administration, but 

assume nothing is known about the costs of potential Competitors or which pieces are of the most 

interest to potential competitors. Please assume also that the discount is set at 39. 

a. In this situation, would y x ~  agree that it is not possible to predict which volume 

cells might be taken by a competitor? Please explain any disagreement. 

Would you agree that, if some volume in cells k through n is taken by a 

competitor, it is possible for the competitor to be spending 2.8# to handle some 

mail that the postal administration could handle for under 2.8#? lfyou do not 

abTee, please explain. 

Would you agree that, if some volume in cells f through k is taken by a 

competitor, it is possible that the competitor will be spending 39 or less to handle 

mail that would cost the postal administration between 36 and 49 to handle? If 

you do not agree, please explain. 

Do you agree that ifall volume in cells k+l through n [average variable cost = 2 

to 3 cents] and some of the volume in cells fthrough k [average variable cost = 3 

to 4 cents] leave the postal administration, the average marginal costs for pieces 

that remain in the postal administration will be above 4#? If you do not agree, 

please explain. 

If consideration is being given to changing the discount under these conditions, 

what discount would you recommend and why? 

b. 

c. 

d. 

e. 

IO 
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f. Please discuss any and all reasons you can provide for expecting that potential 

competitors might be able to process the volume in some cells at a lower cost than 

the postal administration, bpt not the volume in other cells. 

RESPONSE 

a. Agreed 

b. Agreed. 

c. Agreed. 

d. Agreed. 

e. 

C 

There is not enough information to make a recommendation. 

The hypothetical is too abstract to form such expectations. 

1 1  
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0 VPIPB-TI-6. Please refer to your testimony, PB-T-I, page 45, where you discuss rate 

differences between the categories of letters and flats within a given subclass, and page 47, 

where you discuss reasons for emphasizing ECPR considerations within subclasses instead of 

Ramsey considerations. If i t  makes a oifference, the letters and flats at issue in this question are 

those in thc subclasses of Commercial Regular, Nonprofit Regular, Commercial ECR, and 

Nonprofit ECR, all bulk categories used primarily by business and nonprofit organizations. 

a. Please explain further rhe differences you see in the cost information required for 

Ramsey instead of ECPR in terms of (i) whether one is a cost difference and the 

other i s  not (PB-T-I, p. 49, I. 7). ( i i )  whether one is at a margin and the other is 

not (PB-T-I. p. 49, I. R), and (iii) if at a margin, how that margin is defined and 

described. 

If a cost difference for ECPR purposes is taken as the difference between a cost 

for one category and a cost for the other, please explain any and all ways in which 

you see a difference in the cost information required for the two approaches. 

You suggest (PB-T-I, p. 49, 11. 8-10) that ECPR can be followed “using only the 

costing systems of  the Postal Service” and, presumably, that following Ramsey 

requires some different information which might not be available. Please explain 

specifically any cost information needed for Ramsey that is not available from the 

“costing systems of the Postal Service.” 

( i )  Do you agree that on a regular basis the Postal Service has developed estimates 

of subclass-level elasticities? Please explain any extent to which you disagree. 

(ii) Absent information that the elasticities of any included categories, such as 

letters and Ilats, are different from the elasticity of the subclass, please explain 

’ 

b. 

c. 

d. 

12 
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any reasons you believe exist for not setting rates as though the category 

elasticities were the m n e  as the subclass elasticity. 

Do you agree that if letters and flats were split into two subclasses, their 

elasticities then would become particularly relevant under the factors of section 

3622(b) of the Act? Please explain any extent to which you disagree. Note: being 

relevant should not be taken to mean that they are the only consideration. 

(i) Suppose letters and flats are kept in the same subclass and there is no reason to 

believe that their elasticities differ. If there is an interest in setting rates based on 

notions of economic efficiency, please explain the role that the cross elasticity 

should play in deciding on the level of the passthrough (Le., whether it should be 

above or below 100 percent and whether i t  should be above or below the cost 

coverage of the subclass). 

(ii) If it were believed IO be the case that the cross elasticity between letters and 

flats is not high, would this cause you to back away from your recommendation of 

100 percent passthrough and move toward a passthrough above 100 percent and 

maybe toward one approaching the cost coverage of the subclass? If not, please 

explain. 

e. 

f. 

g. Assume that a subclass has a cost coverage of 170 percent. Recognizing that if 

ECPR were used, a lower-cost, workshared category within the subclass would 

have a coverage higher than 170 percent, as you discuss at PB-T-1, p. 48, I. 16: 

(i) Do you agree that ECPR will always yield a coverage on the nonworkshared 

category that is lower than 170 percent? If  you do not agee, please explain. 

13 



9188 

(ii) Under ECPR, do you see a significant risk that the workshared category will 

be cross subsidizing the non-workshared category, as you discuss could occur, 

PB-T-I, p. 49,II. 11-17? If so, please explain the level of that risk and the factors 

associated with it. If not, please explain. 

(iii) Do you agree that if the passthrough of the cost difference between the two 

categories were 170 percent, the risk of a cross subsidy existing would be 

minimized? If you do nor agree, please explain. 

RES PONS E 

a. (i and ii) As 1 explair in my testimony, ECPR requires only information about 

cost differences at the margin while Ramsey pricing requires information about 

marginal costs and total costs, as well as own price and cross price elasticities for 

all services. 

(iii) The margin for Ramsey pricing is the marginal cost. The cost differences for 

ECPR are differences in marginal cost. 

By the two approaches I presume you refer to ECPR and Ramsey pricing. My 

understanding is that USPS cost systems would provide the required marginal 

cost information for both approaches. Again, the total cost information required 

for the determination of the Ramsey pricing break-even constraint is not required 

for ECPR analysis. 

In principle, the USPS cost systems produce costs that could be used in Ramsey 

pricing. They do not produce own price and cross price demand elasticities. 

b. 

c. 

14 
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d. (i) In rate cases, it is my understanding that the Service produces own price and 

cross price elasticities at the sub-class level, but not at the rate categoq or rate 

element level. 

(ii) As I explain in my testimony on pages 47 to 49, I advocate the use of ECPR 

for pricing work shared products. In ECPR pricing, markups are at the subclass 

level (or implicitly at the rate category level) and elasticity enters into only one of 

the factors used in selecting the markup. 

I agree given your no!<. 

(i) I do not deal with !he details of Ramsey pricing formulae in my testimony. 

This question calls for a detailed analysis of a particular case (i.e., equal own- 

price elasticities with noli zero cross elasticity) that 1 have not analyzed. Nor do 1 

know of a paper in the !iteratux where this case is explicitly discussed. 

(ii) The discussion inny testimony regarding“1etters and flats” deals with the 

advantages of basing rate differences on cost differences within a subclass. The 

term “100 pass through” does not apply. 

e. 

f. 

g. ( i )  Yes. 

(ii) Without more information, I have no way of knowing whether the “risk” is 

“significant” or not. As I explained in my testimony, the first step in a cross- 

subsidy analysis under ECPR would be to check that the rate ofthe unworkshared 

category covers its incremental costs. 

(iii) I am not sure what is meant by “minimized” in this context. Again, as 1 

explained in my testimony, if the unworkedshared mail covers its incremental 



costs, the use of ECPR will typically ensure that the other categories will also 

cover their increment,al costs. 

16 
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VPIPB-TI-I. Please refer to your statement, PB-T-I, p. 50,II. 2-3, that “ECPR 

facilitates the application of non-cost factors on a subclass by subclass basis while maintaining 

incentives for efficient worksharing within a subclass.” 

a. Please explain any and all ways using ECPR to set rate differences between 

categories within a sdxlass “facilitates the application of non-cost factors” to 

establishing cost coverages across subclasses (ie., for the various subclasses). 

Should your testimony be taken to mean that the non-cost factors should or could 

be applied to the passthrough between categories within subclasses, and therefore 

be a basis for moving the passthrough above or below 100 percent? If yes, please 

explain which factors might suggest such a movement, and explain why 100 

percent is the ideal reference point for such consideration, instead of some other 

passthrough, such as the subclass cost coverage. If no, please explain your 

position. 

Please explain whether your advocacy of 100 percent passthroughs between 

categories within a subclass should be taken to mean that the non-cost factors in 

the Act are not particularly relevant to such rate differences. 

b. 

c. 

RESPONSE 

a. I t  is my understanding that the non-cost factors of the Act are generally applied at 

the class and subclass levels to determine the cost coverage of a class or subclass. 

Once the cost coverage i s  determined, ECPR can be used within the subclass for 

discounts. 
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b. No, my testimony does not suggest that non-cost factors should be applied below 

the class and sub-class !evel. 

It is my understanding that the non-cost factors of the Act are generally applied at 

the class and sub-class level. 

c. 



0 VP/PB-T1-8. Please refer IO your statement, PB-T-1, p. 50,ll. 4-7, that “the use of 

ECPR is much better suited to a constantly changing and evolving postal industry. In particular, 

it allows relatively straightforward adjustments to reflect changing worksharing technology 

without the need to obtain information on changing demand elasticities.” 

a. Is it your position that if demand elasticities are believed to be changing, it is 

better to select a technique that neglects them than to approach the question of 

how much they are chmging or which direction they are changing? If not, please 

explain. 

Please consider a subclass with a coverage of 170 percent, which has two 

categories, and focus on two alternative situations: (i) the passthrough between 

the two categories ofthe cost difference into rates is 100 percent, and (ii) the 

passthrough between two categories of the cost difference into rates is 170 

percent. If, due to technology, the cost difference (however measured) between 

the two categories declines, please explain why it is easier to adjust in situation (i) 

than (ii). If that is not your position, please explain. 

Suppose, using the best information available on costs, elasticities, and other 

factors, the passthroggh of a cost difference into a rate difference, between two 

categories within the subclass, is set initially at 140 percent. If a few years later, it 

becomes known that the cost difference is lower, due to technology, but it is not 

known whether the elasticity relationships have changed, please explain: (i) any 

reservations you would.have about the advocacy of setting the new rates at a 

passthrough of 140 percent of the new cost difference, and (ii) whether you 

believe that, in anticipation of this problem of not knowing how the elasticity 

b. 

c. 

9193 
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relationships might change, it would be better to set the passthrough at 100 

percent in the initial ratesetting exercise. 

RESPONSE 

a. I advocate the use of ECPR for pricing workshared products. 

b. It  is not a question of whether i t  is easier or harder to adjust depending on the 

passthrough, The issue is that a 100 percent passthrough promotes productive 

efficiency and Rsmsey pricing does not. 

I would set the original rate at a passthrough of 100 percent. If costs changed, 

whether or not elasticities changed, 1 would advocate new rates with a 

passthrough of 100 percent. Please see a and b above. 

c .  

20 



9195 

0 V PIPB-T 1-9. At page 48, lines 8-10, of your testimony, please refer to your reference to 

a “belief a service highly valued by its clistomers can and should bear a greater percentage 

markup of price over marginal cost.” 

a. Please explain the preference in this belief for a “percentage mark up” instead of 

some other markup, such as an absolute amount per piece. 

Please explain how it can (or should) be determined whether a product or service 

is “highly valued.” 

b. 

IIESI’ONSE 

a. The preference for percentage markups stem for the fact that Ramsey markups are 

most easily expresscd as percentage markups over marginal cost. If absolute 

markups were used, they would depend on the marginal cost of the service. Thus, 

Ramsey absolute markups for products with the same elasticity but with different 

marginal costs would be different, but the percentage markups for these products 

would be the same. 

From an economist’s perspective, elasticity of demand is a measure of the value 

of the service. 

b. 

21 



9196 

0 VP/PB-TI-IO. Please refer to your testimony PB-T-I at pp. 16-26, where you discuss the 

Efficient Component Pricing Rule, discounts that promote efficiency, and preservation of 

contribution to overhead costs. 

a. Within a subclass sucb as Standard Regular, please assume that (i) a 1.0 ounce 

letter ~ that is presorted to 5-digits has a barcode, is fully automatable, and is 

entered at a DSCF - has a total unit attributable cost of IO cents, (ii) a 15 ounce 

parcel-shaped piece -- that is minimally presorted, does not have a barcode, and 

is entered.at an origin facility - has a total unit attributable cost of $1.10 (;.e., the 

cost difference between the letter and parcel is $l.OO), and (iii) the average unit 

contribution desired from the subclass (based on application of all the non-cost 

criteria in 3622(b), when divided by total volume of the subclass, is $0.15. In your 

recommendalion that irtra-subclass pricing should reflect 100 percent of 

attributable cost differences, would it  be correct to infer that your recommended 

rates for the letter and the parcel, respectively, would be $0.25 and $1.25? lfthis 

is not a correct interpretation of your analysis, please explain. 

Within a subclass such as parcel post, please assume that (i) the total unit 

attributable cost of a I-pound machinable parcel, entered in its destination office, 

is $1.50, (ii) the total unit attributable cost of a 69-pound non-machinable parcel 

for delivery to zone 8 is $50.00. and (iii) the average unit contribution desired 

from the subclass (based on an application of all the non-cost criteria in 3622(b)) 

is $2.00. In your recommendation that intra-subclass pricing should reflect 100 

percent of the difference in attributable cost, would it be correct to infer that your 

recommended rate for the I -pound machinable parcel entered in its destination 

b. 

22 
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office should be $3.50, and the rate for the 69-pound machinable parcels to zone 8 

should be $52.00 (Le., the difference in rates, $48.50, is equal to the difference in 

attributable cost)? If this is not a correct interpretation of your analysis, please 

explain. 

RESPONSE 

3. Yes. 

b. Yes. 

23 



0 VP/PB-T1-11. Please refer to your testimony PB-7-1 at p. 20, II. 6-14 and p. 23, 11. 3-12. 

In your discussion, upstream costs are classified as either fixed (FU) or volume variable (cU). 

Suppose that a small ( 1  percent) decline in volume results in a unit reduction in cost of 5.0 cents 

(z.e., the marginal cost of small chang2s in volume is 5.0 cents). Further, suppose that some costs 

are ‘‘lumpy’’ - that is, they are not fixed costs of operating the network for all levels ofvolume 

- and i f  volume declines by some larger amount, say 5 to 6 percent, the average unit avoided 

cost is 7.0 cents. Finally, assume that the Commission is considering a discount increase that is 

forecast to result in an increase in workshared volume of 6 to 7 percent and a corresponding 

reduction in the volume that would need upstream processing. 

a. Under these circumstances, would you define the marginal cost as 5.0 cents ( ie. ,  

the change in average unit cost that results from a small change in workshared 

volume), as 7.0 cents (; .e . ,  the change in average unit cost expected to result from 

the projected rate-induced change in  workshared volume), or as some other 

amount? Please explain your answer. 

Under the above-described circumstances, should the 2.0 cent difference in unit 

avoided cost that results from workshared volume changes larger than 1.0 to 2.0 

percent be included in marginal cost, or be excluded from the computation of 

marginal cost but be included in incremental cost? Please explain your answer. 

If “lumpy” ( i e . ,  discontinuous) cost changes are excluded from marginal costs, 

hut are included as incremental costs, under these circumstances please explain 

why the appropriate measure of per unit avoided cost is marginal cost, not average 

incremental cost, as discussed in your testimony at p. 29. 

b. 

c. 

24 
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RESPONSE 

a. The correct answer cmld be 5.0 cents, 7.0 cents, or any number in between, 

depending on the details of the example. 

Marginal costs are evaluated at a particular level of output, thus ‘ijumps” or 

“kinks” in the cost curve at other output levels are irrelevant to their 

b. 

determination. The calculation of incremental costs would typically reflect such 

“‘jumps” or “kinks.” 

As explained in my testimony, productive efficiency requires that the marginal 

costs of an activity b6 equated between active providers. With a competitive 

upstream sector, this is accomplished by setting worksharing discounts equal to 

the marginal avoided cost of the Postal Service at the forecasted activity level. 

c. 

25 
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0 VPfPB-TI-I 2 Please refer to your testimony, PB-T-I, page 20, lines 6 to 14. According to 

your equation at line 8, the incumbent nas: 

Downstream costs = Fo+ c,V 

Upstream costs = Fc+ cLV and Fixed common costs = F, 

a. Would you agree that the upstream costs, FU + cGV, constitute the incremental cost of 

the upstream activities? 

If you do not agree, please define what you believe to be the incremental cost of the 

upstream activities and discuss how and why i t  differs from your upstream costs as 

defined above. 

b. 

RES PONS E 

a. Agreed. However, it is important to note that "upstream activities" are a cost 

component, not a service. 

b. Not applicable. 

2 
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0 VPIPB-TI-13 Please refer to your testimony PB-T-I, at page 20, lines 6-14 and page 22, 

lines 1-9, and for this interrogatory, assume that the incumbent has unbundled its pricing so that the 

upstream service component is priced separately from delivery; i.e., the incumbent’s rates consist of 

two components, one for delivery (p , )  and one for upstream activities @,). The stamp price, p, is 

equal to p, + pr, and p - p, = p, = w the worksharing discount. Assume further that all service 

providers are charged the same price for access to and usage of the local delivery network, and the 

rate for delivery is designed to cover not only the downstream costs (Fn + c y ) ,  but also the fixed 

common costs (FJ. Also assume tha! ‘,ne fixed upstream costs (FJ are non-trivial; e g ,  equal to, say, 

20 to 30 percent of the upstream vclu.ne variable costs. 

a. Would you agree that if the rate for each individual upstream activity is priced at its 

variable cost, then: 

(i) the difference betwzen rates for two activities will equal the difference in their 

variable costs? 

( i i )  the rate differential between two activities, if measured and stated as the 

difference from the more costly activity to the less costly activity, reasonably might 

be stated as a “discount? 

(iii) the rate differential between two activities, ifmeasured and stated as the 

difference from the less costly activity to the more costly activity, reasonably might 

be stated as a “surchaIge”? 

(iv) regardless of whether stated as a “discount” or “surcharge,” the rate differential 

between two activities would be the same amount for the two activities in question so 

long as it represents the difference in the variable costs of the two activities, and the 

variable costs of the two activities are estimated on a consistent basis? 

3 
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If you do not agree with any ofthe above, please explain the basis for your disagreement. 

b. Would you agree that if all rate differences for upstream activities are exactly equal to 

differences in variable cost, and rates for each upstream activity reflect variable cost 

only, then the revenues from the upstream volume will just cover upstream variable 

cost; i.e., upstream revenues will equal cKVc? If you do not agree, please explain. 

Would you agree that if tke rate for each upstream activity is set at its volume variable 

cost, then revenues from the rates for upstream activities will not be sufficient to 

cover the upstream fixed costs, Fu? If you do not agree, please explain. 

If rates (including rate differentials) for upstream activities fail to cover the fixed 

upstream costs (FJ, then (i) should those upstream fixed costs also be recovered from 

the component of the iatrs charged for delivery, or (ii) should they be recovered via 

some kind of markup 011 upstream volume variable costs? Please explain. 

Please refer to your response to preceding part d. If it is your position that all fixed 

costs (F, + Fc + FJ should be recovered from the rate component that is for delivery 

only, please explain the principles or logic which lead you to conclude that those 

mailers who completely bypass the upstream portion of the network, and have no 

need for the incumbent to maintain an integrated network, should pay rates for 

delivery that include the upstream fixed costs, FL. Please indicate whether your 

position would be the szme, even if such mailers have available alternate (ie., private) 

means of delivery. 

Please refer to your response to preceding parts d and e. If it is your position that all 

fixed costs (F, + Fc + FJ should be recovered from the rate component that is for 

delivery only (pJ, and the rate component for upstream activities (pJ, should cover 

c. 

d. 

e. 

f. 

4 
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only variable costs - and fail to cover the upstream incremental costs - would you 

consider it reasonable to say that mailers who use the upstream activities then would 

be partially cross-subsidized by mailers who completely bypass the upstream portion 

of the network, and use only the delivery portion of the network? Please explain your 

answer, and in doing so explain whether forcing mailers who do not use the upstream 

portion of the network to pay a share of its incremental cost comports with: 

(i) the criterion in section 3622(b)( 1)  that rates be fair and equitable, and 

(ii) the spirit o f  section 3622(b)(3), which was intended to preclude rates that 

knowingly involved cross-subsidies. 

As a hypothetical, please suppose that all mail within a subclass were workshared to 

the point where none of it used any upstream services. Should rates for this subclass 

cover ( i .c . .  cross-subsidize) a portion of the fixed costs of the upstream portion of the 

network? I’leasc explain. 

I’leasc rcler IO your response IO preceding part d. I f  it is your position that rates for 

upstream senices should be suflicient to cover all upstream costs (F, + c,V), and 

some or all o f  the npstrearn fixed costs (F,) should be recovered via some kind of  

markup on upstream volunic variable costs, please state whether you would 

recommend ( i )  a markup that i s  ;I fixed amount per piece of mail, and which would 

maintain rate diflcrentials h r  upstream services that are equal to differences in 

variable cost, or ( i i )  a markup that is a perccntage of volume variable cost, which then 

would cause rate differcnti;ils t o  exceed differences in volume variable cost, or (iii) 

some combination of a lixcd and percentage 6 markup, or some other markup. Please 

explain the basis for your recommendation. 

g. 

11. 

5 
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RESPONSE 

a. I cannot answer the question as stated. In the hypothetical and in the cited portion of 

my testimony there is only one upstream activity. 

1 cannot answer the question as stated. In the question and in the cited portion of my 

testimony there is only one upstream activity. 

No. As noted in my response to VPIPB-T1-12, “upstream activities” are not a service. 

Thus, in the hypothetical, the firm is offering two services to mailers: end-to-end 

service at the stamp price p and delivery service at the workshared price p ~ ,  so that 

one can dcfinc the vicrk-sharing discount w = p  -PO. The notion of a price for 

“upstream activities” has no meaning in this context because it is not a service valued 

by any end users. 

Again. “upstream activiti-s” arc not a service. 

111 ternis of the hypothetical, i t  is my position that the worksharing discount be equal 

to c,. Each unit of both s e r i , i c c : y  (end-to-end and delivery only) makes the same 

b. 

c. 

d 

I‘. 

contribution to the total lixetl costs ol.tlie finn. Neither service would be receiving a 

subsidy because both would be paying less than there stand alone average cost. In this 

example, a privatc dclivcry sen’icc could succeed only if i t  were able to provide 

dclivcry services at 3 lower pcr un i t  cost than the incumbent. 

In this example, charging tlic IX‘I’R hascd worksharing discount of c, would result in 

the revenues collcctcd from c w d r  service at least covering their incremental costs. 

Again, the notion of a pncc for “upstream activities” has no meaning in this context 

because i t  is not a scrvicu ulucd by any end users. 

Rates for all subclasscs. even those that did not include “upstream activities” make a 

contribution to the f o r o /  institutional costs of the network. Whether the rates for such 

1: 

g. 

6 
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a hypothetical “no upstream activity” subclass involved a cross subsidy is a quite 

separable issue, One would compare the rate to the average stand alone cost of 

serving that subclass. 

I cannot answer the question as stated. In the hypothetical and in the cited portions of 

my testimony there is only one upstream activity. Again, “upstream activities” are not 

a service. 

h. 



9206 

0 VPIPB-TI-I4 Please refer to your answer to VP/PB-Tl-13. Also assume that the upstream 

portion of the network were separated from the downstream portion and privatized. 

a. Would you agree that such a privatized operation would need to set rates for its 

upstream services that would cover all of its costs, F, + c,V,? If not, please explain. 

Would you agree that if the incumbent (now the downstream delivery operator) 

charged all service providers the same prices for access to and usage of the delivery 

network, and those prices were just sufficient to cover the costs 

b. 

F, + Fr, + c,>V, then those mailers who do not use any services of the upstream 

network would not pay any ponion of the upstream fixed costs, F,? If not, please 

explain. 

Since a privatized, cumpetitive upstream operator would have to cover not only its 

variable costs. but alsn its fixed costs. F,?  somc of its (unbundled) prices could be 

especrcd to  cscec:d those resulting from variable cost pricing under ECPR. Would you 

expecl 11i;i1 ciicli ii privatized. compctilivc outcome would be less eflicicnt and less 

dcsirahlc th:m having a vertically-intcgrated incumbent that sets all rates according to 

LCI’R, as described i n  your tustimony at pager 22-23? Please explain. 

c .  

8. 
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RESPONSE 

a. 

b. Agreed. 

c. 

Agreed, and its rates would also have to cover FJ as well. 

The outcome proposed is mf “competitive.” Rather, it is a situation of bilateral 

monopoly. 1 would expect the outcome to be less efficient than the integrated 

outcome under ECPR, if for n o  other reason than the wasteful duplication of overhead 

network costs FJ. 

9 



0 VP/PB-T 1-1 5 Please refer to your testimony, PB-T-1, starting at page 29, line 17 to page 30, 

line 9, and page 30, lines 19-22. 

a. Please explain why you assume that all upstream costs of an incumbent postal 

operator can be classified into a dichotomy consisting of costs that are either 

(i) variable at the margin or. ( i i )  fixed over all possible levels of output. If you have 

any empirical evidence to support this assumption, please provide it, or indicate 

where i t  can be f0ur.d. 

You state (p, 29, 11. 20-21) that “[wlhen there are non constant returns to scale, there 

are two ways to n~easure ‘per uni t  avoided cost:’ marginal cost or average 

incremental cost.” Please define the term “average incremental cost” as you use it 

here. and explain why tne incumbent cannot avoid some incremental costs when 

volunie declines. 

Suppose the incunibenr has some costs that  cannot be avoided at the margin (in the 

calculus scnsc 0 1 2  wry  sniiill. alniost inlinitesimal decline in volume) but which can 

bc avoidcd il’and ivhci. cc)nlc\tat)lc volunies are transferred to consolidators. Please 

espl:rin why such costs should hc cxcludcd from the avoided cost calculation. As part 

of your response. plc:isc explain how excluding costs that are semi-fixed, or semi- 

variable. but whicli clcxly arc : ivdablc over the relevant range or output, results i n  

( i J  ii niorc efficicnc ~ I I I C O I I I C .  ;ind ( i i )  lowest combined cost. 

b. 

c .  
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RESPONSE: 

a. Purely for analytical convenience. 

b. As used in the cited portion of my testimony, the “average incremental cost” of a 

service component is, on a per unit basis, the costs that would be avoided if the firm 

no longer produced the component in question. The incremental costs of a 

component do typically decline with volume. Thus incumbent can “avoid some 

incremental costs when volume declines.’’ 

In my testimony, 1 Stated that component specificfixedcosts are not avoided as 

volume changes and, therefore, should not be included in the avoided cost 

calculation. The situation posited here is one in which marginal component costs are 

not constant. 1 did not discuss this case in my testimony, but it remains the case that 

productive efficiency requires that worksharing discounts be set equal to the 

r r i n r - g i r t d  avoided coniponcnt cost orthe incumbent as long as (i) the incumbent 

~ ~ i i t i n i i ~ s  to providt some of thc componcnt ( i i )  consolidators supply their services 

compelitively 

c. 
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24 
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MR. OLSON: Mr. Chairman? 

CHAIPMAN OMAS: Yes. 

MR. OLSON: Bill Olson for Val-Pak. I 

wanted to just confirm that, as the responses to 

interrogatories were filed, there was a figure that 

was not appended to Val-Pak Interrogatory No. 1, which 

we have advised counsel for Pitney Bowes about and 

placed in the file. It is actually referenced in the 

interrogatory, and it was in the original 

interrogatory, and we would like to have that figure 

reproduced in the record so that the record is clear, 

and I believe thzre is no problem with that. 

CHAIRMAN OMAS: Without objection, so 

ordered. 

MR. SCANLON: Just to clarify the record, 

Mr. Chairman, the figure with respect to Val-Pak/ 

Pitney Bowes T-1-28 is also a revised figure. 

CHAIRMAN OMAS: Thank you, Mr. Scanlon. 

MR. OLSON: Mr. Chairman, may I also - -  we 

have some additional designations that came in 

yesterday. 

CHAIRMAN OMAS: I think I ’ m  going to get to 

that right now, if you give me a minute. 

MR. OLSON: Yes, sir. 

CHAIRMAN OMAS: Last night, Dr. Panzar 

Heritage Reporting Corporation 
( 2 0 2 )  628- 4888  
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23 

24 

2 5  

provided responses to Val-Pak Interrogatories 16 

through 2 9 .  I would like to have these answers into 

evidence. 

Mr. Scanlon, were all of those answers 

included in the packet of written cross-examination? 

MR. SCANLON: Mr. Chairman, here are two 

additional sets. 

CHAIRMAN OMAS: Okay. So what you’re 

telling me, they  were included in the packet of 

written cross--examination that we presented earlier. 

MR. SCANLON: No, Mr. Chairman. They are 

now. 

CHAIRMAN OMAS: Okay. Thank you. So Mr. 

Scanlon, for the record, has given the reporter two 

copies of the responses to Interrogatories 16 through 

29 from Val-Pak. 

Dr. Panzar, would your answer to those 

questions be the same as those you provided to us last 

night? 

THE WITNESS: Yes, they would. 

CHAIRMAN OMAS: Thank you. 

The discovery responses are received into 

evidence and are to be transcribed. 

I /  

/ I  
Heritage Reporting Corporation 

( 2 0 2 )  6 2 8 - 4 8 8 8  
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(The document referred to was 

previously marked for 

identification as Exhibit 

Nos. VP/PB-T1-16 and was 

received in evidence.) 

Heritage Reporting Corporation 
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VPIPB-T 1-1 6 

Attachment to the interrogatory, which dealt with mail with non-uniform (Le., heterogeneous) 

costs. The interrogatory quoted a section of your testimony (PB-T-I, p. 28,l. 21 to p. 29,l. 2) 

which says: “It is my understanding that the current practice of the Postal Rate Commission is to 

base the calculation of avoided costs on attributable costs. Below, I explain why this is the 

theoretically correct approach.” 

Please refer to your response to VPIPB-TI-1 and the graph provided in the 0 

a. Your response to part a states that “[mlost of my testimony ... focused on the case 

in which the Postal Service’s unit avoided costs of the workshared activity were 

the same for all workshared mail. Only in Section VI.B.2 did 1 address issues 

relatin2 to the heterogeneous avoided costs.“ In terms of the discussion in your 

tcstiniony to which you refer. Scction VI.B.2, as well as your paper, “Clean Mail 

antl Dirty Mail:  F..fficknt W d s h a r i n g  Discounts in the Presence of Mail 

I letcropc.nuity.” rcfcrred to in fiiotnotc 24 of that section ofyour testimony (a 

rcnsud version of\vliich is pro\ idcd in response to USPSIPB-T1-8). in the face of 

lictcropencous cost coti(Jltlon.i dcscrihed in the question please state your 

understandin: ol‘ 

I. marpinal cost: 

11. avcrasc n~:irgin;iI W > I .  

1 1 1  a\:eraye v~ilurnc v:iri:ihlc cost: 

iv.  volunic variahlc cost. ; ~ n d  

v .  

. . .  

attrihutahlo cost 111:it t he  Postal Service’s costing systems would generate. 

2 

9213 
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b. If you believe the Postal Service’s costing systems, under the conditions assumed 

and described in the question, likely would provide costs that are different from 

those defined and explained in the question, please explain the meaning of the 

costs that you belieye [tie Postal Service’s costing systems would generate. 

Part a also asked whether the definitions in the question were consistent with 

“how you use [the] terms in your testimony.” Please explain whether the cost 

tKITrlinOlOgy which you use in Section VI.B.2, Cost Difference and Cost 

Avoidance. of your testimony (as well as your above cited paper) is consistent 

with the way the terms are defined and explained in the question. If any of the 

references to cost that you use in Section VI.B.2 are defined in a way which 

differs from the w ~ y  thc cost teniis are defined in the question, please explain all 

di fferencez. 

f’lcasc refer to y i u r  response to  part a. and the two sentences quoted in the 

qucsrioti. which are from the introductory paragraph of Section V1.B. in your 

1es11111011~. 

I. 

c. 

11. 

110 those sentciiccs reliilc i o  your analysis in Section VI.B.2 dealing (in 

vnur words) w i t h  ”Iictcro~cneous avoided costs,” or to sections you refer 

to as “ ( i i i ] o s ~  olni ! .  tcsl inimy“ dealing with costs of worksharing activity 

that arc “tlic s t m c  tiir ; i l l  workshared mail”? 

If your responw to t l ic  preceding question is that they relate not to Section 

VI.B.2. but I:, tlic other sections of your testimony, please explain their 

applicability to the I’ostal Service. which does not have “the same [costs] 

for all workshared niail.“ 

i i .  

3 



9215 

... 
111. If they relate to Section VI.B.2, please explain your answer further, which 

begins: "Most of my testimony, including rheportiorr cited abovc." 

(Emphasis added.) That is, how does the fact that most of your testimony 

deals with horizontal cost curves address whether your use of terms in 

Section VI.B.2 is consistent with the definition of the terms in the 

question? 

e. Please explain how the "costs avoided which you discuss in Section VI.B.2 of 

your testimony relate to the Postal Service's (i) marginal cost, (ii) average 

marginal cost, ( i i i )  volume variable cost, and (iv) average volume variable cost. 

Please explain how the "costs avoided" which you discuss in Section VI.B.2 

relate to the Postal Service's attributable cost under the assumption that 

attributable costs iiiclude not only volume variable costs, but also some intrinsic 

l i w d  costs. 

f. 

I< k: SI'( ) ss t 

;I .  This question really rcfcrs to  :I paper cited in  my testimony rather than my 

testimony itself. Tlic discussion in  my paper made use of the following 

definitions: 

I. 7w values o l ~ " i i p s i ~ ~ ; i m . "  marginal cost were defined for each type of 

mail: the unit cost. f .  t h x  would be incurred by the Postal Service $it 

performed the upstream function; and the unit cost, s, that the mailer 

would incur i f ' i i  pcrfummed the upstream function itself 

4 
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.. 
11. As used in my paper, the term average marginal cost referred to the 

average, for a given value of mailer unit cost s, of the unit costs the Postal 

Service would incur ifit performed the upstream function for all mail with 

mailer unit costs. 

I do not believe 1 defined the term average volume variable costs. 

As used in my paper. the term volume variable [sorting] costwould refer 

to all of the sorting costs incurred by the Postal Service. 

In the contexl of my theoretical model, the volume variable and 

attributable snrting costs would he the same. 

... 
111. 

iv, 

V. 

b. I would not like to speculate as to what the Postal Service's costing systems 

would produce in an entirely hypothetical situation. However, 1 intended the 

upstream variable costs in my esaniple to correspond to the volume variable costs 

that the Postal Sewice costing system would calculate for such a hypothetical 

scnicc componcnr. 

Scction Vl.B.3 docs not csplicitl! dctinc cost concepts. However, I believe the 

teniiinology is c~ns~s te i i t  wit11 that used i n  the question. 

c 

d .  

I .  Thosc sentcnccs rcicr hi thc issue of whether the marginal costs (unit 

voIu~iie variahlc c o s ~ z  I o r  average incremental costs of a component 

should he uscd 111 c;iloul;~t~ng cost avoidances. 

They are applicahlc to the above issue regardless of whether or not the 

Postal Scnicc hiis Iictcrrigeneous or homogeneous costs. See Section 

ii. 

5 



V1.B. 1 of my testimony, which focuses on the homogeneous cost case for 

ease of exposition. 

... 
111. Not applicable. 

In Section VI.B.2 I used the term costs avoided to describe workshared 

component costs in general terms. Depending on the details of the situation they 

could correspond to any of the terms mentioned. 

I am not familiar with the term “intrinsic fixed costs.” In Section VLB.2, the term 

“cows avoided’ would not include any fixed costs as long as the Postal Service 

continued to providr some of the upstream component. 

e. 

f 

9217 
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VP/PB-TI-I 7 

question’s Attachment. The interrogatory asked about guidance that could be provided in the 

Please refer to your response to VP/PB-TI-l(b) and the graph in the 

situation described in the question. In your response to part b, you say: “Again, 1 did not focus on 

this situation in my testimony.” 

a. Does this mean that no part of your testimony focuses on a situation where the 

Postal Service has different marginal costs (i) for different segments of the mail 

stream, and (ii) for mail within the various segments? 

Unless your answer to part a is an unqualified affirmative, please clarify which 

pans of your testimony would apply to such situations. 

b. 

h . A h  I stated in my ori;inal rcsponsc to VWPB-TI-l(b), only Section 1V.B 

dircctl! d i x u s s e d  the c;isc of Iictcrogeneous upstream Postal Service costs of the 

type posited in tlic \‘alpdk h>porhctical. 

9218 

7 



Please refer to your response to VP/PB-Tl-3(b). The interrogatory asks 0 VP’PB-T1-18 
about the applicability of the analogy of the classic “make or buy” decision to a situation where 

the Postal Service’s marginal costs vary across the mail stream. Your response is that “[tlhe 

position advocated in the cited portion of my testimony [relating to “make or buy” decisions] 

referred to the case in which the upstream costs ofthe postal administration are constant.” 

a. Please explain whether your response means that the notion of a “make or buy” 

decision is useless in helping to think about postal worksharing situations in 

which marginal costs vary across the mail stream. 

If it is not useless, please explain why it cannot be applied to the situation 

described in the question tn conclude that the postal administration is paying a 

cumpetitor 3 cents t u  supply services that it could supply for 2.5 cents. 

The assumption of the question was that the discount is 3 cents and all of the 

vnlumt. in  cells k - l  t n  11. and no more. is being handled by the competitor. The 

quc‘stiuii a l s o  assumed that the competitor‘s cost curve coincided with the cost 

curve of the post:il ;i[iniinistr~iti[iii. for the same volume cells. Under the 

conditions stipul;itcd i n  the question. please explain whether applicability of the 

notion o f a  ”niclkc-or-hu!“ decision changes if the competitor’s costs for the 

\oIume i n  CEII: k -  I thrciirgh 11 iirc lower than the postal administration’s costs. 

b. 

c .  

8 

9219 



9220 

RESPONSE 0 
a. The “make or buy” logic remains useful when Postal Service processing costs are 

heterogeneous. 

The problem arises, not because of the “make or buy” logic, but because it is not 

practicable to set different worksharing discounts for mail that imposes different 

upstream costs on the Postal Service 

Again, the “make-or-buy” logic applies, and would yield a cost efficient outcome 

if it were feasible to set different worksharing discounts for mail that imposes 

different upstream costs on the Postal Service. 

b. 

c. 

0 

Y 



VP/PB-T1-19 Please refer to your response to VP/PB-T1-3(g), which asked if, in your 

analysis, you made any assumptions about the actual shape of the postal administration’s cost 

curve. 

a. Your response begins: “Again, most of my testimony, including the portion cited 

above, focused on the case in which the Postal Service’s unit avoided costs of the 

workshared activity were the same for all workshared mail.” In this answer, 

please explain which specific portion of your testimony is described as “the 

portion cited above.” 

As you point out, most of your testimony assumes “that the straight line in 

question is horizontal.” If the cost curve of the Postal Service is not horizontal, 

and instead is downward sloping (or curved), please explain whether the portions 

of  your testimony that assume it to be horizontal are applicable to rate setting for 

the I’ostaI Service. To the extent that some sections are not applicable, please list 

those sccmns and dzscribe any limitations on applicability. 

J’ou say: ”Only in Scction \‘I.I3.2 did I address issues relating to the 

hctcrogencous avoided costs.” Accordingly. in Section VI.B.2, did you make any 

assumptions about the shape of  thc Postal Service’s marginal cost curve (e.g., as 

prcscnted in VPiPB-7 I - I ;ind i t >  ,Attrichmcnt)? If so, please explain what those 

assumptions are. 

Do you agree that if the compctitors‘ cost curves for the same segments of the 

mailstream lie beloiv the Postal Service’s cost curve. the rate setting policies you 

advocate eventuall) \ \ i l l  result in  all of mail being handled by the competitors? If 

you do not agree. please explain: 

b. 

c 

d. 



1. 

ii. 

Which policies would not have this result and why; and 

How the dividing line should be determined between mail that the Postal 

Service handles and mail that the competitors handle. 

RESPONSE 

a. 

b. 

I was refemng to the portions cited in VP-PB-T-I. 

A / [  portions of my testimony remain applicable. However, as I have pointed out, 

the analysis becomes more complicated when Postal Service upstream costs vary 

across pieces of mail in the same discount category. As in all aspects of rate- 

setting, there is a trade off involved in the number of rates and/or discounts that 

are established. The r x e  schedule would become hopelessly complex if one 

specified enough different rate categories so that all items within a category were 

completely homogeneous. But that would eliminate the problem under 

discussion. 

ho. I did not makc m y  specific astrniptions. 

I did not  makc a n y  rCc(iiiiiiiend;iti~inr for the situation described in the 

hypothetical. When the crimpcriron' costs are lower than those of the Postal 

Sewice for all t-wvpcs ofiixiil. I zurpcct that the repeated application o f o i y  

discount equal to the U W I - ~ J < ~  ol'hcterogeneous Postal Service costs would lead to 

competitors processi,ig 311 the m i l .  But, that would be cost efficient in the 

context of this example. 

c 

11. 
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VP/PB-T1-20 

situation where the current discount and every detail about the Postal Service’s costs are known, 

Please refer to your response to VP/PB-T1-5(e). Within a specified 

but nothing is known about costs of competitors, the question asked whether a basis exists for 

recommending a revised discount, You respond that “[tlhere is not enough information to make a 

recommendation.” 

a. Please explain what additional information you would require in order to enable 

you to make a recommendation. 

If you knew that some volume had been taken by competitors at the given 

discount. and you had a revised Postal Service cost curve, similar to the one 

presented in VPIPB-TI-1 and its Attachment, then for the remaining volume 

\vould you have enough infomiation to make a recommendation on a revised 

discount’.’ 

I l l s o .  please explain wha t  that recommendation would be. 

1 1 .  1111(>t. p1c;ise explain \vh;it xlditiunal information would be needed. 

l..zccpt [hiit the curves i:i qiicstion mi$t not be straight lines and that detail 

rchting to Postal Service costs niipht not be so extensive (Le., you might know 

l i tt le more than thc m;~rginal cost or4  cents), please explain the difference 

b c t w c n  thc situation bung t k c d  111 the instant docket and the situation described 

111 pan b of this qucstion 

b. 

c .  

12 



9224 

RESPONSE 

a. 1 would need information about the cost curves of potential competitors and how 
0 

they are correlated with those of the Postal Service for the various “cells” of mail 

b. 

1 .  The hypothetical does not provide enough information. In particular, 

based on the information given, one cannot determine whether the mail 

taken would have cost the Postal Service more or less to process than it 

cost the competitors that took it. 

As explained in part (a), above, I would need information about the cost 

curves of poteitial competitors and how they are correlated with those of 

the Postal Scwice. The difficulty with the present hypothetical is that it 

tries to ccltapse two mail characteristics, i.e.. Postal Service processing 

costs and mailer processing costs. into a single dimension. 

. .  
11.  

L ‘I l ie prnhlciiis poscrl hy cost heterogeneity are difficult. My earlier cited paper 

;ittciiipts to  derelop n theoretical framework for dealing with them. In the absence 

of‘complete inkirniation. one docs the best one can by basing decisions on 

plausible assumption< and. eventually. subjecting those assumptions to empirical 

tests. Also. as stated 11: my rcsponsc to VP/PB-Tl-I9(b). there is a trade off 

betwcen makip the ctimplc\it! olthe rate schedule and establishing more 

numerous and morc hoiii~~;reneous rate categories. Finally, the Postal Service 

proposal to “dclink” Single Piece and workshared mail should reduce cost 

heterogeneity. 

13 
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VPIPB-T1-2 1 

interrogatory referenced VP/PB-Tl-l. Part f asked: “Please discuss any and all reasons you can 

provide for expecting that potential competitors might be able to process the volume in some 

cells at a lower cost than the postal administration, but not the volume in other cells.” Your 

response to part f stated that: “The hypothetical is too abstract to form such expectations.” 

Please explain what it is about the model presented in VP/PB-T1-1 thatyou 

consider to be “too abstract” to allow you to address the question in part f. 

Consider a hypothetical in which the Postal Service has a downward sloping cost 

(i.e., heterogeneous) curve when the volume is ordered by cost, from highest to 

lowest. Please explain what is “too abstract” for yon to address the question of 

why competitors might be able to process some volume at a lower cost than the 

Postal Service. bct not other vdumc. 

Please consider a hypothetical it1 which the Postal Service has a cost curve, which 

need not hc Iincar. bur which slopes downward (;.e,  heterogeneous) when the 

volunic is ordered hy cost. Cui1 you think of any reasons why competitors might 

he able to process zomc ninil ;it :I lower cost that the Postal Service, but not other 

mail’! If you can. plv;isc provide those reasons. Would one possibility for different 

costs as het\veen the P o d  Sen ice and competitors be that the Postal Service 

rcillizcs substanti;il sc:ilc‘ economics on some portions of the volume, not on 

others’.) 

Please refer to your response to VP/PB-Tl-S(f). The introduction to the 

a. 

b. 

c 
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RESPONSE 0 - 
a. If provides no detail or even general discussion about the actual operations of any 

specific group of consolidators or competitors. 

b. Please see VP/PB-TI-2l(a), above. 

c. At the level of generality of the hypothetical, all one can say is that it is because 

their cost functions are different. Scale economies might play a role in the real 

world, but all the hypothetical examples proposed have assumed constant returns 

to scale for both parties. 

15 
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VPIPB-TI-22 

emphasize that Ramsey pricing requires “total costs” so that breakeven is defined, and consider a 

Please refer to your response to VP/PB-T1-6(a and b), where you 

subclass that has a revenue requirement equal to its cost times its cost coverage and that is 

composed exclusively of two categories, one of letters and one of flats. Please explain any 

reasons you see for rejecting a breakeven requirement in a Ramsey pricing formula that 

constrains the revenue (the summation of price times quantity) to equal the revenue requirement. 

RESPONSE 

1 am not familiar with the notion of imposing a “revenue requirement” at the subclass level in 

Postal Rate making. I have only seen those words applied to the sum of all mail classes and 

scrvices. It  would seem. however. :tiat even if one knew all the information necessary to apply 

kiiiiy pricing. doing so at the stibclass level with a breakeven constraint violates the spirit of 

I<mii\c! pricing hecnuse i t  does not considcr thc relationships of demand and consumer surplus 

: i c I o ~ ~  cI:i\\c.>. .Applyng I<aiiisey pricing t o  subclasses within a class once coverage were set for 0 
t l ic c l ; i v  ~ ~ i t i l d  d s o  sceni to erode any hencfits derived from Ramsey pricing 

16 
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asked: “Absent information that the elasticities of any included categories [in a subclass], such as 

Please refer to your response to VP/PB-T1-6(d)(ii). The interrogatory 

letters and flats, are different from the elasticity of the subclass, please explain any reasons you 

believe exist for not setting rates as though the category elasticities were the same as the subclass 

elasticity.” Your response is that you “advocate the use of ECPR for pricing work shared 

products,” and you refer to pages 47-49 of your testimony. 

a. Please confirm that in all cases you would view letters in a subclass as a 

workshare variant of  Oats in the same subclass. If you do not confirm, please 

explain all cases in which the difference between them would not be viewed as 

due to worksharing. 

Please confirm that thc reasons you give on pages 47-49, and extending through 

page 50. line 7. whicn exnlain your reasons for preferring ECPR over Ramsey for 

rate setting within subclasses. represent the sum total of your reasons for not 

settine rates. as explained in the question. “as though the category elasticities 

\\ere the s m c  as the suhclass elasticity.” If you do not confirm, please explain 

;my other reasons th;it  rcspond to  the question. 

Under Ramsey. if- you be1ict.c t h a t  setting rates in default as though the elasticities 

ot the categories \vert. the smile ;I\ the elasticity of the subclass wouldikely give 

a wrong solutiun. please c\pl;iin whether changing the elasticity of  letters relative 

IO flats would move :hc 1cttcr-tl:it rate differcnce ( i )  above and below the cost 

differcnce times the suhchss cost coverage or (ii) above and below 100 percent of 

the cost difference. For purpiiscs of  this question, assume the cross elasticity 

between letters and flats is  low. 

b.  

c. 

9228 
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RESPONSE 

a. Not confirmed. 1 do not view letters in a subclass as a workshare variant of flats 

in the same subclass in all cases. Because mailers can often chose whether to 

mail a flat or a letter, the same arguments can be applied to pricing shape-related 

cost differences as are applied to worksharing-related cost differences. 

b. Confirmed. 

c. The question is unclear. If the question is asking whether different elasticities for 

subclasses would result in different rate differences, assuming Ramsey pricing for 

subclasses within a class once the coverage for the class had been set, the answer 

I S  yes 

9229 
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VP/PB-T1-24 

the unworkedshared [meaning not workshared] mail covers its incremental costs, the use of 

Please refer to your response to VP/PB-TId(g)(iii). You explain that “if 

ECPR will typically ensure that the other categories will also cover their incremental costs.” 

Would you also argue that if the workshared category “coven its incremental 

costs,” the use of ECRP will typically ensure that the unworkshared category will 

also cover its incremental costs? 

Please assume that lett-rs are a lower-cost, workshare variant of flats, that the 

subclass has only the two categories ( ie . ,  letters and flats), and that the cost 

coverage of the subclass i s  I70 percent. If the workshared category (letters) 

covers its incremental costs and the nonworkshared category (flats) does not, 

Xrould you agree th;t increasing the passthrough of the cost difference from its 

f!C‘PK Icvel of I00 percent up IO a level of 170 percent would reduce the chances 

o f thc  nciii\wrkshart!d c a t q o y  not recovering its incremental costs? If you do not 

q r e c .  plc;i~e cuplair.. 

a. 

b. 

K t:s 1’0 xs c: 

;I Yes. 

h. As stated ti1 my resp(rnsc hi \ ‘ I ’  l’l%-Tl-23(a), I do not consider letters to be a 

workshare variant ciff1;irz. l l : i \  in: said that, if letters covered its incrcmcntal cost 

and flats did not with rates 5,ct at cost differences, increasing the rate differential 

could not decrease the chnncc of flats covering its incremental costs. Whether or 

not it increascd the chiitice would depend on the incremental cost. 

19 
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VPIPB-TI-25 Please refer to your response to VP/PB-T1-6(f)(ii), where you say: “The 

discussion in my testimony regarding ‘letters and flats’ deals with the advantages of basing rate 

differences on cost differences within a subclass. The term ‘100 pass through’ does not apply.” 

a. Do you agree that under ECPR, the rate difference between two categories would 

normally be equal to 100 percent ofthe cost difference between the two 

categories? If you do not agree, please explain fidly. 

By the phrase ”100 pass through” do you mean 100 percent passthrough? If you 

do not, please explain what you mean. 

Please explain why the phrase “100 pass through or 100 percent passthrough 

(whichever you specify as being your meaning in your response to part b of this 

question). does not app!y to a situation of “basing rate differences on cost 

diffcrriiccs within ‘1 siihclass.“ 

b. 

c. 

;i Tlic principles supponing EC’I’K a lso  support the notion that rate differences 

should rcflcct IO( /  pcrccnc ofclic c u h t  differences. 

h .  \lcs. 

c.  Thc phrase ”pass through” 15 scncrally understood to refer to workshare-related 

avoided costs 

20 
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VPIPB-T1-26 

a. Please refer to your response to VPIPB-Tl-7(a). Referring to your words, the 

interrogatory asks how using ECPR within a subclassfacilitates applying the non- 

cost factors between subclasses. The emphasis is on the term facilitates, as you 

argued on page 50, lines 2-3,  that such facilitation takes place. Your answer refers 

to what i s  “generally” done and what “can be” done. Please explain whether you 

believe that using ECPR within a subclass, instead of Ramsey, as explained 

further in VPIPB-TI- 18, makes it any easier, any more straightforward, or any 

more meaningful !o apply the non-cost factors between subclasses. 

Please refer to your response to VPIPB-T1-7(b). Is it fair to interpret your 

response to this i n t x r o p t o n  to mean that you recommend that the Commission 

not apply thc non-cost factors contained i n  Section 3622(b) below the subclass 

IcvcI’.’ I ~ n l e s s  your answer is an unqualified affirmative, please explain what you 

n i u i i .  

P l cax  refcr to your responses to  VI’~PI<-Tl-7(a) and (c). 

I .  

b. 

c .  

Is i t  your uiidr.rstantliny thal [ l ie Commission does not apply noncost 

criterion .36X!(b)l-l t .  thc cffecr of ratc increases on mailers, to ratc 

categories w t l i l i i  :I .;uhc.l;i~~’.’ If so. please state the basis for your 

understand in^. 

Is i t  your untlcrs!mding that the Commission docs not apply noncost 

criterion 3613hK6). the degree of preparation to rate categories within a 

subclass’’ If so. plcclsc. state the basis for your understanding. 

i i .  

21 
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... 
111. Is it your understanding that the Commission does not apply noncost 

criterion 3622(b)(7), simplicity, to rate categories within a subclass? If so, 

please state the basis for your understanding. 

RESPONSE 

a. My answer to VP/PB-T1-7(a) states, in pertinent part, that “[ill is my 

understanding that the non-cost factors of the Act are generally applied at the 

class and subclass levels to determine the cost coverage of a class or subclass.” I 

do not understand what it means to “more meaningful[ly] . . . apply the non-cost 

factors between subclasses.” 

Kci. My answer to VP/PB-TI-7(b) stares, in pertinent part, “my testimony does 

not suFgest that noli-cost factors should be applied below the class and sub-class 

I C W  I .  ‘. 
( i . - i i i . )  I T  is niy und:rstandiny that [lie noli-cost factors of the Act arc generally 

;ipplied ;it the class and  suhclass ICV& to determine the cost coverage of a class 01 

subclass. 

h. 

c 
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VP/PV-T1-27 

a reason given in your testimony (p. 50,ll. 4-7) for preferring ECPR to Ramsey within 

subclasses. All three parts of the question relate to your reason. Your responses all state that you 

advocate ECPR, in one case (part b) mentioning productive efficiency. Your statement on page 

50 is: “Finally, and most importantly, the use of ECPR is much better suited to a constantly 

changing and evolving postal industry. In particular, it allows relatively straighlfonvard 

adjustments to reflect changing worksharing technology without the need to obtain information 

on changing demand elasticities.” (Emphasis added.) 

Please refer to your response to VP/PB-Tl-8. The interrogatory pertains to 

Please explain whether your response, particularly your statement in response to pan b 

that “[ I]t is not a question of whethzr i t  i s  easier or harder to adjust depending on the 

passthroush.“ means that the issue cf it being “relatively straightforward’‘ to make adjustments 

uii i lcr ECPK and. prcsuniably, not “relatively srraishtforward to make adjustments under 

kiiiix? ;\ i i o r  ~ . c Y I / / I .  ( I  WN.COI I  for prcferriny ECPK tu Kanisey. If i t  does not mean this, please 

c\pl:iiii tlic wxiw i n  which i t  is more straiglitfonwrd under ECPR. 0 
H k3I ’OSS E 

O h \  iously. i t  IS n o  harder to adjust a “I 7 0 ” , ,  p x s  through” to reflect cost changes than it is to 

adlust :I ‘ ~ 1 0 0 ” ~ ~  pass through“ to reflect tIio3c ch:uiges. The reason ECPK is more suited to deal 

with cos[ chanses. is because the required percentage pass through to implement it does not 

change ;is cnsts change. This is not yicriilly true under Kamsey pricing. 

23 
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VPIPB-TI-28 

29, lines 1-2, of your testimony, where you say that “the theoretically correct approach is to 

base the discount on unit attributable costs as the Commission does, the interrogatory asked what 

“theoretically correct approach” you would recommend in the situation shown in the graph 

attached to VP/PB-Tl-l if the discount were currently.at 3 cents, the competitors’ curves were 

the same as those of the Postal Service, and all of the volume in cells k+l  through n had left the 

postal administration and become handled by the competitor. 

Please refer to your response to VP/PB-T1-3(e). Using words from page 

a. Your response is that “it makes no difference what discount is selected under the 

posited circumstancts.” In your response to VP/PB-Tl-3(d), you agreed that the 

unit attributable cost for the remaining mail is 4 cents. Please explain why your 

recomnl~ndation that the “theoretically correct approach’’ would be to base the 

discount on uni t  attributable cost would not be a basis for recommending, under 

the conditions of the question. that the discount he increased from its current level 

01.3 cents to 3 nc\r Icvel  ot-l cciith. 

It your  rcc~~iiniciidiiti~ii oii p:igc 211 docs not apply to the situatioii in the 

question. in\.ol\ing as it  does ;I do\riw:ird sloping cost curve for the Postal 

Service. please specif). thc n;ifiirc of  the situations to which it does apply. 

Suppose instead tha t  tlic P ~ i ~ t i i I  Scrvicc cost curve and the competitor cost curve 

arc shown iii  the t o l l o ~ v i n ~  gr;ipli. 

h 

c .  
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Volume cells in order of declining Postal Service cost 

Here too. the discount is cwrently 3 cents, the volume in cells k+ 1 to n has left the 

Portal Service and gone IC, the competitor. and the unit attributable cost of the mail 

remaining in the Postal Service is 4 cents. Please explain whether your 

recommendation on the ”theoretically correct approach” would be to increase the 

d .  I t  !our recommendation in the situation in part c is that, given the unusually 

detailed information availahle in this question. the correct discount is 3 cents, 

please explain how in normal Poslal Service cost estimation and ratesetting one 

\vould know that 3 cents is the correct discount. 

If all information about the competitor’s cost curve is removed and the particulars 

are that the current discount is 3 cents. the Postal Service has a downward sloping 

cost curve of some kind. some of the mail has left and gone to a competitor, and the 

average marginal cost of the mail that remains is 4 cents. Do you agree that, in 

e .  
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this general situation, the only information from the Postal Service’s data systems 

would be 4 cents and that no system gives 3 cents? If you do not agree, please 

explain how the 3-cent figure would be developed. 

RESPONSE 

(a,-b.) The quote taken from my testimony on page 29 refers to the use of marginal 

component cost versus average incremental component cost in the discount 

determination. See my response to VPIPB-Tl-l6(d)(i), above. 

Again, the quoted portion of my testimony does not refer to this situation. 

However. for the reasons stated in my Response to VP/PB-T1-20, above, the 

h-ypothctical does not prtrvidc enough information to answer the question. At a 

discount o f3  cents. t ! i ~  Postal Service would. as assumed, lose all the mail that 

cost 1 . o i i p ’ i i i i i i . v  3 ctmts or less t o  process. However, the example does not make 

clear l i on  n iud i  th;it mail i u i u / J  /rrii.e L’O.Y/ tlie Postal Service to process. Thus, 

one cannot hc sure that the nttrihutahlc cost ofthe remaining mail would be 4 

cents. as assumetl i n  the h>pothctical. Therefore. there is no way of 

recornmendint._ \ h t  the  discount should be without making further assumptions. 

This is where the ‘.ctirrcl:iticin>‘- reterred to in  my earlier response come into play. 

c. 

d Not applicahlc. 

C .  I n  temis ofthe ass i~~i ipt~crn~ iii:ide in tlie hypothetical, 1 agree that the average 

marginal costs figure would he 4 cents. 
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VPIPB-T1-29 Please refer to your response to VP/PB-TI-8. 0 
a. Do you agree that the practical effect of your response to part a is that the 

Commission should not mark up any of the costs caused by additional weight of 

mail? 

i. Unless your answer to the preceding question is an unqualified 

affirmative, please explain the reasons for your disagreement 

If your answer to the question above is affirmative, please explain all 

reasons why you believe that the cost of weight should not be marked up, 

and that all ovsrhead costs should be assessed strictly on a per-piece basis. 

Please explain how not marking up the cost of weight always enhances 

economic efficie.icy 

. .  
11. 

. . .  
111. 

h. Woiild you ayree t h t  the practical effect of your response to part b is that the 

('ommission should no! mark up any ofthe costs caused by additional weight of 

mail. or any of  the costs causcd h!. transportation of mail'? 

I .  Gnlcss your niis:\cr t o  the prcccding qucstioii Is an unqualified 

affirmative. piease crplain the reasons for your disagreement. 

If your answcr t o  the question ahow is affirmative, please explain all 

rcasoiis why yoti heIicLc h i i t  the cost oftransportation should not be 

marked up. ;itid a11 o\crIiciid costs should be assessed strictly on a per- 

piece basis. Ily'.i Ice1 that the cost of transportation should be marked up 

in some suhc'iwcs (c,.,y.. Priority Mail), but not others, please explain what 

distinctionfs) k o i i  \vould use to justify marking up transportation costs in 

soiiie subclassch. hut not othcrs. 

. .  
11. 
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iii. Please explain how not marking up the cost of transportation always 

enhances economic eficiency. 

RESPONSE 

a. The questions do not appear to follow from my answer to VPIPB-TI-8. 

Assuming that the correct reference is to VPPB-T1-10, as 1 explain in my 

testimony on pages 45 to 47, the principles supporting ECPR apply to all the cost 

differences for mail within a subclass. Thus, from a pure theoretical perspective, 

the price difference should be equal to the cost difference. When this is so, each 

piece makes an equal contribution to overhead. 

The questions do not appear to follow from my answer to VPIPB-T1-8. 

;\ssumin; that the correct refcrcnce is to VPIPB-T1-IO, please see my response to 

\'P Pl~-~r r -?4 (a l  above. 

b. 
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CHAIRMAN OMAS: Is there any additional 

written cross-examination to Dr. Panzar? 

(No response. ) 

CHAIRMAN OMAS: There being none, this 

brings us to oral cross-examination. Four 

participants have requested oral cross-examination: 

the Office of the Consumer Advocate, Parcel Shippers 

Association, U.S. Postal Service, Val-Pak Direct 

Marketing Systens, Inc., and Val-Pak Dealers 

Association. 

Mr. Costich, would you begin, please? 

MR. COXICH: Thank you, Mr. Chairman. 

DIRECT EXAMINATION 

BY MR. COSTICH: 

Q Good morning, Professor Panzar. 

A Good morning. 

CHAIRMAN OMAS: Dr. Panzar, is your mike on? 

THE WITNESS: I believe so. 

CHAIRMAN OMAS: Okay. Good. Would you pull 

it a little bit closer to you, please? Thank you, 

sir. 

BY M R .  COSTICH: 

Q Last night, the OCA served a cross- 

examination exhlbit and provided it to your counsel. 

Have you had a chance to look at that? 
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A Yes, I have, and I appreciate the 

opportunity to view it in advance. 

MR. COSTICH: Mr. Chairman, do commissioners 

have a copy of that cross-examination exhibit? 

(Pause. ) 

CHAIRMAN OMAS: I don' t think so. 

BY MR. COSTICH: 

Q Professor Panzar, this exhibit concerns your 

response to Val-Pak Interrogatory No. 8(c), and in my 

cross-examination exhibit, I posed a hypothetical in 

which there are two categories of mail within a 

subclass: One is workshare, and one is nonworkshare. 

When the workshare category was created, the cost 

difference for that category was five cents, and the 

discount was set at five cents, and now the cost 

difference is 10 cents. 

I believe your response to Val-Pak 8(c) said 

that you would recommend that the discount be 

increased to 10 cents. Is that correct? 

A Yes. 

Q Then I added some more assumptions to my 

hypothetical concerning the elasticity of workshare 

volume with respect to the discount, and that 

elasticity is assumed to be 0.1, so that doubling the 

discount from five to 10 cents, which is a 100-percent 

Heritage Reporting Corporation 
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increase in the discount, would cause 10 pieces to 

convert from nonworkshare to workshare. Do you follow 

that? 

A Yes, as assumed. 

Q Now, the 10 pieces that shift save the 

Postal Service 10 cents and essentially cost of the 

Postal Service 10 cents in additional discounts, so 

that’s essentially a financial wash. Correct? 

A Correct. 

Q But each of the original 100 workshare 

pieces now receives and additional five-cent discount, 

which costs the Postal Service five dollars. Does 

that seem right to you? 

A Well, at this point, we need to go back and 

inquire as to why the cost difference changed from 

five cents to 10 cents. Presumably, either the cost 

of the nonworkshared mail increased five cents, or the 

cost of the workshared mail decreased five cents. 

If the cost of the workshared mail decreased 

five cents, then this five dollars that you are 

talking about here in terms of the additional five 

cents in discount is just the pass-thr9ugh of the cost 

savings of that decrease. So that involves a no-net 

change for the Postal Service as well. 

Q Well, if the Postal Service has been 

Heritage Reporting Corporation 
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collecting in rates that five cent savings up to the 

point of the rate change, the increase in the 

discount, it will still be five dollars worse off, 

will it not? 

A Basically, you’re saying it was collecting 

too much between the time that the cost went down and 

the time the rate changed. So relative to that 

situation, it woiild need another five dollars, but 

relative to the initial situation, you combine the 

cost change and the rate change, and the Postal 

Service is exactly where it was before. 

Q If we’re talking about a cost reduction for 

the workshare category, and the Postal Service has 

been collecting that cost reduction as revenue up 

until the point where the discount is reduced, then 

the Postal Service will presumably have to recover 

that five dollars from the other nonworkshare 

category. Is that correct? 

A I don’t see there is five dollars to 

recover. If it took that five dollars of cost 

savings, as the hypothetical assumes, we’re leaving 

all of the money within this category that five 

dollars is a cost savings that’s accrued to this 

subclass. So if they weren’t collecting that savings, 

they have been running a surplus on that subclass 
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until the discount change was made. So there is no 

shortfall, with respect to that subclass, to recover. 

Now, if you say they took that five dollars 

and sent it to some other subclass, and then, when the 

discount was adjusted, they would have to recover that 

cost, that might be true, but that doesn’t affect the 

logic of the financial impact of 100 percent ECR-based 

adjustment of discounts, as I discussed in my response 

to the interrogatory you cited. 

Q Let‘s assume that the Postal Service used 

the cost savings to fund institutional costs, and thus 

was able to postpone seeking any rate changes until it 

was about to lcee money again. In that situation, 

they have got to get that five dollars back from the 

nonworkshare category. Correct? 

A Well, if they have taken it out of that 

subclass and used it for something else, then they can 

recover that five dollars from that subclass, but it’s 

just a wash in terms of the net position of the Postal 

Service. You can’t say that, as a result of the 

discount policy, you could levy an additional five 

dollars on the nonworkshared portion of the subclass 

They saved that money right away. If they 

tossed it away or sent it somewhere else, then, yes, 

they would have to get it back, but if they kept it 
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within the subclass, as the focus of the hypothetical 

suggests, then there is no need to raise any 

additional money from the nonworkshared portion. 

Q In my hypothetical, the Postal Service does 

have to raise someone's rates to get that five dollars 

back, and the result of that effort, at least 

initially, raising the single-piece rate by the five 

cents in order to get it back, is unsuccessful in the 

sense that there are only 90 pieces of first-class 

mail upon which to impose that extra five cents, which 

only gives them $4.50. 

The end result is that if the Postal Service 

succeeds in getting back the full five dollars from 

the nonworkshare category, the Postal Service loses 

volume, the nonworkshare rate is now more than five 

cents higher than the original rate, and the workshare 

rate is now higher than it was originally because the 

nonworkshare rate has been raised more than five 

cents, the total discount is now 10 cents, but that 

results in a rate that's actually higher in the 

discount category than it was originally. Did you 

follow that part of the hypothetical? 

CHAIRMAN OMAS: Excuse me. If I could 

interrupt, Mr. Panzar, could you please pull the mike 

closer? We're not getting a good transmission from 

Heritage Reporting Corporation 
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you. 

louder, it would be most appreciated. Mr. Costich, 

you as well, please. Thank you. 

Thank you. And if you could speak just a little 

THE WITNESS: Yes. I followed that 

conclusion from your hypothetical, but that conclusion 

results from the fact that you want to raise an 

additional five dollars from the subclass, not as a 

result of applying the 100-percent-discount, pass- 

through principle. 

If ysu want to raise additional money from a 

subclass, and there is inelastic demand but some 

elasticity, you’re generally going to have to raise 

rates to do it.. It doesn’t come about because of the 

application of ECPR or the 100-percent pass-through of 

the cost difference because you haven’t accounted for 

the savings that led to the cost difference growing 

from five to 10 cents. 

BY MR. COSTICH: 

Q In my hypothetical, there appear to be no 

beneficiaries. Is that correct? 

A In your hypothetical, the Postal Service has 

raised an additional five dollars from the subclass in 

question. Presumably, it’s using that for some useful 

purpose. There are no beneficiaries amongst customers 

of mail in the subclass because both of their rates 

Heritage Reporting Corporation 
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have gone up, but the five dollars is an extra five 

dollars available to the Postal Service. 

Q Would a profit-seeking monopolist price 

according to ECPR? 

A It depends on the situation. Sometimes it 

would; sometimes it wouldn't. In general, as a way of 

implementing efficient production decisions, that is, 

the make-or-buy aspect, it would follow ECPR logic. 

Sometimes it would forego exact application of the 

ECPR rule in order to extract some additional monopoly 

profits or monopsony profits, depending on which side 

of the market it was on. 

Q Are profit-seeking monopolists considered to 

be productively efficient? 

A Usually, but sometimes they are willing to 

forego the productive efficiency of the entire 

vertical chain of production in order to extract more 

monopoly or monopsony profits. 

By deviating from ECPR, they sacrifice some 

overall productive efficiency, but a profit-seeking 

monopolist is, by definition, concerned only with his 

own profit; he is not concerned with the productive 

efficiency of t.he entire sector, so he is happy to 

make that trade-off when it's necessary. 

Q In your testimony, you refer to the cost  
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efficiency of the entire postal sector. Is that 

correct? 

A Several times, yes. 

Q And you suggest that the use of ECPR by the 

Postal Service would encourage productive efficiency 

throughout the entire postal sector. Is that correct? 

A Throughout those portions where worksharing' 

is involved, it would induce mailers to provide 

worksharing services when they can provide them more 

cheaply than the Postal Service, yes. 

Q If the Postal Service were a profit-seeking 

enterprise without a statutory monopoly, would that 

lead to productive efficiency in the postal sector? 

A It depends upon how much monopoly power the 

Postal Service might have, even without a statutory 

monopoly. As I indicated in my answer to your earlier 

question, a profit-seeking monopolist or monopsonist 

facing a downward-sloping demand curve or an upward- 

sloping supply curve may choose to forego some 

productive efficiencies in order to extract some 

monopoly or monopsony rents. 

So we can't know for sure whether the postal 

sector without a statutory monopoly for the Postal 

Service would end up being productively efficient or 

not. It depends on the circumstances. 
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Q Would a profit-seeking Postal Service 

without the benefit of the monopoly, the statutory 

monopoly, tend to move in the direction of productive 

efficiency for the entire sector, even if it didn't 

get all of the way there? 

A Move relative to - -  

Q - -  the current situation. 

A - -  the current situation? Well, that's 

counterfactual, I didn't address in my testimony. It 

would try to increase its profits. It might have a 

greater incentive to engage in cost-reducing efforts 

with respect EO its own costs if it had shareholders 

and residual claimants, but in terms of the structure 

of the worksharing discounts it offered, as I've said 

before, it may choose to forego some of the productive 

efficiencies that could be achieved through 

worksharing in order to exploit its residual monopoly 

or monopsony power. 

Q Does it appear to you that the Postal 

Service is doing that right now, deviating from ECPR 

in order to increase its ability to recover its 

institutional costs? 

A No. That's not my understanding of the way 

the discount policies are set. The institutional 

costs are recovered through markups set at the various 

Heritage Reporting Corporation 
( 2 0 2 )  6 2 8- 4 8 8 8  



9250  

1 

2 

3 

4 

5 

6 

7 

8 

9 

1 0  

11 

1 2  

1 3  

1 4  

1 5  

1 6  

1 7  

18 

1 9  

20  

2 1  

22 

23  

24 

2 5  

subclass levels, and the discounts tend to be cost 

based. So the coverage, the contribution, that a 

piece from a particular subclass makes, is determined 

by considerations of recovering institutional costs, 

but a cost-based, discount structure can be, and it's 

my understanding is, developed separately from that 

cost coverage calculation. 

Q Are you aware that there is any dispute in 

this proceedi.ng as to how to set the benchmark rate 

from which di.scounts would be subtracted? 

A I'm aware that that's been an issue in past 

cases and this csse. I don't know the details of the 

dispute that yau refer to. 

Q Are you aware that the implicit cost 

coverage for workshare mail in the first-class 

subclass is greater than 3 0 0  percent, while the 

implicit cost coverage for nonworkshare mail is 

approximately 170 percent? 

A I was not aware of those specific numbers. 

Q Do those numbers suggest that the Postal 

Service is extracting excess revenue from workshare 

mail in order to cover its institutional costs with 

lower rates for the nonworkshare mail? 

A To the extent that - -  let me back up a 

second. 
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When you gave those two numbers, were they 

in terms of the percentage cost coverage or the cost 

contribution per piece? 

Q They are just total revenue divided by total 

cost within the categories. 

A Because the basic principles of ECPR would 

make the value of the difference between price and 

marginal or unit-attributable costs be the same for 

workshared and nonworkshared pieces, but the 

percentage coverage would, of necessity, be higher for 

the workshared pieces because the costs are lower. 

So the fact that we say the percentage of 

revenues over calculated costs is greater for 

workshared pieces doesn't necessarily conflict with 

the ECPR principle. I would have to go more deeply 

into the numbers to come up with an answer to your 

question. 

MR. COSTICH: Thank you, Professor Panzar. 

Thank you, Mr. Chairman. I have no more questions. 

CHAIRMAN OMAS: Thank you, Mr. Costich. 

Mr. May? 

MR. COSTICH: Excuse me, Mr. Chairman. 

CHAIRMAN OMAS: Yes. 

MR. COSTICH: I would like to move the 

admission of the cross-examination exhibit, which I 
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have marked as XE-OCA/PB-T-1. 

CHAIRMAN OMAS: Without objection 

MR. OLSON: Mr. Chairman, I would like to 

clarify if counsel is asking it be transcribed or 

moved into evidence because - -  

CHAIRMAN OMAS: I think he said “moved into 

evidence. ‘I 

MR. OLSON: In that case, I would object 

because the witness has expressed his differences with 

the assumptiors in the hypothetical, so I would say 

transcription, 

to clarify cross-examination, but I’m not sure what 

this is evidence of. 

it makes all of the sense in the world 

MR. COSTICH: That‘s fine, Mr. Chairman, if 

we can just get it transcribed. 

CHAIRMAN OMAS: Transcribed. Thank you. 

(The document referred to was 

previously marked for 

identification as Exhibit 

N o s .  XE-OCAP/PB-Tl and was 

received in evidence.) 

/ /  

/ /  

/ /  

/ /  
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WORKSHARE HYPOTHETICAL 
FOR WITNESS PANZAR 

Please refer to your response to VP/PB-T1-8(c). 

1. A mail subclass has 2 categories-workshare and non-workshare-each with 
100 Dieces of total volume. 

2. When the workshare category was created, the cost difference was 5 Cents 
and the discount was set at 5 cents. 

Now the cost difference is'10 cents. 3. 

Does your response to VP 8(c) mean that you would recommend a new discount of 10 

cents? 

4. 

5. 

The elasticity of workshare volume with respect to the discount is 0.1. 

A doubling of the discount (from 5 to 10 cents, or a 100-percent increase) 
would thus cause10 pieces to convert to the workshare category. 

Each of these 10 new pieces saves 10 cents and receives a IO-cent discount, 
a break-even transaction for the Post. 

Each of the 100 old workshare pieces receives an additional 5 cents, or $5.00 
in total 

This $5.00 must be recovered from the non-workshare category. 

6.  

7. 
0 

8 .  

Does your response to VP 8(c) mean that you would recommend a new discount of 10 

cents? 

9. 

10. 

11. 

12. 

The own-price elasticity for non-workshare volume is -0.2. 

The own-price elasticity for workshare volume is -0.1. 

The current price of non-workshare is 40 cents. 

Raising the price of non-workshare by 5 cents will not recover $5.00 

a. Only 90 pieces of non-workshare remain-at most $4.50 can be 
recovered. 
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b. Raising the price of non-workshareby 12.5 percent (940) will cause 2.25 
pieces of non-workshare to leave the Post. 

13. The price of workshare will be higher (45+ cents less 10-cent discount = 35+ 
cents). 

The price of non-workshare will be higher (45+ cents vs 40 cents). 

The Post will be financially indifferent. 

14. 

15. 

Does your response to VP 8(c) mean that you would recommend a new discount of 10 

cents? 
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CHAIRMAN OMAS: Mr. May? 

CROSS-EXAMINATION 

BY MR. MAY: 

Q Professor, I would like to first talk to you 

about your response to the Postal Service Question 9. 

if you have that handy. There, you state, “If price 

elasticities within a subclass are assumed to be 

approximately equal, then the issue of different 

price-elasticity-based markups does not apply as 

strongly within the subclass as it might across 

subclasses. Thus, the issue of demand is less 

important withiL a subclass than across subclasses, 

and the case for ECPR does not need to consider the 

tensions described earlier. 

So is it the case that your discussion of 

intraclass rate differences in your testimony depends, 

at least, to some extent, on the assumption that the 

elasticities within a subclass are relatively similar, 

or, at least, that they are not known so one wouldn’t 

be able to take them into account? 

A I wouldn’t say the analysis depends on that. 

It’s just the case for cost-based, worksharing 

discounts is strongest in those situations. You can 

make the same arguments based on productive 

efficiency. 

Heritage Reporting Corporation 
( 2 0 2 )  6 2 8- 4 8 8 8  



1 

2 

3 

4 

5 

6 

7 

8 

9 

1 0  

11 

1 2  

1 3  

1 4  

1 5  

1 6  

1 7  

18 

1 9  

20 

2 1  

2 2  

23 

24 

25 

9256 

Q Is it the case that, in most instances 

you're familiar with, within the subclass, the 

elasticity differences are small or simply not known? 

A That's my understanding of the senera1 way 

in which subclasses are determined. 

MR. MAY: Well, I would like to talk to you 

just about the case of parcel post where the 

elasticities below the subclass have been estimated by 

the Postal Senrice and are known to vary quite 

substantially within the subclass. 

So, with that in mind, I would like you to 

examine two pages of Postal Service Witness's Thress's 

testimony, which I will provide you. 

( PaLse . ) 

BY MR. MAY: 

Q Now, I've provided you with page 178 and 

page 185 of Witness Thress's testimony. Would you 

agree, if you've had time to examine it, that Witness 

Thress estimates that the own price elasticity of 

nondestination-entry parcel post is negative .374? 

And that would be basically what they call "retail 

parcel post." Correct? 

A Yes. 

Q And then, on page 85, Witness Thress there 

estimates the own price elasticity of destination 

Heritage Reporting Corporation 
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parcel post as negative 1.399. 

A That's what the table says, yes. 

Q And that would be workshared parcel post 

because it's a destination entry. 

A Correct. 

Q So the own price elasticity of workshared 

parcel post is almost four times as much as the own 

price elasticity of retail parcel post. Is that 

correct? 

A According to these tables, yes. 

Q Would you agree, from your review of those 

two tables, that Witness Thress does not even include 

cross-price terms between retail and workshared parcel 

post in his econometric demand equations? 

A I don't see them printed out in these 

tables. I don't know what was in his equations when 

he estimated them. 

Q Well, would you accept, subject to check, 

that perhaps it did not include cross-price terms 

because there is no significant cross-price elasticity 

between these two types of mail? 

A Subject to check. 

Q And that would be a good reason to leave 

them out, would it not, if that were the case? 

A Yes. 
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Q Now, I would like to refer you to your 

response to Val-Pak Question 10(b). Now, I'm going to 

paraphrase your response, but I believe that you 

responded basically that the unit contribution of a 

retail parcel should be the same as a workshared 

parcel. Is that correct? 

A Yes. 

Q Now, when you answered that, were you aware 

of the signifiTant differences in price elasticities 

between retail parcel post and workshared parcel post 

and the apparent lack of cross-price elasticity 

between the two products? 

A No. I wasn't referring to any particular 

pair of workshared/nonworkshared products. 

Q Or the elasticity. 

A Or what the elasticity difference might be. 

Q And, of course, there is no reason for you 

to do it because there was no mention in the question 

of that. 

A Correct. 

Q GivEn the significantly different 

elasticities between these two different products and 

the lack of cross-price elasticity, do you believe 

that the factors to consider in setting rate 

differences between these two products should be more 

Heritage Reporting Corporation 
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similar to the factors that should be taken into 

account when determining rate differences across 

subclasses than to the factors for setting intraclass 

rate differences? 

A Could you repeat that, please? 

Q Given the significantly different 

elasticities between these two products, do you 

believe that the factors to consider in setting the 

rate differences between these two different products 

should be more similar to the factors that you would 

use in determining what the rate difference would be 

across a subclass rather than within the subclass? 

A I jusc wanted to be sure you were referring 

to factors in general as opposed to specifically to 

noncost factors. 

Looking at this example, my reaction would 

be, why are these two services in the same subclass? 

But taking that as a given, the difference in 

elasticities that you pointed out suggest that, in 

weighing the advantages of productive efficiency, as 

reflected through ECPR-based discount policy versus 

the Ramsey-type elasticity-based price differences, 

that the argument in this particular example shifts 

more to the use of price-elasticity-based differences 

in setting the market. 
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Q So, in other words, in these kinds of 

circumstances, Ramsey pricing should play a more 

important part in setting the rate differences than 

efficient component pricing, at least, when those kind 

of circumstances are known and exist. 

A The case in favor of using the inverse 

elasticity rule to establish different per-piece 

markups is stronger in these kinds of situations than 

in the basic, homogeneous elasticity characterization 

of subclass demand that was the focus of my testimony. 

Q Well, I suppose you inverted the question 

you had immediately - -  why are these two products in 

the same subclass when they have such widely varying 

elasticities? You're implying, I think, that you 

believe they should not be in the same subclass if 

their demand characteristics are so different. 

A I have not made any study of how to group 

products and services into classes and subclasses. 

I've just said that this would raise a red flag in my 

mind as to whether to include them in the same 

subclass. 

Q Would Ramsey pricing indicate that the 

percentage marxup on workshared parcel post should be 

less than the percentage markup on retail parcel post 

or more? 
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A Based on these elasticities with no cross- 

elasticities, the inverse elasticity rule would apply 

fairly directly, and we would say that the markup on 

the workshared product would be less. 

MR. MAY: Thank you, Dr. Panzar. That's all 

I have, Mr. Chairman. 

CHAIRMAN OMAS : Thank you, Mr . May. 

Mr. Koettinq? 

MR. KOETTING: Thank you, Mr. Chairman. 

CROSS-EXAMINATION 

BY ME. KOETTING: 

Q I just have one question, Professor Panzar, 

which, as chance would have it, also focuses on your 

response to Val-Pak Interrogatory 10(b) that Mr. May 

just discussed with you. I don't know whether your 

discussion with Mr. May might change your response to 

my question, but I'll ask it as posed anyhow. 

Do I understand your testimony correctly, 

specifically, your response to Part B of Val-Pak 

Interrogatory 10, to mean that you believe that the 

unit contribution should be the same for all parcel 

post pieces, regardless of the weight or the zone or 

the level of workshare? 

A This would be the result of direct 

application of the ECPR-based cost differences. If 
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the differences for weight reflected the added costs 

of weight, then the contribution would be the same. 

A s  I indicated in the answer to Mr. May's 

question, there is always a tension or trade-off 

between following the ECPR methodology, with its aim 

to promote productive efficiency, versus exploiting 

differences in demand elasticities. So, absent any 

direct information that demand elasticities are 

significantly different, my testimony recommends 

following the ECPR logic within a subclass. 

MR. KOETTING: Thank you, Professor Panzar. 

That.'; a l l  I have, Mr. Chairman. 

CHAIEWAN OMAS: Thank you, Mr. Koetting. 

Mr. Olson? 

CROSS-EXAMINATION 

BY MR. OLSON: 

Q Dr. Panzar, William Olson from Val-Pak. 

First, I would like to thank you and Mr. Scanlon and 

Mr. Myers for getting us the responses to the third 

set of interrogatories yesterday, a day before they 

were due. It was helpful, and the good news is that 

that allowed me to strike some questions, but the bad 

news is that I added a couple. 

Let me start with your testimony on page 20, 

specifically, llnes 2 through 5, where you describe 

Heritage Reporting Corporation 
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what you call "a hypothetical postal network with two 

vertical components: a downstream delivery component 

and an upstream composite component consisting of 

various collection, transportation, and sortation 

functions." Do you see that? 

A Yes. 

Q Okay. Many of my questions today will refer 

to this hypothct.ica1. So unless I specify otherwise, 

if I say "downstream," I'm talking about delivery; if 

I'm talking about "upstream," I'm talking about 

processing and transportation and collection, I guess 

you would say. Is that okay? 

A Okay. 

Q And I want to start with clarifying some of 

the terms you use in your testimony on the next page, 

page 21. Let me just identify all of the terms so 

that you see them, and then I can see if I can 

synthesize them. 

In line 7 ,  you have the term "outside 

vendor." Do you see that? 

A Yes. 

Q And then, on lines 9, 10, 11, and 22,  you 

use the word "a consolidator." Do you see that? 

A Yes. 

Q And then, on page 22,  lines 5 and 6, you've 

Heritage Reporting Corporation 
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got "providers of competitive services. " 

A I'm sorry. Which page was that? 

Q That's the next page, 2 2 .  

A Yes. 

Q And then, further down that page, you've got 

"a mailer or consolidator that performed the upstream 

functions." Do you see that phrase, lines 15 through 

16? 

A Yes. 

Q Let me just take the phrase that is at the 

top of page 22, "providers of competitive services," 

and ask you if that is inclusive of what you call 

outside vendors. That's m y  first question. Is that 

inclusive of outside vendors? 

A Yes. 

Q And inclusive of consolidators? 

A Yes. 

Q And inclusive of mailers that perfom 

upstream functions? 

A Yes. 

Q And so all of those can be considered 

providers of services that compete with the Postal 

Service's upstream activities. 

A Yes. 

Q Okay. To your knowledge, does Pitney Bowes 

Heritage Reporting Corporation 
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engage in presorting mail prepared by others, which is 

to say mailers other than Pitney Bowes? 

A That's my understanding, yes. 

Q To your knowledge, does the subsidiary of 

Pitney Bowes that does the presort bureau work compete 

with other presort bureaus for business? 

A I would assume so. I don't have any direct 

knowledge of who they compete with. 

Q Do yo" have any knowledge of the competitive 

nature of the presort bureau industry? Do you know it 

to be a competitive industry or not? 

A I know there are many providers of services 

in this industry. I'm not aware of any industrial 

economic studies that attempt to quantify the extent 

of competition in the usual academic sense, but, 

speaking loosely, I would characterize it as a 

competitive business, but I don't know, for example, 

the four-firm concentration ratio or Herfendahl index 

or any technical attributes of a market such as those. 

Q Yes. That's way past what I was asking. I 

was just talking about the members of Joel Thomas's 

National Association of Presort Mailers, for example, 

that there are other companies beside Pitney that do 

presort work and compete with each other for business 

for mailers, in general terms. 

Heritage Reporting Corporation 
( 2 0 2 )  6 2 8 - 4 8 8 8  



1 

2 

3 

4 

5 

6 

7 

8 

9 

10 

11 

12 

13 

1; 

15 

16 

17 

18 

19 

20 

2 1  

22 

23  

24  

25  

9266  

A Certainly. 

Q And, in fact, wouldn't those firms, Pitney 

and the other presort bureaus, also compete with this 

hypothetical postal network that's in your testimony 

as to the upstream activities? 

A Yes. If they are given an opportunity 

through the establishment of worksharing discounts, 

they compete to that function. Since there is a 

statutory delivery monopoly, and, by presumption, the 

upstream function has no value to final consumers in 

and of itself, that is, without delivery, their 

competition with the Postal Service is basically, if 

allowed to, - -  the structure of worksharing rates. If 

there were no worksharing discounts, this industry 

would disappear. 

Q Rignt. But things being what they are, with 

worksharing discounts, we do see competition between 

presort bureaus or among presort bureaus, first of all 

_ _  yes? - -  

A Yes. 

Q - -  and we see compensation between presort 

bureaus and the Postal Service for this upstream work. 

Correct? 

A Correct. 

Q Okay. In your testimony, at several places, 
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you refer to the paper by Cohen, et al., and you 

reproduce a table on page 4 or 5, I think, of your 

testimony which comes out of his paper. 

correct? 

Isn't that 

A Yes, I do. 

Q Page 6 .  I'm sorry. And Cohen, in that 

paper, has an estimate of 1 5 0  million pieces of mail 

that were workshared to some degree out of a total Of 

2 0 6  billion pieces. I hope I said "billion" in both 

cases. I'm soi-iy. I meant to. 

I take it, you must have had some confidence 

in that number, at least in general terms, as YOU 

reproduced this chart. Correct? 

A To the extent that it was used for 

illustrative purposes to indicate how pervasive 

worksharing was. I made no independent study, 

quantitative study, of the extent of worksharing. 

Q I wasn't headed in that direction. But when 

Cohen adds up workshared volume, he is talking about 

mail that receives worksharing discount. Is that 

correct? 

A That's my understanding. 

Q S o  a portion of the workshared mail that 

Cohen presents of 150 billion pieces; some of that 

receives some transportation and presortation within 
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the Postal Service. Isn't that correct? 

A I would assume so. There are several of his 

co-authors in the room. You would probably be better 

off to ask them. 

Q I've got you on the stand, though. 

But the concept is that, for example, if you 

entered mail at a DBMC, the Postal Service is going to 

do some transportation, for example, of that mail that 

it might not do if it was DDU entered. Correct? 

A Yes. 

Q Okay. But, on the other hand, particularly 

with DDU-entered mail, there is some of that 

workshared mail that bypasses virtually all Postal 

Service sortation and transportation. Is that not 

correct? 

A I would assume so. 

Q And I think you probably already said this, 

but with 150 billion pieces workshared mail out there, 

that indicates, in and of itself, does it not, that 

there is some extensive amount of competition for the 

upstream component of the network currently, under 

current rates with the Postal Service? Is that not 

correct? 

A Yes. 

Q Let me ask you to look at your Interrogatory 
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4 ,  please, Val-Pak Interrogatory No. 4 .  Do you have 

that? I'll walk you through what the relevant parts 

are. Let me know when you - -  

A Yes. I've got the number four. 

Q Part A of that interrogatory hypothesized a 

situation where there were competitors to the Postal 

Service's upstream activities, and they could provide 

the same services the Postal Service could but at a 

lower cost. Is that about right? 

A I'm just trying to check whether the 

assumption of lower costs was introduced - -  

Q It's the last line right above A. It says: 

"One sample of the cost curve of the postal 

administration . . . . I '  

A Okay. Yes. 

Q So you agree that's basically what A says. 

A Correct 

Q Okay. And then, in B, let me read you your 

response. It says: " I n  this situation, it would be 

efficient for competitors to capture all of the 

upstream activity." Correct? 

A That was my response to Part B. yes. 

Q The result of that, of course, if it's most 

efficient for competitors to capture all of the 

upstream activity, I take it, is that the Postal 
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Service would probably close down its upstream 

activities and allow the competitors to do all of the 

upstream work. Would that not be correct? 

A Under the assumptions specified in this 

hypothetical, that seems to be correct, yes. 

Q That's all I'm asking, is under those 

assumptions, and, admittedly, this is all a 

hypothetical. But let me ask you, would you have any, 

and we're assuming the hypothetical to be true, under 

this scenario, would you have any qualms or 

reservations about recommending discounts and a 

pricing structure that would allow the more efficient 

outside competitors to capture all of the upstream 

activities and take that away from the incumbent 

postal administration? 

A No, not under these circumstances. 

Q So you have no reservation about following 

efficiency through to its logical conclusion, then 

A Again, not under - -  

Q - -  under these circumstances, yes. Okay. 

And if you could look at your response to 

our Interrogatory 14, this question asks you to assume 

that the Postal Service's upstream component was 

separated from the downstream component and 

privatized. Correct? 

Heritage Reporting Corporation 
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A Correct. 

Q Okay. Now, following privatization in this 

hypothetical, would you be willing to assume that the 

upstream component, in its now new, privatized status, 

would continue to collect and sort and transport mail? 

This is what used to be the Postal Service, now broken 

off, privatized. Would you assume that the upstream 

component would continue to collect, sort, and 

transport mail? 

A If its cost structure allowed it to 

successfully compete in the marketplace, yes. I 

should point cut that you changed the cost structure 

between this hypothetical and the previous one. 

You've adopted my fixed-cost-plus-constant-marginal- 

cost simplification for the upstream costs of the 

Postal Service in Interrogatory 14, whereas back in 

number four, we had that ordered, downward-sloping 

collection of curves. So we've shifted situations a 

bit. 

Q My question is actually going to be very 

practical and not theoretical, but I appreciate your 

pointing that out for the record. 

If there were to be this type of 

hypothetical privatization, is there any reason that 

Pitney and other presort bureaus and other 
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consolidators and vendors and other firms that provide 

upstream activities, is there any reason to believe 

they would not continue to be competitors of the 

Postal Service, if, of course, the Postal Service were 

able to operate efficiency enough to stay in business, 

as you said? 

A I would assume that they would, yes. 

Q Let me ask you to, then, take a look at how 

you responded to 14(c) because I'm not sure I 

understood this. 

In 14(c), you say, "The outcome proposed is 

not competitive; rather, it is a situation of 

bilateral monopoly." Correct? And then you go on, 

but let me just stop there for a second. Okay? 

Wouldn't a bilateral monopoly mean that the 

downstream delivery component has a monopoly, and the 

upstream component also has a monopoly? Is that what 

you mean by "bilateral monopoly"? 

A Yes. 

Q Then aren't you assuming that all of the 

existing competitors to the Postal Service, like 

Pitney Bowes, would cease to exist so that the Postal 

Service would have a monopoly over that upstream work? 

A Well, that's why I brought up the issue 

about the cost structure. Under the cost structure 
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assumed in the question taken from my paper, you have 

the case where the hypothetical, privatized, divested, 

upstream Postal Service has globally decreasing 

average costs of providing that upstream function. 

Essentially, it's a natural monopoly under all ranges 

of output. 

So either its cost curves are too high for 

it to be a market player, in which case it would be 

priced out of the market, and you would have a 

competitive si.:uation, or if it's active in the 

market, it will be either a monopolist or dominant 

firm. It's not a situation were it will be one of 

many competitors all taking prices given. 

The assumption of price-taking behavior on 

the part of the hypothetical divested postal 

enterprise is not consistent with the cost structure 

assumed in the question. So that's what I meant in my 

answer to Part C .  Under these circumstances, you're 

going to have either a monopolist or dominant upstream 

Postal Service firm dealing with a statutory monopoly 

downstream. 

Q Well, let's assume the cost curve of the 

Postal Service is not such that it has a natural 

monopoly to have such low costs as to drive out all 

competitors, like Pitney Bowes. Under that scenario, 

Heritage Reporting Corporation 
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there is no reason to believe that that would happen, 

is there, in the real-world illustration, if you were 

to take the Postal Service and privatize it this way? 

A That is a very interesting, empirical 

question. I don't have any direct knowledge as to 

what would happen, but let's suppose that the cost 

structure of this hypothetical, divested, postal 

upstream entity were such that it was just one of many 

competitors, if you could. That's not what's 

specified in the hypothetical in Question 14, but 

let's go from tnere. 

Q Okay. So, basically, your response, that 

our hypothetical describes a bilateral monopoly, is 

premised on the fact that we were assuming that the 

Postal Service was facing a very low cost curve in the 

upstream area. Is that what you're saying? 

A Well, that specified that the average cost 

is everywhere downward sloping, so there is nothing 

that limits the size of the Postal Service in a 

competitive market. That's all that I was pointing 

out. 

So if you want to posit a situation in which 

this divested postal entity is one of many upstream 

competitors, you have to have a different cost 

structure to go with that, one that eventually 
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decreasing returns to scale set in, and the Postal 

Service wouldn't capture all of the market, or be 

eliminated entirely from the market. 

Q Okay. Thank you. Let me ask you to look at 

your testimony at page 20.  We started with this 

before the section above about your hypothetical 

postal network, but on lines 10 and 11, you talk about 

fixed costs tha.t. relate only to upstream activities, 

and those, I believe, you identify as F,. Correct? 

A Correct. 

Q If the upstream activities of the Postal 

Service were unbundled and privatized, as we're 

positing, and 311 mailers who now use the Postal 

Service for some or, in some class, all of their 

upstream activities continue to use the Postal 

Service's new, privatized, upstream entity, wouldn't 

that privatized, upstream entity have to recover these 

upstream fixed costs, F,d, from the mailers who would 

be using that entity? 

A Yes, if were to break even and remain in the 

market. 

Q Page 24 ,  please, of your testimony. You 

have a section chere that you call "Preservation of 

Contribution." Let me just ask you, is it your 

testimony that all fixed costs should always be 
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recovered from markups on the delivery function? 

that what the conclusion is of this section? 

Is 

A In terms of the example presented here, with 

two components and a delivery monopoly, that's 

correct. The markup over marginal costs can be 

attributed to - -  that's basically viewed as falling on 

the delivery function. 

Q So we see all, 100 percent, of fixed costs 

being treated as institutional, and all of those 

institutional costs being recovered from the delivery 

function. 

A Well, ;hey are recovered from the services. 

The contribution of each piece is the same. So a 

piece that uses the upstream function makes the same 

contribution to the institutional cost as a piece that 

doesn't use the upstream function. 

Q Which is another way of saying that the 

markup is only on the delivery function and that there 

is no markup on the sortation and transportation. 

Correct? 

A You could interpret it that way. Each piece 

has a markup - -  

Q No. I understand the pieces - -  

A - -  over its marginal cost. 

Q No. I understand every piece has a markup, 
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and if it has the same unit markup on all pieces, and 

all pieces use delivery, but not all pieces use 

sortation or transportation, then isn't it fair to say 

that you're recovering all of the institutional costs 

from a markup on delivery? 

A Yes. I mean, it's part of the structure of 

the analysis. You could characterize it that way, 

but, again, each piece makes a contribution. 

Q Yes. Are you aware of the fact that the 

Commission considers specific fixed costs to be 

attributable to the class or subclass of mail for 

which those fixed costs are incurred? 

A Specific fixed costs specific to services, 

yes. 

Q Is it your understanding that the 

Commission's attribution of those specific fixed costs 

to be based on causation? 

A The attribution of specific fixed costs 

would, in my understanding, be to the services that 

cause them, y e s .  

Q You don't have any problem with using 

causation as a basis for attribution in this case, do 

you, in specific fixed costs? 

A No. 

Q Do you think that the principle of causation 
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is misapplied when it's used to attribute specific 

fixed costs? 

A No, except to the extent they are included 

in marginal costs, as has sometimes been an issue in 

rate cases, but in terms of their being assigned to 

the incremental costs of a particular service, no, I 

have no problem with that. 

Q So, in fact, you have no problems with the 

attribution of those specific fixed costs, not just 

incremental costs for purposes of cross-subsidy check 

but attribution of the specific fixed costs. That 

doesn't present a problem to your analysis and your 

model and your way of looking at postal costing. 

A NO. 

Q Is the reason that you accept specific fixed 

costs as the Commission uses them, is the reason you 

accept that as being appropriate under your model, 

even though they are fixed costs - -  is it because of 

the fairness aspect of this that the mailers who cause 

the cost to be incurred are paying that cost? 

A I wouldn't put it exactly that way, but it 

is an issue of causality. Those costs are caused by 

the service in question. 

Q An?. if they are caused by the service in 

question, such as registered mail, the cost of the 
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registry cage, which is fixed, irrespective of 

volume - -  that's one of the classic illustrations that 
I know I worked on in R87-1. The registry cage is a 

fixed cost. Correct? It's there, irrespective of 

whether there is one piece or 10,000 pieces in the 

cage. 

A Within certain limits, yes. They have some 

rule for adjust.ing the number of registered cases. 

Q 

fixed; it 

A 

Q 

registry, 

any other 

So, in other words, it may not be completely 

may be partially fixed. 

But :et's take it as a fixed cost. 

And if it is, and you charge those costs to 

to registered mail, then you're not asking 

mailer who didn't use registered mail to 

help pay for them. Correct? 

A Correct. 

Q And there is a fairness in that, is there 

not? 

It is a criterion that we've talked about a lot. 

I didn't come up with fairness out of the air. 

A Yes. There is a certain intuitive fairness 

in that. 

Q Let me ask you, based on our discussion of 

registered mail and specific fixed costs, is it your 

testimony that no fixed costs should ever be, under 

any circumstances, attributed, as I had thought you to 
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say before, or perhaps I misunderstood. A moment ago, 

you said you didn't have any problem with the 

Commission attributing specific fixed costs, but from 

your testimony, I have the concept that you thought 

that attributing fixed costs would be the wrong thing 

in any case. 

A Attributing fixed costs. I don't recall 

saying that. 

Q So that's not a position you take as the 

consequence of your theory in your testimony. 

A No. You have to distinguish between 

specific fixed ccsts and complement fixed costs. 

Specific fixed costs refer to a particular service and 

are caused by that service and would disappear if that 

service went away. 

Component fixed costs refer to a level of 

the postal value chain, sorting or delivery, in terms 

of my example, those F,, and F,. Those costs wouldn't 

go away unless Lhe entire component went away. They 

wouldn't go away if one particular service that used 

that component went away. That's why they are not 

assignable to a particular service in the way that 

service-specific fixed costs are. 

Q Let me come at it from a different angle. 

Let's talk about the private sector and a company like 
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Pitney Bowes that has a subsidiary that presorts mail. 

You would expect that that kind of service bureau 

would have costs that are fixed, i.e., not volume 

variable, would you not? 

A Yes. 

Q And you would expect that Pitney would price 

its services to recover both its volume variable costs 

and its fixed costs and even a profit. Correct? 

A Presumably. 

Q So what I want to ask you is, if Pitney 

Bowes' presort subsidiary had to recover their fixed 

costs from mailers who use their upstream services - -  

they are the oniy ones they have to charge, their 

customers - -  why shouldn't the Postal Service recover 

its upstream fixed costs from the mailers who use its 

upstream services? I'm talking about the F, costs, 

the fixed costs associated with the upstream network. 

A They are recovered from all mailers because 

they are not specific to any particular service. If 

one service that used the upstream facilities went 

away, the fixed costs wouldn't go away. I don't 

understand the fairness aspect of your question. 

If one wants to ask whether mailers who 

don't use the upstream function are being unfairly 

treated, then it's a very simple test for that. You 
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compare the rates they pay with the unit cost of the 

components that they do use. In this example, you 

would compare the rate of the delivery-only service 

with the average cost of delivery, and as long as the 

rate was less than that, you couldn't argue that that 

mail was being unfairly burdened. 

Put another way, the mail that did use the 

upstream functions, as long as it covers the 

incremental costs of its operation, you couldn't say 

it was unfairly burdening the other categories of 

mail. 

Only wLen you start talking about 

eliminating all of the upstream function can you start 

addressing the issue of whether or not those component 

fixed costs will go away. 

Q Well, I still think there is a fairness 

issue here I would like you to address one more time. 

What is the rationale, fairness rationale or other 

rationale, for assessing component-specific, fixed 

costs on those customers who don't use that portion of 

the network? They have no need for that portion of 

the network. They don't care if that portion of the 

network exists. What is the fairness argument that 

supports assessing those component-specific, fixed 

costs on mailers who use delivery only? 
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A Again, you're posing the fairness question 

backwards, as it were. The question is, are those 

mailers who use the delivery portion of the network 

only paying more than what it would cost them to 

provide delivery themselves, a standard, standalone 

cost test for cross-subsidization. 

There is nothing in the application of cost- 

based differences, or ECPR, as recommended and 

discussed in in:. testimony, that would result in 

mailers you're talking about being unfairly treated in 

the sense of providing a subsidy to mailers generally. 

The standard test for cross-subsidization would be 

passed. 

Q So can I summarize your answer as saying, as 

long as the mail that uses all of the upstream portion 

of the network - -  sortation and transportation - -  as 

long as they cover their volume-variable costs, that 

that's the end of the investigation, and you cannot 

think about fairness in terms of all of the burden of 

all fixed costs, including the fixed costs associated 

with the upstream network, being imposed on delivery 

and thinking that's unfair. Economics does not allow 

you to think that way, good economics. 

A The upstream fixed costs are not assignable 

or attributable to any particular upstream service 
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that uses them. You would have to look at the 

totality of those services. You would look at the 

incremental costs and be sure that they are covering - 

- each service or group of services covering their 

incremental costs and no services paying more than 

their standalone costs. That's as far as economists 

are typically willing to go in terms of the fairness 

issues you're raising. By that standard, ECPR doesn't 

create difficulties the way Ramsey pricing might, 

depending on the elasticities involved. 

CHAIRMAN OMAS: Excuse me, Mr. Olson. Could 

you tell me how much longer you have with this 

witness ? 

MR. OLSON:  Probably 15 or 2 0  minutes. I 

would be glad to break now. 

CHAIRMAN OMAS: Why don't we take a 10- 

minute break and come back at eleven-fifteen? 

(Whereupon, a short recess was taken.) 

CHAIRMAN OMAS: Mr. Olson, you may continue. 

MR. OLSON:  Thank you, sir. 

BY MR. OLSON:  

Q Dr. Panzar, as we've been discussing your 

thoughts as to dhy certain specific fixed costs, like 

registry, could be properly attributed but not costs 

of upstream activity, the key point you seemed to be 
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mentioning was that there are more than one upstream 

activity product as opposed to one in the case of, 

say, registered mail. Is that part of what you said? 

A Yes. That's part of my response, yes. 

Q Well, let's take a simplifying assumption 

and ask you to consider a different type of 

worksharing scenario for the Postal Service that we 

have never had. Let's assume that there was just one 

type of workshared discount offered. Let's assume, 

say, that all [nail is handled the same. It's all in 

one class, but you get a discount if you drop it off 

at a DSCF, and that's it. That's the total rate 

structure of the Postal Service in terms of 

upstream/downstream. 

In that scenario, where there is only one 

upstream product, would that allow you to, based on 

your economics, to attribute the F,, fixed costs of 

the upstream network, to that product? 

A I believe s o .  Let me make sure that I have 

your hypothetical correct. There is only one generic 

service, and it's either workshared or not. The 

workshared function doesn't use the upstream portion; 

it uses only delivery. Correct so far? 

Q Basically. 

A Then you would need to check to see that the 
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workshared prodxt did not pay more in rates than the 

standalone cost of delivering it alone. The 

nonworkshared product would have to cover its 

incremental costs, and in this hypothetical but not in 

the general, typical postal situation, but in this 

hypothetical, the incremental cost of that end-to-end, 

nonworkshared product would include those upstream 

fixed costs because if that end-to-end service went 

away, so would those upstream fixed costs. 

So, in that context, those fixed costs would 

be entirely caused by the nonworkshared product. As 

soon as you have two nonworkshared products or a 

hundred nonworkshared products, you wouldn't be able 

to make that simple, clean assessment. 

Q Before you go further, I'm going to lose my 

question, but with respect to the simplifying 

assumption of one nonworkshared, upstream product 

where all of the costs would go away if the product 

went away, you would be comfortable in attributing the 

fixed costs to the upstream product, having the burden 

of the F, fixed upstream costs imposed on the price 

charged for the upstream component. Correct? 

A Correct. 

Q I'm sorry. I didn't mean to - -  

A I think we covered that. The key 
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distinction is between components and services, and 

that distinction tends to get blurred when you only 

have one service using a component when, in general, 

there are typically many services using a component. 

Q Mercifully, I ' m  going to change topics to 

your response to our Interrogatory 13. I know this is 

a long interrogatory with a long response, and I don't 

want to, at the moment, focus you on anything but the 

preamble for the purpose of this question. You recall 

this interrogatory generally? 

A Yes. 

Q Okay. The preamble - -  before we get into 

Question A - -  described a situation where there is a 

for an end-to-end service, and that price is the stamp 

price that you identify as " P , "  but there is a price 

for delivery, which is P,. You used those terms in 

your testimony. Correct? 

A Yes, to describe worksharing discounts, yes. 

Q Okay. And, again, let's make a simplifying 

assumption. Let's assume there is only one workshare 

discount, and we'll call it "W," as I think you do in 

your testimony, for both mailers, especially for those 

who are evaluating using the Postal Service's end-to- 

end service versus looking at Pitney Bowes, let's say, 

and using their presort services and then have it 
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entered at the Postal Service 

Would it be reasonable for mailers to view 

the Postal Serflice discount, "W," as the implicit 

price which the Postal Service wants them to pay for 

providing the upstream functions? 

A It's the implicit price of that service 

component, yes. but you can't buy that component 

separately on a standalone basis from the Postal 

Service; that. is, you can't give them a letter, have 

them sort it, and then have them give you back the 

letter. 

Q Exactly. But a mailer that has to choose 

between using the Postal Service end-to-end, full 

bundle of services and choosing Pitney to do some of 

the presort and then having the Postal Service finish 

up and deliver it, they could view your "W" as an 

implicit price of the upstream activities. Correct? 

A Yes. They are more likely to view the 

discounted service and compare that to the full stamp 

price, but it comes t r ?  the same thing, especially in 

this example. 

Q I just went through four pages that your 

answer has helped me get through from yesterday. 

Thank you. 

If I could ask you to look at our 
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Interrogatory Il(b), and this is purely a question 

about terminolapl. In l l ( b ) ,  you say that "marginal 

costs are evaluated at a particular level of output." 

Correct ? 

A Correct . 

Q I want to contrast that, if you can hold 

your hand in there and go to lS(c) where you use a 

different term, in three lines up from the bottom of 

your response to 15(c), you talk about "marginal 

avoided componenc costs." Do you see that phrase? 

A Yes. 

Q My question is, are marginal costs, which 

are evaluated ai a particular level of output, the 

same thing or identical to what you call "marginal 

a;.oided component costs"? 

A "Marginal costs" usually refers to the 

entire cost of a unit of a particular service, but, in 

discussing discounts, it's sometimes used to refer to 

the marginal cost of one component only. That's 

certainly the way I'm using marginal avoided component 

costs here in my response to 15(c). That sort of 

clearly specifies which kind of marginal cost I'm 

talking about. 

Looking back at l l ( b ) ,  it looks like I'm 

talking about marginal costs in respect to a 
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particular component as well, so I think they are the 

same concept. 

Q So marginal avoided component costs in 15(c) 

A Because 11 talks about avoided costs as 

well. 

Q Let me just put it - -  see if 1 can state it 

and see if this is what you‘re saying. In 15(c), 

where you say “marginal avoided component costs,” is 

that just another way of saying the change in costs 

when mail volume changes by a single piece of volume? 

A The change in the cost of that component, 

yes. 

Q Okay. That‘s all I wanted to figure out. 

If you could turn to 6(f), the question 

generally asked about applying Ramsey to letters and 

flats in the same subclass, assuming that the 

elasticities are equal and that there is a cross- 

elasticity, and it asked about the effect of that 

cross-elasticity, as to what effect it should have on 

the resulting pass-through. You don‘t use the word 

“pass-through.” 

with. 

That‘s about what the question dealt 

A Right. 

Q And then, in F, you say, “I did not deal 

Heritage Reporting Corporation 
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with the details of Ramsey price and formula in my 

testimony. This question calls for a detailed 

analysis of a particular cost, i.e., equal own price 

elasticities with a non-zero, cross-elasticity that I 

have not analyzed, nor do I know the paper in the 

literature where the case is explicitly discussed." 

Correct ? 

A Yes. That was my response. 

Q Just a question or two about the literature, 

which I'm certainly not expert in, but are you 

familiar with the concept of super elasticity? 

A Yes. 

Q And is super elasticity a way to express 

both OWE price elasticity and cross-price elasticity 

in a sort of simplifying manner for equations and 

such, or can ycu give me a better definition? 

A That's the concept used to address this 

case; that is, you would have to look at the formula 

involving the super elasticities, and a particular 

situation posited here is looking at a super 

elasticity where the own price elasticities were 

equal, a special case of the super-elasticity 

analysis. 

Q Are you saying that none of the papers that 

you're familiar with on super elasticity are 
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applicabl to the question at hand in six? 

A Oh, no. I ' m  not saying that at all. You 

could find macy papers which have a general formula 

stated in terms of super elasticity, and then you 

could plug in the particulars of your example. So I 

just meant that I hadn't done that, nor did I know of 

a paper that looked specifically at the case where the 

own price elasticities were equal. I guess what I'm 

saying is I couldn't easily look up that answer for 

you. 

Q Are you familiar with a paper, and I'm sure 

I've seen the name, but I'm sure I'll mispronounce it, 

,illemeur. Crener, Roy, and Toledano, that was 

presented at one of Michael Cru's meetings in April 

' 0 2 ?  

A That group has presented many papers. What 

year was this? 

Q April ' 0 2 .  "Pricing and Worksharing 

Discounts in the Postal Service." 

A I've looked at the paper. I've seen it. 

Q The p a p e r  discusses situations where the 

rate differences under Ramsey would be larger than 

under ECPR wit.; c~-oss-elasticities. Does that help 

your recollection at all? 

A Man;. of their papers discuss that case. 
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They essentially analyze Ramsey prices and compare the 

resulting Ramsey prices to ECR-based standards as a 

benchmark. 

Q That, in and of itself, isn't helpful in 

responding to this - -  that's all I'm asking - -  that 

paper. 

A That's probably one of the papers you could 

go to find the formula that would be useful in 

answering this question, but I doubt that it has the 

precise answei- to this hypothetical. 

Q They cite two other papers, one by Robert 

Mitchell in ' 9 8  in Montreaux and one by Roger Sherman 

called "Optimal Worksharing Discounts" in the Journal 

of Requlatorv Economics. Any idea as to whether those 

are helpful? 

A Sherman's paper wouldn't be helpful on 

comparing this - -  which was the other one? 

Q Rohert Mitchell's paper. It was given in 

Montreaux in '98, "Pasta1 Worksharing Welfare 

Technical Efficient:; in Parado Optimality," which I 

don't know if y o u ' r e  familiar with that one also. 

A Yes. Again, you'll probably find formulas 

in there which could be specialized to the context of 

this hypothetical, but I doubt that it deals with it 

as specified here. 
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Q Okay. I just have a couple of quick, 

finishing questions from what you provided us 

yesterday, an2 I want to end with that. If you have 

that set of interrogatories, let me ask you to turn to 

Interrogatory 16 (e) . 

We asked you to look at Section 6(b) ( 2 )  of 

your testimony, which begins on page 3 5  and runs 

through 39, arid in that section, you deal with avoided 

costs. Correct? 

A Yes. 

Q Just again, trying to get at the terminology 

here, we asked ycu if your use of the term "cost 

avoided" in thzse approximately four pages of 

testimony meant marginal cost, average marginal cost, 

?-.olurne variable cost. or average volume variable cost, 

and you said, "Depending on the details of the 

situation, they would correspond to any of these terms 

mentioned. '' 

A Because whe:. reading over that section, the 

only term I used is, : believe, is the avoided - -  

Q You used "avoided costs" and "cost 

avoidance" seven times. 

A But I didn't specify structure of the 

component cost function. In that case, the unit 

avoided cost, which is the relevant concept, could 
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correspond to - -  let's see - -  
Q - -  marginal cost, average marginal cost, 

volume variable cost, average volume variable; those 

are all differe:it economic concepts. 

A But in most of the examples, as the 

circumstances under discussion in Section 6(b) ( 2 ) ,  you 

have a constant cost of sorting for the Postal 

Service, and if it's constant, these terms are 

essentially going to coincide: marginal cost, average 

marginal cosi. If this said "unit volume variable 

cost" and "average volume variable cost" - -  

Q So you're saying not that you have to look 

at the context and then decide which of the four 

meanings it is, but in these pages of your testimony, 

they are all equal, pretty much. 

A I dor.'t know that I would go so far as to 

say they are all equal, but it should be clear from 

the context what type of avoided costs I'm talking 

about. 

Q So we ha-ie to look at each of the seven or 

so references and then, by context, decide which of 

the four definitions. 

A Well, my recollection is I talk about this 

in fairly general terms, not in the context of the 

specific algebraic or diagrammatic analysis. 
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Q Okay. Let me ask you to look at your 

response to 2 8  (c) . 

BY MR. OLSON: 

Q No. 28  is the one that had that chart that 

we had to replace earlier and I'm not sure if you had 

the complete chart when you responded here because in 

the middle of (c) you say the example does not make it 

clear how much that mail would have cost the Postal 

Service to process. See that sentence? 

A Yes. 

Q I mean, if you look at the chart do you see 

that there's a cost curve for the Postal Service? 

A Yes. 

Q And that in Scenario K it crosses at three 

cents and at N it's two cents? 

A Yes. 

Q You say then, thus one cannot be sure that 

the attributable costs of the remaining mail would be 

four cents as assumed. I mean, we're asking you to 

assume that in a hy-pothetical. Are you saying it's 

impossible that it be four cents, it's an illogical 

assumption, or you just didn't want to assume it? 

A Let's see. What the hypothetical says is 

suppose instead that the Postal Service cost curve and 

the competitor cost curve are shown in the following 
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graph, right? 

Q Yes. 

A Okay. Now, the problem with these graphs is 

that they're trying to collapse basically a two- 

dimensional issue down to one dimension. You 

specified that each curve orders the mail of the 

Postal Service or the competitor according to its own 

cost of processing from highest to lowest, but that 

doesn't tell us what the costs of the other entity 

would be unless the costs are perfectly correlated. 

That is unless you assume that if you have 

two pieces of mail and one piece always costs the 

Postal Service more to process than the other that 

rhat same ordering will apply for the competitor and 

:here's really no reason to assume that. 

The paper that is cited from the recent 

postal conference that was cited earlier discusses 

that in excruciating detail which I hope to avoid 

here, but basically your  curve indicates that at a 

discount of three cents all that mail that costs the 

competitor less than three cents to sort would 

disappear 

That's true, but in the absence of perfect 

correlation we don't know how much that mail would 

have cost the Postal Service had it retained those 

Heritage Reporting Corporation 
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volumes. That's why I couldn't complete the answer to 

this question. 

Q So are you talking about the difficulty of 

trying to measure costs that are not incurred by the 

Postal Service to handle mail that it doesn't process 

and transport? 

A Well, in terms of this diagram, yes. 

Q Thac is actually a broader question, isn't 

it - -  

A Yes. It certainly is. 

Q - -  when you talk about avoided costs? You 

certainly can't go to look at the balance sheet of the 

Postal Service, or their financial systems, or 

whatevei- to measure costs that they don't incur. Do 

':3u have a method to do that, measure costs avoided? 

A Well, as I think I stated in one of the 

interrogatories when the cost to the Postal Service of 

sorting mail is heterogeneous then you're faced with a 

trade off invol-.,nq . how many rate categories you have 

on the one hand to make - -  if you have enough rate 

categories ther. you can make the cost to the Postal 

Service more or less homogeneous, but you make the 

rate schedule more and more complex. 

If ;JOU have to group mail with different 

cost characteristics to the Postal Service and the 
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costs of the Postal Service are not perfectly 

correlated with those other mailers any time you set a 

discount that's going to determine what the mailers 

do, but some of that mail may end up costing the 

mailers more than it would have costed the Postal 

Service. 

As I said I went into excruciating detail in 

a recent conference paper, but you're always going to 

be faced with that trade off between how finely you 

divide up the rate schedule and the risk that if you 

have only one instrument, one discount, you're going 

to make both ?-De 1 and Type 2 errors, some mail 

inefficiently sorted by the Postal Service and some 

mail inefficiently sorted by the discounters. 

What I tried to do in that paper was set up 

a framework that specified well, you know something 

about how mailer costs and Postal Service costs are 

correlated and you sort of try and come to the best 

version of that tx-ade off as you can, but there's no 

simple or simplistic solution as the basic ECPR 

analysis with homogeneous costs at the Postal Service 

would allow you to do. 

It's a complicated question and many of the 

details of your interrogatories are addressing it. 

Q I was a co-conspirator with you in getting 
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us away from the interrogatory I started with. I just 

want to go back to it quickly to say can you assume 

that this is the cost curve that the Postal Service 

faces at these various volume points and help us with 

a response to the question or is it just impossible to 

do? 

A It's not a question of being unwilling to 

assume that this is the ordered cost curve that the 

Postal Service would face. It's that even assuming 

that is not enough to answer the question. That's my 

difficulty. 

0 Thank you. I need not understand all 

answers. Let nie just finish with No. 26. This is my 

last question, your response to that. In No. 26(b) we 

said is it fair to interpret your response to this 

pr io r  interrogatory to mean that you recommend the 

Commission not apply the noncost factors in Section 

3622(b) below the subclass level? 

You sa:: nc,. So I guess that we have a lot 

of negatives there. 

A Yeah. There's too many negatives I guess. 

Q Three negatives. You go on to explain, you 

quote your prisr answer. You say, "my testimony does 

not suggest that noncost factors should be applied 

below the class and subclass level". Let me ask it 
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another way. Let me just say are you recommending 

that the Commission not apply noncost factors of the 

act below the subclass level? 

A Isn't this the same? I'm just trying to 

make sure I understand whether you've changed the 

question or not so I know whether it's - -  like I said 

it's hard to keep track of it. 

Q Well, with three negatives I sort of flipped 

it around to what it is you are actually recommending 

as opposed to what you may not - -  

A 

that point. 

Basically I'm not recommending anything on 

0 Can 1 restate it just to make sure that the 

record is clear as to what my question is and then I 

think you'll have exactly the same answer, but lest we 

be confused when we try to reconstruct this. The 

question is are you recommending to the Commission 

that it not apply the noncost factors of the act below 

the class and subclass level? 

A I don't believe I'm making a recommendation 

either way on that. As I explain with my discussion 

of the ECPR rules they implicitly say that well, we're 

going to only deal with cost factors within a 

subclass, so in the sense that I'm recommending ECPR 

that's kind of an answer to your question saying well, 
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you don't need to look at noncost factors. 

This gets back to the statement I made about 

the presumption that elasticities are presumed equal 

across members of a subclass, but of course 

elasticities are not the only noncost factors that the 

Commission might want to consider, so I wouldn't 

presume to try to dictate to the Commission where to 

apply and where not to apply noncost factors in large 

part because as, an economist I don't really have any 

particular exp*rtise on noncost factors with the 

exception of the elasticities used in the Ramsey 

pricing ana1ysi.s. 

Q So you're not making a recommendation either 

way to the Commission as an economist as to whether 

rhey should apply the noncost factors of the act below 

the class and subclass level? 

A Now I've turned myself around in this. No. 

I'm just recommending that differences in rates within 

a subclass be based CT. cost differences. 

Q Only? 

A That's my basic recommendation. Yeah. 

There are other, I mean, as distinct from using demand 

elasticities as has come up in previous questions, but 

it came up in other interrogatories where it talks 

about well, if you introduce a discount or a change in 
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on rates 

Well, one of the noncost factors is as I 

understand it is to avoid rate shock, so I wouldn't 

say don't take that into consideration when following 

my recommendation to base intra subclass rate 

differences on cost differences if it involves a large 

change. 

Q Basically rate differences within a subclass 

are to be based on costs according to your approach? 

A Yes. 

MR. OLSON: Okay. Thank you so much. I 

really appreciate your responsiveness today. 

Thank you, Mr. Chairman. 

CHAIRMAN OMAS: Thank you, Mr. Olson. 

IS there any follow-up cross-examination? 

Mr. Koettinq? 

MR. KOETTING: Thank you, Mr. Chairman. 

FUPTHEP CROSS-EXAMINATION 

BY MR. t:OETTING: 

Q Professor Panzar, you had some discussion 

earlier with Mr. Olson in which as I recall you kept 

trying to use the terms marginal cost, and incremental 

cost and stand alone cost and he kept returning to the 

concept of attributable cost. To your knowledge does 
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the term attributable or attribute have a specific 

meaning in economics? 

A No. As far as I know it's a postal term of 

art. 

Q Do you recall testimony that you provided on 

behalf of the Postal Service in R1997 in which you 

tried to lay out your recommendations in terms of the 

best way for postal rate makers to apply the economic 

concepts of marginal cost and incremental cost to 

avoid some of what I believe you termed the ambiguity 

in the statutcry term attributable cost? 

A Y e s .  

Q Would it be safe to say just generally 

speakin? that it wasn't your intent in any of the 

things you said in response to Mr. Olson's question to 

1-etreat from the framework that you laid out in your 

P.1997 testimony in that regard? 

A No, it wasn't. That's why I made the 

parenthetical rema~-k about the inclusion of specific 

fixed costs in the calculation of marginal costs. 

MR. KOETTING: That's all I have, Mr. 

Chairman 

Than). you, Professor Panzar . 

Cffi:RE.wN OMAS: Is there anyone else? 

(No response. ) 
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CHAIRMAN OMAS: Dr. Panzar, I ' d  like to ask 

you one question before I ask the rest of the 

Commissioners if they have any. Starting at page 3 5  

of your testimony you address benchmark selection for 

the estimation of cost avoided of first-class 

workshared mail. If I understand you correctly you 

say that the Commission should be looking at the type 

of mail just at the margin of being profitable for 

mailers to workshare. 

I ha.re a couple of questions about what 

exactly you mean by that. First the last time the 

Commission addressed this issue was in R2000-1. It 

defined the benchmark as the mail most likely to 

convert to worksharing and also the category to which 

currently workshared mail would be most likely to 

revert if the discounts no longer outweighed cost of 

worksharing. 

Could you explain the difference between the 

mail described b;. t h i s  definition and what you 

consider to be the mere appropriate benchmark? 

THE WITNESS: I think I understand the first 

definition you gave. Chairman Omas, but could you 

repeat the second one? I understand the usage of the 

mail most likely to be workshared, but then you gave 

an alternative characterization. 
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CHAIRMAN OMAS: It defines a benchmark as 

the mail most likely to convert to worksharing and 

also the category to which currently workshared mail 

would be the most likely to revert if discounts no 

longer outweigh the cost of worksharing. 

THE WITNESS: Okay. The concept of the 

average Postal Service avoided cost of mail most 

likely - -  I'm sorry. At the margin of being 

workshared was 3 theoretical concept that came out of 

my theoretical analysis in the paper that's been cited 

in my testimony. I have thought long and hard about 

how to make thaL a practical quantifiable measure 

without coming to what I think is any particularly 

implementable or helpful solution, but this is still 

a n  area of research i n  progress 

I think the distinction between what's at 

the margin of being workshared and what's most likely 

to be workshared is quite clear. Mail that's most 

likely to be workshared is arguably mail that's very 

clean sort of intrinsically. It comes out of the 

mailer's computer s:;stem and is easily printed out 

with a barcode or whatever. 

That mail would be profitably workshared by 

the mailer evep. if the discount were much, much less 

than it currently is, maybe a cost of a computerized 
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large bank. The addresses come out in a way to 

satisfy the worksharing conditions at an incremental 

cost to the mailer of a half a cent, then a discount 

of four cents. They're certainly going to go. 

If you interpret most likely to be 

workshared as the mail that's sort of most suited 

intrinsically which is the way I interpreted that 

statement from past cases then that mail is certainly 

not going to be at the margin as described in my 

theoretical analysis. If the discount is four cents 

well, then the mail at the margin is that which costs 

mailers 3.7, 3.8 cents to make suitable for 

worksharing, so conceptually the distinction is I 

think fairly clear 

The problem is saying well, we look at the 

mail that the Postal Service actually has and we want 

to try and find which of it was at the margin of being 

workshared and nat workshared and calculate the Postal 

Service cost of that. Well, it's not so clear how to 

do that at this point. I think the previous benchmark 

was bulk metered mail. It's clear that's not at the 

margin. That's way inside the margin. 

That makes it too clean a benchmark to use, 

but of course that was the last case, this case which 

is what I was referring to when I wrote that paper. 
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We know what a benchmark is not I think on the basis 

of this analysis, but the Postal Service isn't doing 

that anymore. 

which as I mentioned briefly in my testimony I view as 

a way of reducing the heterogeneity problem that I 

talked about earlier. 

They're doing a delinking approach 

They're looking for a cost measure within 

the category of workshared mail which is much less 

heterogeneous in the costs they face than the whole 

universe of first-class single piece mail. Now, I 

think that's about all I can say on that. I wish I 

could give you a nore practical answer. 

CHAIFOIAN oms: Well, thank you. My second 

question. Given the data that could reasonably be 

made available to the Commission could you explain how 

to identify an3 measure the cost of the efficient 

benchmark mail as you've defined it? 

THE WITNESS: Well, I think the short answer 

is no for the reasons :hat I was just talking about. 

We need a way of usefully identifying which type of 

mail is at the margin of worksharing and that's easy 

to do in a mathematical model, but not in practice 

although I hope that as I talk to people more involved 

with the details of the costing system that a 

shorthand approximate way for doing that will emerge, 
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but I can't give you one at the moment. 

CHAIRMAN OMAS: Well, thank you, Dr. Panzar. 

Commissioner Goldway? 

COMMISSIONER GOLDWAY: My question has 

something to do with the Chairman's former question, 

but it's more general in nature and that is I'm sure 

you're aware of the questionable nature or the 

approximate nature of many of the costs, most of the 

costs, that we review in rate case proceedings, so 

while efficient component pricing rates would 

theoretically perhaps be the most sensible and 

efficient way to establish a rate system when you're 

not  sure of what your costs are should you insist upon 

a 100 percent pass-through of what may or may not be 

cne real worksharing savings? 

THE WITNESS: This i s  a question that 

usually comes up in the context of Ramsey pricing, but 

if you don't know your costs how can you hope to do 

Ramsey pricing? Az you indicated it comes up any time 

where your costs a r e  Gncertain. The simple 

economist's or statistician's answer is well, you have 

the point estimate of the cost or guess at the unit 

cost that's provided by the Postal Service and you 

base your decisions on that. 

A couple of aspects to distinguish the use 
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of these guesses in setting efficient component 

pricing versus say Ramsey pricing, one of the nice 

things about the ECPR methodology is that you're 

guessing the amount of the differences of a workshared 

versus nonworkshared product, so you could be quite a 

ways off at the overall level in terms of the amount 

of error that your estimates were subject to, but the 

amount of error at the difference, the differences 

between these two levels, will typically be 

considerably srialler, so in a world of uncertain cost 

estimates that's a relative advantage of ECPR as 

opposed to some other methods. 

In terms of literally the recommendation to 

set the pass-throughs at 100 percent I think that's an 

area where the noncost aspects of the act may come 

into play, but the basic economic recommendation is 

well, you tak.e the best estimate you have and put the 

pass-throughs at 100 percent of that difference. 

If you tn in i :  there's a substantial risk of 

revenue erosior.. c:~ r-ate shock, or whatever that would 

result from that well, that's one of the noncost 

factors that you're always considering as I understand 

it. 

COMYISSIONER GOLDWAY: So then my other 

question along those lines is it's hard to estimate 
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what the 100 percent is, but in the context of the 

legislation that's been considered over the last dozen 

years we've been talking about rate bans and we've had 

disputes among ourselves about whether one should do 

cost of living increases or cost of living minus one, 

the notion being that you want to make it a little 

more difficult for the Service to raise prices. 

It has to have an incentive to do it for 

less. Could the same notion apply that you would want 

to give less than the 100 percent discount because you 

want to give an incentive to the system to be even 

more efficient? 

THE WITNESS: That's a somewhat complicated 

and separate question. As discussed in my testimony 

and most of the discussion about worksharing discounts 

when I talk about productive deficiency I'm talking 

about combining the resources of the Postal Service 

and outside mailers as they are now in the most 

efficient way. It doesn't do anything directly to 

improve the efficiency of the Postal Service. 

Those price caps or ban proposals you've 

talked about are arguably a way to give the Postal 

Service an incentive to be more efficient because then 

it's not held to a simple break even condition. If it 

can save more money it - -  well, it's not clear what it 
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gets to do with it since it's not a private 

corporation, but we won't get into that degradation. 

It gives an incentive to cut costs because the rates 

aren't automatically reduced to reflect cost savings 

Within that context you can introduce 

worksharing discounts into the structure of the price 

cap regime as you've talked about and then the issue 

of whether or not they're going to be at 100 percent 

or not will be - -  if we get a price cap regime 

implemented when you have the first case that has to 

settle the parameters of it one of the big bones of 

contention will b? whether or not the price cap regime 

includes worksiiaring discounts and if it does, which 

it probably should, whether those initial rates are at 

a 1 0 0  percent pass-through. 

Once the price cap regirn? gets rolling those 

pass-through 1-ates will be subject to revision by the 

Postal Service subject to the overall minus one, or 

minus two, or whate-.'e:- it is. So it's a long answer 

to what you though: ='as a simple question, but yes, 

you would include - -  

COMMISSIONER GOLDWAY: Yes, but I guess what 

I'm focusing mare on is in the past we haven't given 

100 percent discounts for a variety of reasons 

including some of the noncost issues that are in the 
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act, but it seemed to me that by giving the private 

mailers a smalier area in which they had to save and 

they could in fact do that that the whole system was 

made more efficient? 

The discount mechanism was in some way 

forcing the private sector to be more efficient and 

therefore the whole system was more efficient. 

THE WITNESS: Well, suppose you make the 

pass-through at 90 percent so that the function costs, 

the Postal Service 10 cents, then any mailer who could 

do it for nine cents would - -  

COMMISSIONER GOLDWAY: So the mailer has to 

figure out a way to do it for less and less? 

THE WITNESS: Right, but what about the - -  

COMMISSIONER GOLDWAY: Then the whole system 

gets to be more efficient. 

THE WITNESS: That's certainly possible, but 

what about the mailer who can do it for nine and a 

half cents under your proposal? He wouldn't do it, 

yet the entire system would be more efficient if he 

did because it costs the Postal Service 10 cents. In 

a more complicated scenario where one can't assume 

that private firms are efficient it would be an 

interesting exercise to figure out whether you should 

shade the discounts in that way. 
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In my analysis and virtually all the sort of 

ECPR analyses that I've seen we may or may not assume 

that the Postal Service or the incumbent monopolist is 

efficient, but we always assume that these profit 

maximizing private firms are efficient, so that issue 

doesn't come up, but it might. 

COMMISSIONER GOLDWAY: Okay. Well, thank 

you. 

C H A I P !  OMAS: Are there any other 

questions from the bench? 

Mr. McKeever? 

MR. MCKEEVER: Thank you, Mr. Chairman. 

John McKeever for United Parcel Service. 

FURTHER CROSS-EXAMINATION 

BY K R .  MCKEEVER: 

0 Dr. Panzar, I just wanted to follow-up 

briefly on your exchange with Commissioner Goldway. 

If a discount is understated, it's too low, there is a 

loss of productive efficiency. Is that right? That's 

what you just said. 

A In general there might be because there are 

mailers who could do it at a cost less than the Postal 

Service who wouldn't find it profitable under a 

discount, but there's always a possibility of that 

when you have a wedge. 
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Q Okay. Now, if the discount is too high 

there is also a loss of productive efficiency? 

A In that case you may induce mailers who 

can't do it as efficiently as the Postal Service to do 

it anyway and that would also reduce productive 

efficiency. 

Q That would be a productive inefficiency? 

A Yes. 

Q Okay. If the discount is too high the 

Postal Service doesn't get as much revenue as it 

should get. Is that correct? 

A Yes. Well, I'm not sure what you mean by 

should get, but 

Q Well, if the discount were set 100 percent 

accurately. Yes. 

A Correct. 

Q Okay. Of course that means that someone 

else would have to pa: that revenue, is that correct, 

to put the Postal Ser.;ice back whole? 

A Back on t h e  break even. Y e s .  

MR. MCKEE'JEP.: That's all I have. Thank 

you. 

CHAIRMAN OMAS: Thank you, Mr. McKeever. 

Is there anyone else? 

MR. KOETTING: Mr. Chairman? 
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CHAIRMAN OMAS: Mr. Koetting? 

MR. KOETTING: Yes. Thank you. 

FURTHER CROSS-EXAMINATION 

BY MR. KOETTING: 

Q Professor Panzar, I‘d like to f 1 -UP 

your response to Chairman Omas on the appropriate 

benchmark and I think you identified some of the 

n 

things that you struggle with in trying to identify 

what the benchmark should be, but you seemed to think 

there was a little more hope in terms of what the 

benchmark shoiJldn’t be. 

If I understood you correctly and correct me 

i f  I ’ m  wrong, but I thought you were suggesting that 

what the benchmark shouldn’t be is the piece that’s 

~ a s t  ?ikeiy to workshare. Is that something along the 

lines of where - -  

A Correct. 

Q I guess m;: question is we are approximately 

30 years into the pz-esort program in terms of 

discounts, correct? 

A Yes. 

Q What I’m specifically going to try to focus 

on is when you say the mail is most likely to 

workshare thzt mail is well and truly workshared, 

correct? I mean, if you’re talking about for example 
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a credit card company, a utility that's generating 

hundreds of thousands, if not millions, if not tens of 

millions of bills off a computer, the cost on a unit 

basis for worksharing for those mailers is pretty 

trivial. 

I think that was the point that you were 

suggesting. 

A Yes. 

Q In your mind that is the mail within the 

entire set of first-class mail that's the most likely 

to workshare, correct? 

A That's my interpretation. The term most 

likely to be wDrkshared is not easy to translate into 

a formal model. 

Q Would you agree though that the intent of 

the BMM benchmark was not to focus on the entire set 

of first-class mail, but to focus on the set of mail 

that's left a s  nonworkshared mail and within that 

subset look at the ma:l that's currently paying single 

piece rates that's most likely to workshare, and isn't 

that much more closely going to approximate that 

marginal piece than the piece that we're talking about 

that's just absolutely a no brainer is going to be 

workshared? 

A Well, that would more closely approximate 
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the marginal piece, but intuitively I think it’s still 

a ways from the margin, but that’s the problem I 

confessed not having been able to solve to Chairman 

Omas is what‘s a practical way to approximate that 

marginal mail type so you can do the appropriate 

benchmark calculation. 

Q Just to conclude that in terms of order 

magnitude if there’s going to be some misstatement or 

misfocus using the BMM benchmark that misfocus is not 

going to be nearly as great as it would be if we were 

to think of that most likely to workshare credit card 

piece. It’s prstty much a different order of 

magnitude. 

A Well, I don’t know that it‘s an order of 

magnitude, but I would think there should be a 

substantial difference. 

MR. EOETTING: That‘s all. Thank you, Mr. 

Chairman. 

CHAIR!-AN OMAS: Thank you, Mr. Koetting. 

Is there axyone else? 

(No response. 1 

CHAIRMAN OMAS: There doesn’t seem to be 

any. 

Mr. Scanlon, would you like some time with 

your witness? 
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MR. SCANLON: Five minutes, please, Mr. 

Chairman? 

CHAIRMAN OMAS: Absolutely. 

(Whereupon, a short recess was taken.) 

CHAIRMAN OMAS: Mr. Scanlon? 

MR. SCANLON: Mr. Chairman, we do have a 

brief redirect. 

REDIRECT EXAMINATION 

BY MH. SCANLON: 

Q Dr. Panzar, wanted to revisit the colloquy 

that you've had now with respect to the appropriate 

benchmark and BMM mail. What you've discussed is the 

problem you're trying to solve is a heterogeneous 

mailstream in terms of identifying those costs. Does 

delinking help solve that problem? 

A Yes. As I believe I mentioned, as I 

understand it the delinking proposal separates the 

workshared category from the first-class single piece 

category. This greatly reduces the extent of 

heterogeneity in that workshared category and that 

should make much easier the solution of what we'll 

call the benchmarking problems - -  there really is no 

single benchmark anymore under delinking, but should 

make that problem of calculating the appropriate cost 

avoidances easier. 
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Although I'm not aware that anybody has 

solved it yet I think a practical solution is more 

likely. 

Q Okay, and now I want to take you back to a 

discussion you had with Mr. Olson earlier and 

specifically page 20  of your testimony, lines 2 

through 5. 

with two vertical components, a downstream delivery 

component and an upstream composite component for 

various collection, transportation and sortation 

functions? 

You set up a hypothetical postal network 

A Yes 

Q Are you aware that in first-class mail there 

are no distance related or destination entry 

discounts? 

A That's my understanding. Yes. 

Q Okay. Consistent with your recommendation 

for efficient component pricing do you think there 

should be discounts that would reflect costs avoided 

related to distance? 

A Yes. There would be a form of worksharing 

through which the CPR principles would apply. 

Q Okay. The final question, and this goes 

back to the discussion you had with Commissioner 

Goldway with respect to the importance of estimating 
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costs not only for Ramsey pricing, but also for 

efficient component pricing, assuming that the costs 

are less than certain would you advocate trying to 

remodel or re-estimate those costs to make them more 

accurate if possible as part of the process of setting 

ECPR discounts? 

A Yes. You'd want to use the best available 

cost methodology possible. 

remove uncertainty, but it gives you the best point 

estimate posslble. 

That wouldn't necessarily 

MR. SCXNLON: Nothing further, Mr. Chairman. 

CHAIRMAN OMAS: Is there anyone who wishes 

to re-cross Dr. Panzar? 

(No response.) 

CHAIRMAN OMAS: There being no one, Dr. 

Panzar, that completes your testimony here today and 

your appearance. We appreciate your testimony and 

your contribution to our record, and you're now 

excused. Thank you. 

(Witness excused. 1 

CHAIPNAK OMAS: That concludes our hearings 

today and we will reconvene tomorrow morning at 9:30 

when we will receive testimony from Witnesses McAlpin, 

Haldi, Glick, Luciani and Angelides. I hope I 

pronounced that correctly. Thank you very much and 
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have a nice afternoon. 

(Whereupon, at 12:41 p.m., the hearing in 

the above-entitled matter was adjourned, to reconvene 

on Thursday, November 2, 2006, at 9:30 a.m.) 
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